.Im perial
POOLS nc.

REDEFINING ONE SOURCE

POLYMER OPEN TOP STAIRS, BENCHES & COVES

FEATURE SPEC BOOK

42" & 48" Polymer Panel

Stairs — Corner, Radius, Roman and Straight
Stairs with Variable Sundecks

Side by Sides - Stair/SundecR
Cuddle Coves and Benches
Assembly Drawings and Installation Guidelines

PPool components manufactured by Imperial Pools, Inc.

S pec ifications are intended for private residential use only.




WARNINGS TO INSTALLER

WARNINGS TO POOL OWNER

A CAUTION

CARE SHOULD BE TAKEN WHEN INSTALLING
A POOL. SERIOUS INJURY CAN OCCUR IF PROPER
PRECAUTIONS ARE NOT TAKEN DURING INSTALLATION.

A safety package should be provided with the pool. Its contents should be reviewed with the
pool owner. The package should include a pool safety sign, “NO DIVING” decals and placement
instructions, the Pool & Hot Tub Association's Minimum Standards for Residential Swimming
Pools, and safety booklets such as: the Sensible Way to Enjoy Your Inground Swimming Pool,
Greg Lougainis on Diving, and Children Aren’t Waterproof. You may obtain a safety package

by contacting:

Customer Service
33 Wade Road
Latham, NY 12110
(518) 786-1200

The installer should place all warnings according to the manufacturer’s instructions prior to use
of this pool.

NOTICE: It is not recommended to use diving and/or sliding equipment on residential pools.
Such equipment, its installation, and use is the responsibility of the pool owner.

These pools are designed for private, residential use only. If this is not a private, residential pool,
you should contact your local building department and the Pool & Hot Tub Association for
standards relevant to its use, since they may be quite different.

The Pool & Hot Tub Association
1650 King St., Ste. 602
Alexandria, VA 22314

For Pool Regulations and Standards refer to your Installation Manual-APSP Standards for
Residential Swimming Pools.

Before using your pool, the dealer and/or installer should provide you with a safety package
which should include a pool safety sign, “NO DIVING” decals and placement instructions, the
Pool & Hot Tub Association's Minimum Standards for Residential Swimming Pools, and the
following pool safety booklets:

1. The Sensible Way to Enjoy Your Inground Swimming Pool.

2. Greg Lougainis on Diving - Knowing How to Dive Can Be Worth
More Than Gold. It Can Be Worth Your Life.

3. Children Aren’t Waterproof.

Customer Service
33 Wade Road
Latham, NY 12110
(518) 786-1200

A safety package can be obtained by contacting:

A WARNING

DIVING OR JUMPING
INTO POOL MAY RESULT
IN SERIOUS INJURY

> ®

Swimming & Diving Safety

Imperial does not recommend the use of diving and/or sliding equipment on residential pools.
If you choose to dive, a thorough familiarity with the pool bottom, awareness of depths, and
understanding of the principles of head-first entry into the water are critical factors in safe diving.




Table of Contents

42" STAIRS 42" MODULAR SYSTEM 42" MODULAR SYSTEM Cont.

(6"R/90°) STRAIGHT STAIRS - 42" WALLS |(6"R/90°) Stair w/ Variable Sundeck (VS) - 42" WALLS 2'R - Modular w/ Variable Sundecks - 42" WALLS

6' - 90° Stair - NSS033 1 42VS0890 — 8’ Full End w/ VS 17 | 42vS082R - 8' w/ Variable Sundeck 56
8' - 90° Stair - NSS034 1 42VS1090 — 10’ Full End w/ VS 18 | 42VS102R - 10' w/ Variable Sundeck 57
10 - 90° Stair - NSS030 2 42VS1290 — 12’ Full End w/ VS 19 | 42vS122R - 12' w/ Variable Sundeck 58
12" - 90° Stair - NSS027 2 42VS1490 — 14’ Full End w/ VS 20 | 42VS142R - 14' w/ Variable Sundeck 59
14 - 90° Stair - NSS028 3 42VS1690 — 16’ Full End w/ VS 21 | 42VS162R - 16' w/ Variable Sundeck 60
16' - 90° Stair - NSS012 3 42VS1890 — 18’ Full End w/ VS 22 | 42VS182R - 18' w/ Variable Sundeck 61
18' - 90° Stair - NSS013 4 42VS2090 — 20’ Full End w/ VS 23 | 42VS202R - 20' w/ Variable Sundeck 62
20' - 90° Stair - NSS014 4 2'R - 16" Side by Side Stair/Sundeck - 42" WALLS
(6"R /90°) 16’ Side by Side Stair/Sundeck - 42" WALLS 42SS162R-0808-08RB - 16' w/ 8' Stair, 8'x 8 SDRT 63
425S1690-0808-08RB — 16’ w/ 8 Stair, 8’ x 8 SDRT 24 | 42SS162R-0808-08LB - 16' w/ 8' Stair, 8'x 8'SDLT 64
2'R STRAIGHT STAIRS - 42" WALLS 42551690-0808-08LB — 16’ w/ 8’ Stair, 8 x 8’ SDLT 25 | 42SS162R-0808-06RB - 16' w/ 8' Stair, 8'x 6' SDRT 65
8'- 2'R X 2'RR Stair - NSS007 5 42SS1690-0808-06RB — 16’ w/ 8 Stair, 8 x6° SDRT 26 42SS162R-0808-06LB - 16' w/ 8' Stair, 8' x 6' SD LT 66
8 x 2'R — 3 Corner Right Stair — NSS008 5 42SS1690-0808-06LB — 16" w/ 8’ Stair, 8 x6' SDLT 27 | 42SS162R-0610-08RB - 16' w/ 6' Stair, 10'x 8' SDRT 67
6’ x 2R — 3 Corner Right Stair — NSS009 6 42SS1690-0610-08RB — 16' w/ 6' Stair, 10'x8' SDRT 28 42SS162R-0610-08LB - 16' w/ 6' Stair, 10'x 8' SD LT 68
8’ x 2'R — 3 Corner Left Stair — NSS010 6 42551690-0610-08LB — 16' w/ 6' Stair, 10'x 8' SDLT 29 | 42SS162R-0610-06RB - 16' w/ 6' Stair, 10'x 6' SDRT 69
6' x 2R — 3 Corner Left Stair — NSS011 7 425S1690-0610-06RB — 16' w/ 6' Stair, 10'x 6' SDRT 30 | 42SS162R-0610-06LB - 16' w/ 6' Stair, 10'x6'SDLT 70
10’ x 2'R Stair — NSS031 8 42SS1690-0610-06LB — 16' w/ 6' Stair, 10'x6'SDLT 31
12" x 2R Stair - NSS029 8 | (6"R /90°) 18" Side by Side Stair/Sundeck - 42" WALLS
14"x 2R Stair - NSS032 9 | 42551890-0612-06LB - 18 w/ &' Stair, 12'x 6'SDLT 32
16" x 2'R Stair - NSS015 9 42551890-0612-06RB - 18' w/ 6' Stair, 12'x 6' SDRT 33 . )
18 x2R Stair - NSS016 %8 42551890-0612-08LB - 18 w/ 6 Stair, 12 x8 SDLT 34 | 42" Modular continues on next page
X air —

42551890-0612-08RB - 18' w/ 6' Stair, 12'x8' SDRT 35 " ; ;
42S51890-0810-06LB - 18' w/ 8' Stair, 10' x 6' SD LT 36 48" Stair op tions starts on nex Ip age

42551890-0810-06RB - 18' w/ 8' Stair, 10'x 6' SDRT 37
ROMAN END STAIRS - 42" WALLS 42S51890-0810-08LB - 18' w/ 8' Stair, 10' x 8' SD LT 38
10'8"R to 2'R x 8 Stair — NSS006 11 42551890-0810-08RB - 18' w/ 8' Stair, 10'x 8' SDRT 39

20’ Wide Roman End Stair — NSS021 11 42SS1890-1008-06LB - 18' w/ 10' Stair, 8'x6' SDLT 40

18’ Wide Roman End Stair — NSS020 12 42SS1890-1008-06RB - 18' w/ 10' Stair, 8 x6' SDRT 41 ?—I:;e:-t;j;?;jlol\JN;;;eCf}zr/;Og\lrlelz irgrlfllfg:sﬂn;
16’ Wide Roman End Stair — NSS019 12 42551890-1008-08LB - 18" w/ 10 Stair, 8 x8 SD LT 42 TO CURRENT APSP/ANSI/ICC-5 2011 & ISPSC

425S1890-1008-08RB - 18' w/ 10' Stair, 8'x8'SDRT 43 2024 STANDARDS FOR RESIDENTIAL

INGROUND SWIMMING POOLS

(6"R/90°) 20’ Side by Side Stair/Sundeck - 42" WALLS All Step, Sundeck, & Bench Units used in this book

CORNER STAIRS - 42" WALLS

90° & 2'R Inside Corner Stair — NSS018 13

RADIUS STAIRS - 42" WALLS

425S2090-0614-06LB - 20' w/ 6' Stair, 14'x6'SDLT 44
42SS52090-0614-06RB - 20' w/ 6' Stair, 14'x 6' SDRT 45
425S2090-0614-08LB - 20' w/ 6' Stair, 14'x 8 SDLT 46
42SS52090-0614-08RB - 20' w/ 6' Stair, 14'x 8 SDRT 47

can be installed in multiple locations and
configurations on the various pools.

The installer is responsible for communicating the

6'R x 12'W Stair - NSS001 14 1 42552000-0812-06LB - 20" w/ 8 Stair, 12'x 6'SDLT 48 finaldesign o the e Fagufacturer o nsure &

TR x 13'W Stair - NSS002 15 | 42552000-0812-06RB - 20" w/ 8' Stair, 12'x 6' SDRT ~ 49 —

8'R x 14'W Stair — NSS003 15 | 42552000-0812-08LB - 20" w/ 8 Stair, 12'x8'SDLT 50 PERIVE T O IS TALLER, NG

9R x 15'W Stair — NSS004 16 42552090-0812-08RB - 20" w/ 8' Stair, 12'x 8 SDRT 51 HOLES TO ATTACH STEP & SUNDECK RISERS

10R x 16'W Stair — NSS005 16 | 42552090-1010-06LB - 20" w/ 10 Stair, 10'x 6' SDLT 52 ——
42552090-1010-06RB - 20’ w/ 10" Stair, 10'x 6 SD RT 53 | moeri al - 2025 -
425S2090-1010-08LB - 20' w/ 10’ Stair, 10'x 8' SD LT 54 p POLYMER
42552090-1010-08RB - 20' w/ 10’ Stair, 10'x 8 SD RT 55 MANUFACTURING s




Table of Contents

42" MODULAR SYSTEM Cont.

2'R- 18’ Side by Side Stair/Sundeck - 42" WALLS
42SS182R-0612-06LB - 18" w/ 6' Stair, 12'x 6' SD LT
42SS182R-0612-06RB - 18' w/ 6' Stair, 12' x 6' SD RT
42SS182R-0612-08LB - 18" w/ 6' Stair, 12'x 8' SD LT
42SS182R-0612-08RB - 18' w/ 6' Stair, 12' x 8' SD RT
42SS182R-0810-06LB - 18" w/ 8' Stair, 10'x 6' SD LT
42SS182R-0810-06RB - 18' w/ 8' Stair, 10' x 6' SD RT
42SS182R-0810-08LB - 18" w/ 8' Stair, 10'x 8' SD LT
42SS182R-0810-08RB - 18' w/ 8' Stair, 10' x 8' SD RT
42SS182R-1008-06LB - 18" w/ 10" Stair, 8' x 6' SD LT
42SS182R-1008-06RB - 18' w/ 10' Stair, 8'x 6' SD RT
42SS182R-1008-08LB - 18" w/ 10" Stair, 8' x 8' SD LT
42SS182R-1008-08RB - 18' w/ 10' Stair, 8'x 8' SD RT

2'R - 20’ Side by Side Stair/Sundeck - 42" WALLS
42SS202R-0614-06LB - 20" w/ 6' Stair, 14'x 6' SD LT
425S202R-0614-06RB - 20' w/ 6' Stair, 14' x 6' SD RT
42SS202R-0614-08LB - 20" w/ 6' Stair, 14'x 8' SD LT
425S202R-0614-08RB - 20' w/ 6' Stair, 14' x 8' SD RT
42S5S202R-0812-06LB - 20" w/ 8' Stair, 12'x 6' SD LT
42SS202R-0812-06RB - 20' w/ 8' Stair, 12' x 6' SD RT
42S5S202R-0812-08LB - 20" w/ 8' Stair, 12'x 8' SD LT
42SS202R-0812-08RB - 20' w/ 8' Stair, 12' x 8' SD RT
42S5S202R-1010-06LB - 20" w/ 10" Stair, 10'x 6' SD LT
42SS202R-1010-06RB - 20' w/ 10’ Stair, 10' x 6' SD RT
42S5S202R-1010-08LB - 20" w/ 10" Stair, 10'x 8 SD LT
42SS202R-1010-08RB - 20' w/ 10’ Stair, 10' x 8' SD RT

90°/6"R & 2°R — Modular Benches - 42" WALLS

42VB24FE-12B — 12’ x 24” Full End Bench 95
42VB24FE-14B — 14’ x 24” Full End Bench 96
42VB24FE-16B — 16’ x 24” Full End Bench 97
42VB24FE-18B — 18’ x 24” Full End Bench 98
42VB24FE-20B — 20’ x 24” Full End Bench 99

CUDDLE COVES - 42" WALLS

6'R Cove — NSS022 100
7'R Cove — NSS023 100
8'R Cove — NSS024 100
9'R Cove — NSS025 101
10'R Cove — NSS026 101

83
84
85
86
87
88
89
90
91
92
93
94

48" STAIRS

Radius Stairs - 48" WALLS

6'R — 12’W - NSS00148 102
7R x 13'W - NSS00248 102
8'R x 14’'W - NSS00348 103
9'R x 15'W - NSS00448 103
10'R x 16’'W - NSS00548 104

2'R Straight Stairs - 48" WALLS

8 x2’R-STR 2R x 2’RR - NSS00748 105

8 x 2R x 2’RR RT — Side Stair - NSS00848 106

8 x 2R x 2’RR LT - Side Stair - NSS01048 106

6’ x 2R x 2’RR RT — Side Stair - NSS00948 107

6’ x 2R x 2’RR LT - Side Stair - NSS01148 107
Corner Stair - 90° & 2°R - 48" WALLS

Inside Corner Stair for 2’R/90° - NSS01848 108
Roman End Stairs - 48" WALLS

4'8'R x 9'812"W— 16'W Pool - NSS01948 109

6'R x 11'8%2"W — 20'W Pool -NSS02148 109

53%"R x 12’W — 18’'W Pool - NSS02048 110

APPENDIX
Straight Stair Assembly & Installation Al
Corner Stair Assembly & Installation A2
Radius Stair Assembly & Installation A3
Cuddle Cove Assembly & Installation A4
Assembly Installation Instructions Guide A5
Side by Side Bracing A6
Variable Stair & Sundeck Bracing A7
Liner Installation A8

48" MODULAR SYSTEM

(6"R / 90°) Modular w/ Variable Sundeck (VS) - 48" WALLS
48VS0890 — 8’ Full End Stair w/ Optional Variable Sundeck
48VS1090 — 10’ Full End Stair w/ Optional Variable Sundeck
48VS1290 — 12’ Full End Stair w/ Optional Variable Sundeck
48VS1490 — 14’ Full End Stair w/ Optional Variable Sundeck
48VS1690 — 16’ Full End Stair w/ Optional Variable Sundeck
48VS1890 — 18’ End Stair w/ Optional Variable Sundeck
48VS2090 — 20’ Full End Stair w/ Optional Variable Sundeck

90°/6"R & 2°R — Modular Benches - 48" WALLS

48VB24FE-12B — 12’ x 24” Full End Bench 118
48VB24FE-14B — 14’ x 24” Full End Bench 119
48VB24FE-16B — 16’ x 24” Full End Bench 120
48VB24FE-18B — 18’ x 24” Full End Bench 121
48VB24FE-20B — 20’ x 24” Full End Bench 122

All Features shown are for Polymer Entry System

THE STAIR / SUNDECK / BENCH CONFORMS
TO CURRENT APSP/ANSI/ICC-5 2011 & ISPSC
2024 STANDARDS FOR RESIDENTIAL

111 INGROUND SWIMMING POOLS
tep, Sundeck, ench Units used in this boo
%%g AllS Sundeck, & Bench Uni d in this book
can be installed in multiple locations and
114 configurations on the various pools.
115
116 The installer is responsible for communicating the
117 final design to the liner manufacturer to insure a

proper fit.

NOTES FOR INSTALLER:
PERIMETER PANELS WILL REQUIRE DRILLING
HOLES TO ATTACH STEP & SUNDECK RISERS

- 2025 -
- I mperial| roviier
42"& 48"
MANUFACTURING

WALLS




6' - 90° Nexus Stair - NSS033

BEAD — NSS107 Panel insert
_RECEIVER \E AN n A (Optional) 1212 12
REI?:I;:E'?\I/DER \[ | E v K :_i
| \ 12" RECEIVER _
| | N5S136 | . # | N55769 | 10|; N1
| u || 8 1 ||
| M0RE \,1;2 | NssT69 | o1 N i ||
10§" L]
| bl | I_ l : :
12" | s — i
: | N55|736 | Lt | Vssie9 | 103" 5 ||
[ 48" 24" | . hd [
NSS289
Brace
| (o) .
8' - 90° Nexus Stair - NSS034
NSS107 Panel insert
BEAD (Optional)
RECEIVER —_———— — — — 12" 12" 12"
=T =T~
BEAD — T » BEAD 8%' . [
RECEIVER | | wssize 12" Nssiz6 | | RECEIVER P |
| | | A | * I ! I ] | 103 N
|| wssize \l 12! Nss136 | | W G
| ] | ] * | I | ] | 103" | ||
NSS289 .
1 ssi3s prace | 12" nssize || |3_ — .
| 1 | 1 | H ] | 1 | 1Ol§" — : :
48" - |
| NSS289 — |
Brace
NOTES FOR INSTALLER: auways seeciry | P (o ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




10' x 90 Degree Nexus Stair System -
NSS030

NSS107 Panel insert NSS107 Panel insert
(OpE)n_al)_ _ _Xli ______ [ (Optlonal) |—14%'"—l—14%"—l—14%"—|

BEAD 1 ! 1
RECEIVER NSS136 | 14l NS5T36 | || % I
| | ] | ] Ll i ] 1 |_NS5169 | = S |
| L a | gpad 0
141" a0 —
N VIS8 U2, (V59786 | Nssi69 ||| w B »
8
R 5 B - i
|| gVSSI36 ) ) T2, MSSI36 ) wssies |1 LT [ ]
| | -
48" 48" 24"
NSS147 NSS147
Brace Brace

12' x 90 Degree Nexus Stair System -
NSS027

NSS107 Panel insert NSS107 Panel insert
(Optional)__ _\r ______ w[— —_(Optional)
— . A
BEAD | | N5$136 : I”%" | NS55736 : | N5S136 | [ e [
RECEIVER . . | L ' | ' . | N — |
| 141 || 10g" — ||
N VeIEe |2, NSIS6 Yy NoSISE | w = N =
| | I e N | |
| /\/55I736 | . 14'5 . I /\/55I736 | /\/55|736 | . | w0 ) ||
| 48" 48" 48" | 1 ||
NSS147 NSS147
Brace Brace
NOTES FOR INSTALLER: I m e r i al ALWAYS SPECIFY P o,ym er
PERIMETER PANELS WILL p 6" OR 90° CORNERS POOL SYSTEM

REQUIRE DRILLING HOLES

WHEN ORDERING THE THIS STAIR / SUNDECK CONFORMS TO
TO ATTACH STEP RISERS POOLS POOL AND LINER. | “SRlfEsiigiessast | o

RESIDENTIAL INGROUND SWIMMING
POOLS




14' x 90 Degree Nexus Stair System - NSS028

NSS107 Panel insert

‘D//\fptional) \
BEAD | T 1 1
RECEIVER | 143 | |
NSS100 NSS100 2 NSS100 NS00 |
1 | | | 1 | {1 | 1 | | | | | |
| : |
| | | | N
NS5700 Nsstoo 145 NS5700 NS$5700
| 1 | 1 i | 1 | | | | | | |
N L | |
| | Nssio0 N$S100 145" NS5700 NS$5700 |
1 1 I il 1 1 1 I 1
| 42" 42" 42" 42" |
NSS147
Brace

.

"oo?:w _l" oo?:w 'T'oo‘?:w _r°°'=“

=

IS
Q
[

=

|—14%"—I—14%"—I—14%"—|
|_|

1

16' x 90 Degree Nexus Stair System - NSS012

NSS107 Panel insert

(Optional) _X\ . ) .
______ N - - - 142" 142" 142”
BEAD 1 1 fl 1 T
RECEIVER NSSI36 | : | V55136 | : |14§" N55136 | nssize | | 8 [
| 1 1 1 ] 1 | ] L | ] | 1 | 13— .4| |
| | ol | L sl
NSSI36 NSSI36 143" NSSI136 nssi3e | o N
| [ I [ I [ I 1 ; 1 I 1 I 1 I 1 I | 10%" - | |
|| || = - |
| | Nss136 | | N55136 | 14%" I N55136 | | NS$5136 | | 103 L I I
1 1 1 1 i1 1 1 1 | .
| 48" 48" 48" 48" | -
NSSl47\/
Brace
NOTES FOR INSTALLER: ALWAYS SPECIFY Po,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




18' x 90 Degree Nexus Stair System - NSS013

NSS107 Panel insert
M (Optional) l\\\‘r
_______ e — > o 143 143 144
u m T

BEAD | 1 ! | A —
1. 7.
RECEIVER | | N557100 : I N557100 : |142 NSS136 | Ns5100 | NS5100 | 8 | |
1 1 | | [ | | | 1 | 1 | 1 | 1 | |3_ | |
S | L | | IE: "
NS5700 N55700 145" N55136 NS5700 nNsstoo || 4 |3_ \ —
| I 1 | 1 1 | 1 | ; 1 | 1 1 | ] 1 | | | 103" m | |
~ | |1
1.
. nssi00 | Nssioo | 143 Nssize | Nss100 | nssioo || 0f | ]
| 1 | 1 1 I 1 | " | 1 1 | 1 1 | 1 | Y L
| 2 N N 4%42" “ |
NSS147
Brace
20" X 90 Degree Nexus Stair System - NSS014
NSS107 Panel insert
//AL (Optional) J\s 14l 14l 14l
______ _!__ S 1 _f_____ | — __!_______ |_2_I_ Z_I_ o]
NS5136 | N$5136 | ey NS5136 | NS5136 | nssize | | o i
BEAD ] | 1 | | | ] | 1 | | [ | 1 | | 1 | ] | | [l | ] | 13_ .4| |
RECEIVER | | | 11" | | X 103 - N
N$57136 N$5136 145 N$5736 N$5736 N$5736 W = S — ||
| ] | | | | f | | Ly ] f | ] | ] | ] | f | | 103 ) ]
| | A ] E a ¥
| | Nss736 | | | NS§5136 | I145" NS$5136 | NS$5136 | | | NSSI36 | | 0¥ L ]
1 1 1 1 i1 1 1 1 1 1 | o
| 48" \N 48" 48" / 48" |
NSS147
Brace
NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES

6" OR 90° CORNERS POOL SYSTEM

I m p e r i al ALWAYS SPECIFY Po,ymer

WHEN ORDERING THE THIS STAIR / SUNDECK CONFORMS TO
TO ATTACH STEP RISERS P O O LS POOL AND LINER. et e Rsetar & 4

RESIDENTIAL INGROUND SWIMMING
POOLS




8' X 2'R X 2'RR Nexus Stair System - NSS007

145"
~ i T i N [
142" \ — T
55|762R| | N5S136 2 l/\% \ 8l
REE(;‘,EE/;\\?ER [ /L—22"—— '1 <—22"—°|\ \ 10';
N55763R 145" X
Ny | V55136 M ' | {wssiseL \—\\ yd
103" |
Y T— . o4l X .|
P /vsfrszm Nssize M2 N557677L N = -
/ | ] L i \ - 105" |
E g 34" 48" 34" >~ — O
NSS147
Brace

8' X 2'R - 3 Corner Right Nexus Stair System

NSS008

NSS107 Panel insert
(Optional)

~
7 | f | AN 144 144 141
1. \ |_ 2 2 2_|
55|762R| | V55136 Il4;2. |/\/55}\ \ -
RECEVER Il gy ] '1" L oon \ 8%; |
IN55763R |N55736 14}2 N55769 }_\ - 3 |
1 ] ] 8 1
/] o4l 'l g | a0 '3— | | ||
) Nsstear)  nssize 14 InsgesL 11| % — o
'( | I | ] [N ] I | '3_ | | |
E g 34" 48" 24" | % ||
NSS147 N a | |
Brace

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperial
® POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 5
RESIDENTIAL INGROUND SWIMMING
POOLS




6' X 2'R - 3 Corner Right Nexus Stair System

NSS107 Panel insert
(Optional) \7
/ —

- NSS009

7 | t T R [—14%'"—|—14§"—|-—14%‘"—|
| 143 NSST7OL
SSf62K 1 | 3 n
RE?:EE/?\I/DER I 22" 0 46" 8?_ |
|NSSI63R| M2 | NSsI36 103 " : :
7 nssisar! 145 N55736 il : N
— { | 1 i1 | 1 e —
g g . i I I
NSS147 - |
Brace

8' X 2'R - 3 Corner Left Nexus Stair System -

NSS107 Panel insert
’; (Optional)
/ -

NSS010

p | - - - _' - | - |—14%"—l—14%"—l—14%"—|
/ L. \ -
55762R) N55136 e |® \ L A
BEAD L L L l - I
RECEIVER / /L—22"—— '1 —22"——|\ \ 103 o ||
=n 3 -
| Nss169 |Nssise | V2| (nssTesL w b A
| 24 ! 242 \ 5 A ¥
" 1-" f——— =" .
11 Nss172R) NSSI36 13" INssETL, N - - |
| | ] 1 | L 4 1 Y- 10|8 — | |
| 24" 48" 34" >~ o L
|| NSS147
Brace

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

6




6' X 2'R - 3 Corner Left Nexus

Stair System - NSS011

NSS107 Panel insert
(Optional) e

~ . R VS 143 ——142——14d
i g J I \\\\ ’7 ? ‘ ? ‘ ? T
1. | ‘
/ = \ T
N55,|773R 2 ,| INSSTE5IN \ o N
BEAD // /I/ L - ' " - ]kl\ \\ 1— — |
RECEIVER I 46 1 | 22 | 10%, N : :
jnss13e M2 INssTe6L ) W B
| \ 3. ° ||
| " Lo\ 103 L
| 48 1. 242 \ N\ b - | : :
|| No5T136 143" INSSIE7L, NN N N a
| 1 | L] 1 | b} \\\_I 10|§" | |
N 48" 34" == — L
I NSS147
Brace

NOTES FOR INSTALLER:
PERIMETER PANELS WILL

Polymer

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

Imperial

v




10' x 2'R Nexus Stair System - NSS031

NSS107 Panel insert
L (Optional) l
~ - _ —l_ — ~

T ' N B e

| 2 | nsst70L
SS162R] | | | N55136 4 OO PR

— 1
BEAD . L \ 8%.. M
RECEIVER / fe—opn —] '1 46" )\ \ i_ Q |
145" NS$5136 3. R ||
N wesreo | | ;z | Nssi3e | NSSI36 —\l L ]
|| (T | || 108 = | |
| LNsstee y M7, msstse, (NSRS, | E 8 |
| 24" 48" 48" | Sl .
|
- | L
I NSS147 I
Brace
12' x 2'R Nexus Stair System - NSS029
NSS107 Panel insert
L (Optional) l
o 1 I B . . .
g y | \ T
z Nssi7aR, | 2 nssise | wssi7oL N -
| 1 | 1 | 1 7.
REBCIIEE/?\?ER I 46" '1 46" \ \ 8?_ Q |
N$$736 145" NSSI36 | N55136 -] w2 W
1 | 1 ] | ] 1 | 1 ] 1 R | |
| | N E
1. 102" )
] Nssize, | 143 Nssi36 | nssize e N B
1 1 1 1 1 1
| | | i | | | e R i
| 48" 48" 48" | i ||
I NSS147 I -
Brace

NOTES FOR INSTALLER:
PERIMETER PANELS WILL

Polymer

[
II I lperlal POOL SYSTEM
THIS STAIR / SUNDECK CONFORMS TO
P O O L S CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 8

RESIDENTIAL INGROUND SWIMMING
POOLS

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS




14' x 2'R Nexus Stair System - NSS032

NSS107 Panel insert
(Optional)

///T_T T_'____ l_T___T_l_T\\\ . . .
143" 143" 143"
27 N55288R | 143" N55736 | N55136 | Ns%ﬂ\ |_ B
. L1 | IR IR I I T L 11 N\ r
RECEIVER . 34" ! 34" A\ 8|§_ | |
[NSS267R | 145" N55136 | NssT36 (Nss287LLY | N ||
| 1 ; 1 1 1 | he l_ . | | |
N \
|| N$5287R | 143" N55736 | NS$5136 | Nss2g7L ||| 1% — N
| | 11 I IRl B I N | 11 I - | ||
| 36" 48" 48" 36" || % ||
. \/ | ] > | |
NSS147

Brace

16' x 2'R Nexus Stair System - NSS015

NSS107 Panel insert
‘//RV> (Optional) \
1 o« I R

- ! l J ! N 141 141 141
1. 2 2 2
z | NSST73F | | | N55736= I“é Nssize | NsstzoL \\ |_ B
BEAD ] 1 ] ] { | 1 | 1 | ] R M
RECEIVER [ 46" | tl 46" L\ sla'z_ ||
L MSSI6) g MESISS) (MY msErse) NSSSS) L | N
| 48" ! 48" I = N
N 3
I N55136 | Nss136 | 141 nssize | Nssize ||| ) ||
| ] I 1 | 1 ] I ] L | 1 | 1 | ] | |3_ . ||
| 48" 48" 48" 48" || '% ||
o \/ |1 L | |
NSS147
Brace
NOTES FOR INSTALLER: Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

POOLS

9




RECEIVER

18' x 2'R Nexus Stair System - NSS016

(Optional)

NSS107 Panel insert
— L ______

e

NSS107 Panel insert

~
7 I
‘Hss162R
BEAD

N55100 { NSS100
1 [

~
L ] | | N
3" | N$s700 | N55100 ssrea
{ | 1 | | | | | 1 | \
L

(Optional)

[ 1 I
[ —] | | oo\ A
| NS5S57169 | NSS100 N55700| NSS100 | NSS100 | NS5169 | H
| 24'I" [ [ (] (] [ [ (] 2I4" |
: | N55769 | N55700 | /\/55700I " I N55700 | NS5100 NS5169 :
1 1 1 1 1 1 1 1 1
| 24" 42" 42" 42" 42" 24" |
I NSS147 |
\/NSSM? Brace

Brace

N
Q

1

|—14%"—|-—14%"—|-—14§"—|

.

_ozﬁ:w Toc?g:—l_ooﬁ:w —rm':‘
[

=

[

=

20" X 2'R Nexus Stair System - NSS017

NSS107 Panel insert

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

NSS107 Panel insert
L (Optional) l AL (Optional) l
| ~ 1 [ S ——— S 1 — [ 7~ N |-—14%"—|-—14%"—|-—14%"
NSSI73R | nssize| 14 NSS136 | NS$136 | N55770L\ T M
L | 1 | ] L ] 1 1 ] 1 ] L ] L ] 1 \ 8%--
[/ 46" | | 46" \ - I
H NS$5136 NS$5136 N$5136 N$$136 | NSSI36 103 N
I ] | ] I ] ] | ] | ] ] I ] I ] & - . | | ]
— I o B N
| Nss136, | N55136 N55136 | Nss136 | NSS136 L . X
1 | 1 | | 1 | 1 1 | 1 | 1 | 1 | 1 A -
48" 48" 48" 48" ol ! !
I NSS147 NSS147 -
Brace Brace
NOTES FOR INSTALLER: ‘ o,ym er

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

10




Nexus Stair System 10'8"R to 2'R x 8' - NSS006

NSS151R NSS107R
Panel Insert Panel Insert
132" 132" 14:L
" NSS161R [ T ]
i 1.
4 Nss153R 148" | nssiseL Panel Insert [ o [ ]
SenD ¥— ] | | ] ] L I Ig_
RECEIVER 42" 42" 3
| NssT54R 132" NSSI57L | % ]
] 81 | ] | 1 40 |— 1
T 1
5 NSSI55R 133" NSSTI58L ~ —
1l l 1 | | 1 | L o &
l f lOg -
48" 48" O
NSS159 \
< 160R Brace CTR NSS161L
Brace LT
Brace RT

Nexus Stair System for 20' Wide Roman End
- NSS021

NSS107 Panel insert

Optional)
g1

7§" |—15§—l—15§—’—17%—|

BEAD Re ‘
RECEIVER ) | | | | | . | I | 7 |_|
NoeTo2k o 3 ar NSSTOS5L &'
155" i— |
+ NS5700 8 N$5700 + s S
] ] ] L4 L | | 3 N
143" 1, ] 1 LT . 5 |
2 N$$100 155" | wssioo 103 A g
NSS5203R Nl 1 1 L L | . NSS206L i_ -] | |
A\ N 3" .
‘ L_ 281" 42" 42" / 281'" 103 )
‘ M 4 L. | |
\ees NSS147 R25"
Brace

NOTES FOR INSTALLER:
PERIMETER PANELS WILL

Imperial Polymer

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

RESIDENTIAL INGROUND SWIMMING
POOLS

11




Nexus Stair System for 18' Wide Roman End - NSS020

101'" 81'"
2 R5-3L" 4 I——15§"—|—15§"—|—17%"—|
BEAD | | |N55794L |
RECEIVER I ' - L L - Ly |_|
NSST95R T 433 3. 433 NSS197L 8?_ |
3 N55700 N S
7 f | ! 108 — | |
+ g L& + o I =]
NSS196R iy ! NSS100 | . Nss19sL | L -] |
7 . 7 T |1
|—ng 42 w 195 g . | ]
NSS147

Brace

Nexus Stair System for 16' Wide Roman End - NSS019

NSS107 Panel insert
(Optional)

1. 1. 1.
|—142 —]—142 —|—14

:l_l

Pd
Q
I
N
PN
ml\l“

1

BEAD

NSSTE9R

1. " 1.
. 3721 \— 4& 3721
R2 NSS147

Brace

+
IS
3
= = =
_oo?gn—l_oo?y—l_oofw—r
||

NOTES FOR INSTALLER:
PERIMETER PANELS WILL

Imperial Polymer

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

RESIDENTIAL INGROUND SWIMMING
POOLS




90 Degree Inside
Corner Stair - NSS018

2'R Inside Corner
Stair - NSS018

NSST78R NSSI77R
NSST78R e
RECEIVERA NSST77R NSST79R \
NSST79R i7" 17" 42%" NSS107 Panel insert| = —— — —— — — BEAD
_ _ %7/_ M (Optional) C__ RECEIVER
C_
\ 9 30" |
12" 2 | 3
423
NSSI84R RS N NSSI84R
?'?S‘ © > BEAD 3
)c)o RECEIVER 18@”
9 ' 40 . NSSTSOL
— NSSISOL
17
NSSIS4L | . | 17"
L
| T~ wssisre  NSSTISTL
REs |
| 17
| |
. . . NSSIS2L
T 30 B |_12.- | 12 | | = NSSIS2L
- q U |
¥ | — ol
1o R N - — ! U
40" 10'3—" A | | 10%" °= | |
Ny N w =
N - 103 ™ ||
0 N || '8_ B B
C ] | | - |
o | |
— | |
NOTES FOR INSTALLER: - ‘ o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

I ALWAYS SPECIFY
6", 90°, OR 2'R CORNERS

POOL SYSTEM

WHEN ORDERING THE
POOL AND LINER.

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

13




6'R x 12'W Nexus Stair System - NSS001

NSS107 Panel insert
(Optional)

®l=

§||

1
NSSTOTR 113" | NissroqL

o
|
153" 153" 174
REI?:EEA;\I/DER L | | | i ! | | | 4-—| I_ 8 | 8 | 2—|
" | _'_

—5" n_| NSSTO5L
NSSTO2R 5 3 5
3 /vssrool 1518 NS5700 oL :_I
] ] ] ] ] ] i—
3 ! .. N
132 18%"—> 153" | __18%-" 10% " x
[VSSIO3R | NS5100 g8 | NS5100 | nssio6L o b N |
< 1 1 | L 1 | 1 1 | 10%" | ) |
L e 42" 42" "] L . | u
NSS108 NSS110L 10|%" ) |
NSS109R Brace CTR i - | |
Brace RT
NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES

Imperial Polymer

P O O S THIS STAIR / SUNDECK CONFORMS TO
I CURRENT APSP/ANSI/ICC-5 2011 &
TO ATTACH STEP RISERS ISPSC 024 STANDARDS FOR 14
RESIDENTIAL INGROUND SWIMMING
POOLS




/'R x 13'W Nexus Stair System - NSS002

NSS107 Panel insert

(Optional)
NSSI36R “‘||IIIIMIII."'
s | 0%, 1
BEAD 0 174 ll'
RECEIVER "\“‘ N55700 l2 I N5570 ll" NSS139L
20— | | 1
5. ‘ 3 T 3. L )
13 A 153" | v
N55737R nsstoo % NS5100 3574008,
[ [ [ [
& o0 st —243 —%
S saiaisl B I | NB5I09  wssrtL)
(J 7 34" f 42" 42" 34" O
18" NSS108
NSS143L
I~ NSS142R Brace CTR Brace LT —
Brace RT

IS
Q

— oo?g,o —I_ oo?g.o T oo$§,o —r mOP?‘

=

=

|

8'R x 14'W Nexus Stair Systemn

NSSTT12R

BEAD

R8'

NSS107 Panel insert
(Optional) g3

RECEIVER 1. | — —
N55700| 1712 EN55700 | \/ NSSTISL si%; ||
1 1 1
63" 1. | N \\\ 103 — | :
| NSSTI3R Ngéyool 15‘5" : NS5100, NSSTT6L \2\ w = - | N
1 1 1 [ 10§" L
1. o 2 G, 303 |\ \ - — : :
12 /// IN?SH‘/R N55700| 15l8 | N55700I /\/557771, | \\\ 1°|§" — | |
1 1 1 1 1 1 L [
/) a1z’ 42" 42" a1z’ I\ \\)
NSS118R NSS108 NSS119L
Brace RT Brace CTR Brace LT
NOTES FOR INSTALLER: Po,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




O'R x 15'W Nexus Stair System - NSS004

NSS107 Panel insert

(Optional)
153" 153" 173
BEAD 0\ ) pja RRI.4NNN /] /] /7 5l |-_ ® ° 2—|
\ OBl 1y, e — M
2 NSS723L 8"
N557120R 3 “\\\ ‘ NS_IG700| Il2 | . IN55I700 '/( T_ . |
e S X 5 i1, i ] ]
«K‘ \Vss2iR! wssioo 1% : MS5100 [nssraaL, 2 a I =
N\ "] 1 I L4 I I 1 | 8 | | |
| | - - |
< 352" 3 352" & 3. |
3 3. 103 L
63 t~ L ssizar) MO0, K N0, pssiden O =S |
N 48" 42" 42" 48" Z
NSS126R NSS108 NSS127L
Brace RT Brace CTR Brace LT

10'R x 16'W Nexus Stair System - NSS005
e

BEAD
RECEIVER

NSS128R 3
9"

|

=

1 ~ 153" 153" 174
e - L
NS5136 172 ‘ N55136 ~ NSSI3TL T
155-- 1 | 1 I | | ] | ] )\/ 8g"
8 i ~ i— I
143" 3 | 143" O N 5. |
N55136 155" | NS55136 | NSST32L N 105 - X
y | ] | ] * | 1 | 1 | 1 1 | \I | N N 40" L,_ o - | |
1. 1. 108" )
s /7 342 3, 342 AN .
L v NSST30R. | NS55136 155" | N55136 | NssT33L AT L_ — =
2 7%‘ / | 1 | 1 | L 4 | I | I | I | LN r) 10|§ — : :
d8g’ 48" 48" agl =
NSS134R NSS108
Brace RT Brace CTR grsasci?’f'::
NOTES FOR INSTALLER:

PERIMETER PANELS WILL

Imperial Polymer

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

RESIDENTIAL INGROUND SWIMMING
POOLS




42VS0890

Count | PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser (A)
1 | Nss107 42" Stair Brace Wall Insert (H)
2 NSS308 36" Sundeck / Stair Brace Extension (T)
1 NSS304 2 Piece Straight Stair Brace - Top Step @
1 NSS305 2 Piece Straight Stair Brace - Bottom Step @

Included Stair Hardware
1 149271 3/8" x 18" Rebar - Bundle of 20
40 149664 3/8" Washer Head Hex Nut
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt
40 42999 1 5/8" Clip Screw
1 TEK75 Tek Screws - Pack of 75
6 NSS1112 Large Nexus Brace Clip
6 NSS8BR 8' Bead Receiver

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

PLEASE PROVIDE SUNDECK

SIZE FOR LINER PRODUCTION

42VS0890 -

__"SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

2)
3)

4)

the steel brace.

Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.
Installer must specify the measurement of the sundeck area to
ensure proper liner fit.
This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

8' x 90° Nexus Full End Stair w/ Variable Sundeck
42\/S0890

BEAD
RECEIVER
(installer to attach to
existing pool walls)

BEAD RECEIVER
(installer to attach to
existing pool walls)

(optional)

N S

HEONN

| BEAD

BEAD
RECEIVER

l
(VP 14%"
|| 1 ® |
|

@ VARIABLE
(Installer must

|
S/

RECEIVER
(installer to attach to
existing pool walls)

HEONN
_”

I

| BEAD

| RECEIVER
I
L

L1® 1]

14l

|I|O|

speC|fy size)
I
|
I

48"

VARIABLE

|_142 (Installer must specify size) 142

|
-/

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

w

ALWAYS SPECIFY

6" OR 90° CORNERS

HEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS1090

10" x 90° Nexus Full End Stair w/ Variable Sundeck

Count | PART# DESCRIPTION LETTER
6 | NSS136 48" Step Riser D) 42VS 10 9 O
3 | NSS169 24" Step Riser ©
2 | Nss107 42" Stair Brace Wall Insert (H) _ _
4 NSS308 36" Sundeck / Stair Brace Extension @ _BEAD RECEIVER (optional) (optional)
2 | Nss304 2 Piece Straight Stair Brace - Top Step (@) (installer to attach to
- - - existing pool walls)
2 | NSS305 2 Piece Straight Stair Brace - Bottom Step (D)
Included Stair Hardware | |
1 149271 3/8" x 18" Rebar - Bundle of 20 | 14_ |
40 149664 3/8" Washer Head Hex Nut
T B T BEAD L1® ] 1] L1® [ BEAD
x 1 1/4" Washer Head Hex Bolt RECEIVER | RECEIVER
40 42999 1 5/8" Clip Screw (installer to attach to | BEAD —/ | (installer to attach to
1 TEK75 Tek Screws - Pack of 75 existing pool walls) RECEIVER existing pool walls)
NSS1112 Large Nexus Brace Clip | VARIABLE |
6 NSS8BR 8' Bead Receiver (Installer must
| specify S|ze) |
NOTE: This Modular Step Unit comes with Bead Receiver | |
(NSS8BR) to accomodate sundecks up to 8' in width. | |
PLEASE PROVIDE SUNDECK NEEEONEN HEONET © |
SIZE FOR LINER PRODUCTION | BeAD  —— | | |
| RECEIVER | 143 | | |
AN EONE N O I L1 1 © ]
1 48" 1 1 |
42\VS1090 SD VARIABLE

=

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

|__
i_
|

|

|

|

|

f_142 (Installer must specify size) 142

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42V31290

Count | PART# DESCRIPTION

LETTER

9 NSS136

48" Step Riser (D)

NSS107

42" Stair Brace Wall Insert (H)

NSS308

NSS304 2 Piece Straight Stair Brace - Top Step

36" Sundeck / Stair Brace Extension (T)
W

NN~ N

NSS305

2 Piece Straight Stair Brace - Bottom Step @

BEAD RECEIVER
(installer to attach to

Included Stair Hardware

existing pool walls)

1 149271 3/8" x 18" Rebar - Bundle of 20

40 149664 3/8" Washer Head Hex Nut

(optional)

42VS1290

(optional)

12' x 90° Nexus Full End Stair w/ Variable Sundeck

40 149670 3/8" x 1 1/4" Washer Head Hex Bolt

40 42999 15/8" Clip Screw

EONN

1 TEK75 Tek Screws - Pack of 75

BEAD ]

|
143 |
@;\DII@IHI @II@III

BEAD

6 NSS1112 Large Nexus Brace Clip

RECEIVER

(installer to attach to BEAD

7 NSS8BR 8' Bead Receiver

existing pool walls) RECEIVER

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

|
S/

@ VARIABLE
(Installer must

®

specify size)

RECEIVER
(installer to attach to
existing pool walls)

42VS1290-  "SD

|
BEAD —/

| o =Es |

| 143 |
|

| RECEIVER
LI 1 ®1 1
48"

L1 1® ]
48"

LI® 1 1 |
48"

1

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

|
A

1.
1% (Installe

VARIABLE

1

r must specify size) 145

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




4231490

Count | PART# DESCRIPTION LETTER
12 | NSS100 42" Step Riser (B)
3 | Nss107 42" Stair Brace Wall Insert (H)
6 NSS308 36" Sundeck / Stair Brace Extension (T)
3 NSS304 2 Piece Straight Stair Brace - Top Step @
3 NSS305 2 Piece Straight Stair Brace - Bottom Step @

Included Stair Hardware
1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut -
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -
40 42999 1 5/8" Clip Screw ---
1 TEK75 Tek Screws - Pack of 75 -
6 NSS1112 Large Nexus Brace Clip ---
8 NSS8BR 8' Bead Receiver ---

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

42VS1490-  "SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

BEAD
RECEIVER
(installer to attach to
existing pool walls)

14' x 90° Nexus Full End Stair w/ Variable Sundeck
42\/S1490

BEAD RECEIVER (optional) (optional) (optional)

(installer to attach to
existing pool walls)

1 e Yo

BEAD

RECEIVER VARIABLE

(Installer must
specify size)

o 9
D

HONE

L ® 1 |

R

!
: |

4— | |
|O||I| L1®1 11 1 1®1 11
42" L 42"

BEAD

RECEIVER
L ® |

N
§:
ﬁ?

141 VARIABLE 141,,
[ 2 (Installer must specify size)
—
e
' 3
mTA

BEAD
RECEIVER
(installer to attach to
existing pool walls)

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

ALWAYS SPECIFY

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Imperial
POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS1690

16' x 90° Nexus Full End Stair w/ Variable Sundeck

Count | PART# DESCRIPTION LETTER
12 | NSS136 48" Step Riser (A)
3 | Nss107 42" Stair Brace Wall Insert (H) 42VS 1 690
6 NSS308 36" Sundeck / Stair Brace Extension (T)
3 NSS304 2 .Plece Stljalght SFalr Brace - Top Step @ (optional) BEAD RECEIVER (optional) (optional)
3 | NSS305 2 Piece Straight Stair Brace - Bottom Step (D) (installer to attach to
existing pool walls)
Included Stair Hardware - - — - - - - - - —
1 149271 3/8" x 18" Rebar - Bundle of 20 l
70 149664 3/8" Washer Head Hex Nut @ 14k qv) @
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt \ 2 /
o 7550 5"l Soraw L1 ® 1 L1® 1l L1® ] 1 L1® ) 1
1 TEK75 Tek Screws - Pack of ?5 BEAD | T | BEAD _/ | BEAD
6 NSS1112 Large Nexus Brace Clip RECEIVER RECEIVER RECEIVER
9 NSS8BR 8' Bead Receiver (installer to attach to VARIABLE (installer to attach to
existing pool walls) (Installer must existing pool walls)

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

specify size)

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

L1® 1 1 L® 1 |

D

| L1® 1 1

||®|||| I|

; 0

e |

| | 143 | recenver |
I S N T T 1 2 1 I I Y 0 T 1 OO I I
. 48" . 48" . 48" . 48" :
42V 51690 " SD
- 14l VARIABLE 14l
=72 (Installer must specify size) 2 ]
M1 R
_ _ N &'
1) Steel braces will be attached BETWEEN sections on step treads. | —— _|
End flanges on adjoining step risers will create a pocket to insert A 3.
the steel brace. || = 10§
2) Steel braces NSS304 & NSS305 bolted together will create the | | l ____________ _| 40"
standard NSS147 brace for full end step units. | | T A 3.
3) Installer must specify the measurement of the sundeck area to - 10§
ensure proper liner fit. | | ! - _|
4) This Modular Step Unit can be made with 6" Radius Corners by | ] A 3,
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 10§
One required per feature that must be cut to size. ALWAYS L] ° !
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Imperial
POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS1890

Count | PART# DESCRIPTION LETTER
3 NSS136 48" Step Riser (A)
12 | NSS100 42" Step Riser (B)

4 | Nss107 42" Stair Brace Wall Insert (H)
8 NSS308 36" Sundeck / Stair Brace Extension

4 | NSS304 2 Piece Straight Stair Brace - Top Step (@)
4 | NSS305 2 Piece Straight Stair Brace - Bottom Step (D)

BEAD RECEIVER
(installer to attach to

Included Stair Hardware

existing pool walls)

42VS1890

(optional) (optional) (optional)

18' x 90° Nexus Full End Stair w/ Variable Sundeck

(optional)

|
| @IOI |14|_| @I@I

L1 @I@III/

1 149271 3/8" x 18" Rebar - Bundle of 20 -
70 149664 3/8" Washer Head Hex Nut -
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 1 5/8" Clip Screw ---
1 TEK75 Tek Screws - Pack of 75 ---

NSS1112 Large Nexus Brace Clip ---
9 NSS8BR 8' Bead Receiver ---

RECEIVER
(installer to attach to

existing pool walls)

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

VARIABLE @
(Installer must

specify size)

BEAD
RECEIVER

BEAD
RECEIVER
(installer to attach to
existing pool walls)

42VS1890-  "SD

@
EONE <>ID|®|| q)l()IOIII ﬁ?l@l

: BEAD —/

RECEIVER |
L1 ® |

11 I|®||| |

|
L1 1®1 1
48"

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

VARIABLE

I_14 (Installer must specify size) 14_
o

B

|O|”|I| ||®|A

| 42" |

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial | o

WHEN ORDERING THE
P O O L S POOL AND LINER.

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 2 2
RESIDENTIAL INGROUND SWIMMING
POOLS




42VS2090

Count | PART# DESCRIPTION LETTER

15 | NSS136 48" Step Riser (A)

4 | Nss107 42" Stair Brace Wall Insert (H)

8 NSS308 36" Sundeck / Stair Brace Extension (T)

4| NSS304 2 Piece Straight Stalr Brace - Top Step (D) 20' x 90° Nexus Full End Stair w/ Variable Sundeck

4 NSS305 2 Piece Straight Stair Brace - Bottom Step @ 42V82090

Included Stair Hardware BEAD RECEIVER (optional) (optional) (optional) (optional) . BEAD RECEIVER

1 149271 3/8" x 18" Rebar - Bundle of 20 - (installer to attach to (installer to attach to
70 149664 3/8" Washer Head Hex Nut - existing pool walls) existing pool walls)
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - |\ — — — *—l i e A 5 - l; _____
40 42999 1 5/8" Clip Screw - |

1 TEK75 Tek Screws - Pack of 75 -- (V;\D (V;\D 142 (V;\D @;@

6 NSS1112 Large Nexus Brace Clip -- \l KON L 1 ® 1 1 L 1 ® 1 L1 ® 1 L1 ® 1 /
10 NSS8BR 8' Bead Receiver -- )— BEAD | | |

NOTE: This Modular Step Unit comes with Bead Receiver
(NSS8BR) to accomodate sundecks up to 8' in width.

PLEASE PROVIDE SUNDECK

RECEIVER
(installer to attach to
existing pool walls)

®
D

e Pren P $ian

@ specify size) @

_/ | BEAD
BEAD ﬁ_) RECEIVER

@ VARIABLE @ RECEIVER
(Installer must

(installer to attach to
existing pool walls)

D

SIZE FOR LINER PRODUCTION | HONEN —L |
| | | 142 | RE?:?\[/DER | |
L1 1®1 0 11 1®yr a0 b a®iha 11 ®r a0 b1 ®y a1 g
L 48" . 48" . 48" . 48" . 48" !
11
42VS2090 - SD A
—_— 142 (Installer must specify size) 143" ‘
] 2
| h;
1) Steel braces will be attached BETWEEN sections on step treads. | | A 10%“
End flanges on adjoining step risers will create a pocket to insert | | ! —————————— —| 40
the steel brace. | | 4 103
2) Steel braces NSS304 & NSS305 bolted together will create the || l . _|8
standard NSS147 brace for full end step units. — 4 3
3) Installer must specify the measurement of the sundeck area to || E 105"
ensure proper liner fit. L] o1
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
-
NOTES FOR INSTALLER: eria I ALWAYS SPECIFY Po ,ymer

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

POOLS

6" OR 90° CORNERS

WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 2 3
RESIDENTIAL INGROUND SWIMMING
POOLS




42551690-0808-08RB

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser [O)
3 NSS107 42" Stair Brace Wall Insert (H)
2 NSS300 48' Sundeck / Bench Riser ()
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser @
3 NSS147 Straight Stair Brace - 14.5" Tread @
2 NSS150 Variable Sundeck Brace @
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O)

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 -
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 15/8" Clip Screw --
1 TEK75 Tek Screws - Pack of 75 --

NSS1112 Large Nexus Brace Clip -
6 NSS8BR 8' Bead Receiver -

Vinyl Works Liner Special Feature Item Numbers

VW42SS1690-0808-08RB-90
VW42SS1690-0808-08RB-6R

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

16' x 90° Nexus Side-by-Side w/ 8' Stair & 8' x 8' Sundeck Right
42551690-0808-08RB

BEAD RECEIVER (optional) (optional) (optional) BEAD RECEIVER
(installer to attach to (installer to attach to \
existing pool walls) existing pool walls)
I l
| 14t W 14k |
|||®||| L ||®|||l LI®1 11 |
| BEAD 7 ~—NSS304 1 | BEAD i
RECEIVER | _ extenslf&) 145" l RECEIVER | |
| BEAD |||||I @111 11
RECEIVER | ]
| (installer to attach to | |1" | BEAD —/ | |
| existing pool walls) 143 RECEIVER |
:I: LI®1 19l 111 ®71 11
|_ = 48" ! 48" L]
| : 81l
: |
| | ]
| @
|
L1l ®© 111 @
L 48" ! 24"
96" ]
" 1. 1. 1. 1. 1.
96 X812 Sundeck | 142‘) |—142 —|—142 —]—142 _I

the steel brace. l_ 1 7..

2) Steel braces NSS304 & NSS305 bolted together will create the 1. . _| | 8 o | |
standard NSS147 brace for full end step units. 19 | | - h | |

3) Installer must specify the measurement of the sundeck area to | | 10g" — |
ensure proper liner fit. — _ |_ — !

4) This Modular Step Unit can be made with 6" Radius Corners by | | 3. | |
installing the optional 6"R foam corner insert (GLAUC4442NT). 3 o | | 8 | |
One required per feature that must be cut to size. ALWAYS ZOZ" B 22%" | | I_ N~ | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND || 10%- | |
LINER. ° L] . L

NOTES FOR INSTALLER: ALWAYS SPECIFY P o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE

POOL SYSTEM

POOL AND LINER.

ISPSC 2024 STANDARDS FOR

POOLS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

RESIDENTIAL INGROUND SWIMMING 24




42551690-0808-08LB

Count PART# DESCRIPTION LETTER

[ee]

NSS136 48" Step Riser

0)

NSS107

(H)

42" Stair Brace Wall Insert

NSS300 48' Sundeck / Bench Riser

)]
NSS302 24" Sundeck / Bench Riser M

NSS303 2'RR Sundeck / Bench Riser

NSS147 Straight Stair Brace - 14.5" Tread

NSS150 Variable Sundeck Brace

NSS304 2 Piece Straight Stair Brace - Top Step

N[R[N|W[FR|FR[N]W

NSS306 (04N296-3) 24" Sundeck / Bench Brace

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 -

70 149664 3/8" Washer Head Hex Nut ---

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---

40 42999 1 5/8" Clip Screw ---

1 TEK75 Tek Screws - Pack of 75 ---

NSS1112 Large Nexus Brace Clip ---

6 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

VIW42SS1690-0808-08LB-90
VW42SS1690-0808-08LB-6R

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

16' x 90° Nexus Side-by-Side w/ 8' Stair & 8' x 8' Sundeck Left

BEAD RECEIVER
(installer to attach to
existing pool walls)

42551690-0808-08LB

(optional)

(optional)

(optional)

[
q))u%" RECEIVER W
L1 ®) 1 TIHEONEN

_

BEAD

||®|||/

BEAD
RECEIVER

L1® 1 1

1

L.
l 145

NSS304 ——
extension

BEAD
RECEIVER

L1® 1

A

| 143"

|}|®| L]

r——————

1,
L1 ®1 1
1 48"

48"

BERN

BEAD &

RECEIVER
(installer to attach to
existing pool walls)

BERN

06"
96" X 815" Sundeck

22

Bl

20

ENToV)

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

1al

POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

25




42551690-0808-06RB

16' x 90° Nexus Side-by-Side w/ 8' Stair & 8' x 6' Sundeck Right

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser [O) 42881690'0808'O6RB
3 NSS107 42" Stair Brace Wall Insert (H) .
1 NSS300 48' Sundeck / Bench Riser [®) BEAD RECEIVER (optional) (optional) (optional) v
2 NSS302 24" Sundeck / Bench Riser M (installer to attach to (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser @ existing pool walls) existing pool walls)
3 NSS147 Straight Stair Brace - 14.5" Tread @ o D D - -
2 NSS150 Variable Sundeck Brace @ |
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ON) 142 <U> @ @ 1 (liD |
|\||@||| L1®] 1 L1 ® ] L1I®1 11 1]
Included Stair Hardware | BEAD RECEIVER :': 48" :': ——NSS304 |1 i BEAD _/ | |
1 149271 3/8" x 18" Rebar - Bundle of 20 (installer to attach to — extension 145" RECEIVER |
70 149664 3/8" Washer Head Hex Nut | existing pool walls) | [ O T 1 ® 1 L 1™ 1 | I
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | | | BEAD _ | |
40 42999 15/8" Clip Screw | | | M)s 14} RECEIVER |1
1 TEK75 Tek Screws - Pack of 75
NSS1112 Large Nexus Brace Clip | st | | | | @ | | : | 1 @ | 1 1 'I |
6 NSS8BR 8' Bead Receiver | | - _®_ —1 48 48 |
|
| R2'
: . , | P
Vinyl Works Liner Special Feature Item Numbers TN © Ll ™ 373"
VIW42SS1690-0808-06RB-90 . o . o
VIW42SS1690-0808-06RB-6R
72" 1
96" x 573" Sundeck 14—"~‘ 145141141
2 2 [ "2 2 2 1
- M1 M1
1) Steel braces will be attached BETWEEN sections on step treads. | | | |
End flanges on adjoining step risers will create a pocket to insert 19l-- - | —_—— |
the steel brace. 4 h || h ||
2) Steel braces NSS304 & NSS305 bolted together will create the l i
standard NSS147 brace for full end step units. — —_——_————— - — — | | —_ — | | |
3) Installer must specify the measurement of the sundeck area to | | h | |
ensure proper liner fit. 3 e} | i |
4) This Modular Step Unit can be made with 6" Radius Corners by 202" 223.. — — |
installing the optional 6"R foam corner insert (GLAUC4442NT). 4 || ||
One required per feature that must be cut to size. ALWAYS o | | | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND [ ] ||
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO

RESIDENTIAL INGROUND SWIMMING

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

26

POOLS




' o : : ' : ' '
conl soRTON ——= 16'x 90° Nexus Side-by-Side w/ 8' Stair & 8' x 6' Sundeck Left
8 NSS136 48" Step Riser [O)
3 NSS107 42" Stair Brace Wall Insert (H) 42581690'0808'06 LB
1 NSS300 48' Sundeck / Bench Riser ()
2 NSS302 24" Sundeck / Bench Riser (@) BEAD RECEIVER (optional) (optional) (optional) _ BEAD RECEIVER
1 NSS303 2'RR Sundeck / Bench Riser ®) (installer to attach to (installer to attach to
3 NSS147 Straight Stair Brace - 14.5" Tread @ existing pool walls) existing pool walls)
2 NSS150 Variable Sundeck Brace @ __________________________
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) // l \
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace Y
o=y . ® © Ow
A A A
e Ll 1 ® ] ] | | HONE L1 ®T 1 L |046|" L1 |
1 149271 3/8" x 18" Rebar - Bundle of 20 | | BEAD / NSS304 —— BEAD _i |
" | 14 extension
70 149664 3/8" Washer Head Hex Nut | RECEIVER 2 — _( : )_ RECEIVER |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | [ @ I | _/ i | O I }_ —| | BEAD RECEIVER ~Jd |
40 42999 15/8" Clip Screw | | | (installer to attach to
1 TEK75 Tek Screws - Pack of 75 | | REaeR | 143 24'(M) | | existing pool walls) |
NSS1112 Large Nexus Brace Clip | | | | @ 1 | | I | I | @ 1 1 | | | st |
6 NSS8BR 8' Bead Receiver L ) \ o 2
{% — | |
I
Vinyl Works Liner Special Feature Item Numbers 37_ |
4
VW42SS1690-0808-06LB-90 @™ 411 © 11 1]
24" 48" I
VW42SS1690-0808-06LB-6R ¢
T 72"
14314k 41 }7141" 96" x 573" Sundeck
[ =72 2 2 1 2 2
_ —
- - 1 7. 1
1) Steel braces will be attached BETWEEN sections on step treads. | | 88 | |
End flanges on adjoining step risers will create a pocket to insert | F—— —| | F—— 19%--
the steel brace. A 103,, A
2) Steel braces NSS304 & NSS305 bolted together will create the || 8 ||
standard NSS147 brace for full end step units. | | l _— —I 40" | | l ——————————— —
3) Installer must specify the measurement of the sundeck area to | | A 103,, | |
ensure proper liner fit. || i 8 || o 3
4) This Modular Step Unit can be made with 6" Radius Corners by L} — — —| i ZOZ"
installing the optional 6"R foam corner insert (GLAUC4442NT). | | ° 103,, | |
One required per feature that must be cut to size. ALWAYS | | 8 || o
SPECIFY CORNERS WHEN ORDERING THE POOL AND L] ° I L |
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

27




42551690-0610-08RB

16' x 90° Nexus Side-by-Side w/ 6' Stair & 10' x 8' Sundeck Right

425S51690-0610-08RB

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser (D)
2 NSS169 24" Step Riser © — BEAD RECEIVER (optional) (optional) (optional) BEAD RECEIVER
3 NSS107 42" Stair Brace Wall Insert (H) g;‘lss‘;‘r':;';goj‘“vj;rs)‘o (";itli:ﬁétgof}ivc;fs‘;
3 NSS300 48' Sundeck / Bench Riser @ _______________________
1 NSS303 2'RR Sundeck / Bench Riser @ \
3 NSS147 Straight Stair Brace - 14.5" Tread (@) | C) [\
2 NSS150 Variable Sundeck Brace @ | 14:‘2L" w 14%" |
1 NSS304 2 Piece Straight Stair Brace - Top Step | (W) | N| 1 ® ] 1 L1® 1 1 LI®1 1 LI® 1 1] |
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace () | } BEAD | BEAD _/ | ——NSS304 | BEAD _/ | ||
RECEIVER extension 143
| (installer to attach to | RECEIVER I_ _®_ =7 © rECIENEIR @ [ 11 |2 I |
Included Stair Hardware existing pool walls) | | —] ! i
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | | _] | BEAD _/ 14k | |
70 149664 3/8" Washer Head Hex Nut -- | RECEIVER 2 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- :I: :I: g? ! || @ 4!3" - | J
40 42999 1 5/8" Clip Screw |— (I; 48"
1 TEK75 Tek Screws - Pack of 75 -- | a1dr |
6 NSS1112 Large Nexus Brace Clip - | | 2 | _
6 NSS8BR 8' Bead Receiver - | | |
| | -
|
Vinyl Works Liner Special Feature Item Numbers |
VW42SS1690-0610-08RB-90 1111 © 11111 © 11
VW425S51690-0610-08RB-6R ' 48" ' 48"
96"
1) Steel braces will be attached BETWEEN sections on step treads. 120" x 81=" Sundeck 14—"4 14—"—|—14—"—|—14—"
End flanges on adjoining step risers will create a pocket to insert — 2 ! 2 M — =" z 2 _||—|
the steel brace. 81"
2) Steel braces NSS304 & NSS305 bolted together will create the 1. _ _| | 18_ . _| |
standard NSS147 brace for full end step units. 194 h | | 3 h | |
3) Installer must specify the measurement of the sundeck area to - || 10§ - ||
ensure proper liner fit. — _ - - — — ! || 40" |— — ! ||
4) This Modular Step Unit can be made with 6" Radius Corners by 103.. h
installing the optional 6"R foam corner insert (GLAUC4442NT). 3 o | | 8 i | |
One required per feature that must be cut to size. ALWAYS 207" L 22%” | | N = | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND 103"
o || 8 ||
LINER. L] | . L]
NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

6" OR 90° CORNERS

POOL SYSTEM

I m pe ri al ALWAYS SPECIFY Po,ymer

POOLS | “Foorann iner. | St
) ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING

POOLS

28




' o H H ' H ' '
425S51690-0610-08LB 16' x 90° Nexus Side-by-Side w/ 6' Stair & 10" x 8' Sundeck Left
Count PARTH# DESCRIPTION LETTER 42881690-0610-08'_8
6 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser © _ . .
— BEAD RECEIVER ~ (optional) (optional) (optional)  BEAD RECEIVER
3 NSS107 42" Stair Brace Wall Insert Q'D (installer to attach to (installer to attach to
3 NSS300 48' Sundeck / Bench Riser @ existing pool walls) existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser @ —_—_———unS—_—_——_— Y S —_—— - — — — ) —_—— —— —
3 NSS147 Straight Stair Brace - 14.5" Tread @ 4 |
2 NSS150 Variable Sundeck Brace @ | 14 @ d) @ @ 141 |
1 NSS304 2 Piece Straight Stair Brace - Top Ste W 2 2
2 | NSS306 (04N296-3) 24" Sur?deck/ Bench Bracs ; %Y% | I Qé)/ L | Ll @ I 2:.. Ll @ I _I/ I | L @ Ll / |
NSS304 —=
| |REE(;:EE/T\I/)ER 14% extension | _@_ - RE%EE?\I,DER | _ RE?:IE?\IIDER |
Included Stair Hardware | L RONHIN © (installer to attach to |
- - L | | existing pool walls)
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | sero _/ [ |
70 149664 3/8" Washer Head Hex Nut RECENER 14k | — | |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | HONHIN 1 © |
40 42999 1 5/8" Clip Screw L 48" : 24— @ :I: :i: _|
1 TEK75 Tek Screws - Pack of 75 -- | |
6 NSS1112 Large Nexus Brace Clip - 81%" |
6 NSS8BR 8' Bead Receiver - — : : |
- | |
|
Vinyl Works Liner Special Feature Item Numbers éb éb :
VIW42SS1690-0610-08LB-90 L1l © 11t © 111}
VW42551690-0610-08LB-6R i y . y ;
) 96"
1) Steel braces will be attached BETWEEN sections on step treads. 1., 1., 1,, P 1. . 1.
End flanges on adjoining step risers will create a pocket to insert l_14 14 14 ‘ 142 [ 120" x 812 Sundeck -
the steel brace. 1 7. 1
2) Steel braces NSS304 & NSS305 bolted together will create the | | 8g | |
standard NSS147 brace for full end step units. | ] - — | |_ - 19;11"
3) Installer must specify the measurement of the sundeck area to 4 103" 4
ensure proper liner fit. | | l _|8 . | | l ____________ o ]
4) This Modular Step Unit can be made with 6" Radius Corners by | | — 3 40 | | o
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 105" | | o
One required per feature that must be cut to size. ALWAYS || — —| | 22§.. 20%"
SPECIFY CORNERS WHEN ORDERING THE POOL AND ° 103,, 4 7
LINER. | | 8 | | o
L 2 L
NOTES FOR INSTALLER: ALWAYS SPECIFY P o , ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS

WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42551690-0610-06RB

16' x 90° Nexus Side-by-Side w/ 6' Stair & 10' x 6' Sundeck Right

Count PART# DESCRIPTION LETTER
T s = s 0 42551690-0610-06RB worcave
2 NSS169 24" Step Riser © (installer to attach to
3 NSS107 42" Stair Brace Wall Insert (H) existing pool walls)
2 NSS300 48' Sundeck / Bench Riser @ BEAD RECEIVER (optional) (optional) (optional)
1 NSS302 24" Sundeck / Bench Riser @ (installer to attach to
1 NSS303 2RR Sundeck / Bench Riser ® existing pool walls)
3 NSS147 Straight Stair Brace - 14.5" Tread w |l -——,—-—— - —
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) ll © 1
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) 145" W 143"
NI 1 ® INEONIN L1®T 11 LI® 110

| |

| | |

Included Stair Hardware | BEAD NS BEAD B N eemo L 4|1.. ||

1 149271 3/8" x 18" Rebar - Bundle of 20 | , [R”ECtE'VﬁR . RECEIVER RECEIVER 2 |

70 149664 _3/8" Washer Head Hex Nut | (g‘js"’t‘ineg’ p%gl \:‘;"S)O | 1 © L1 1® | |

70 149670 3/8"x11/4 Washer Head Hex Bolt | ) | \ BEAD . | |

40 42999 15/8" Clip Screw | | 24 | RECElVER 142"

TEK75 Tek Screws - Pack of 75 | | 1, © 1 1 O | |
NSS1112 Large Nexus Brace Clip | 573 24" 1 I_l
6 NSS8BR 8' Bead Receiver | | B
|
, , . |
Vinyl Works Liner Special Feature Item Numbers L] | ) L1 ) | |
VW42SS1690-0610-06RB-90 - 48" ! e
VW42SS1690-0610-06RB-6R
72"
" 1. _..“ 1. 1. 1.
120" x 572 Sundeck—r—142 l——142 —]-—142 —]-—142 —]
B 1 ‘ 7‘

1) Steel braces will be attached BETWEEN sections on step treads. 1 | | 8§ | |
End flanges on adjoining step risers will create a pocket to insert 192" _ — | = — |
the steel brace. | | 103" | |

2) Steel braces NSS304 & NSS305 bolted together will create the l || 8 ||
standard NSS147 brace for full end step units. . [ . 40" |_

3) Installer must specify the measurement of the sundeck area to || 103" ||
ensure proper liner fit. 3, |° 3 | | 8 | |

4) This Modular Step Unit can be made with 6" Radius Corners by ZOZ u 222" || |_ \ - ||
installing the optional 6"R foam corner insert (GLAUC4442NT). 103"

One required per feature that must be cut to size. ALWAYS o || |8 . ||
SPECIFY CORNERS WHEN ORDERING THE POOL AND [ | [ |
LINER.

NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE

POOL SYSTEM

POOL AND LINER.

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42551690-0610-06LB

16" x 90° Nexus Side-by-Side w/ 6' Stair & 10" x 6' Sundeck Left

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser EA% BEAD RECEIVER 42881690_0610_06 LB
2 NSS169 24" Step Riser C (installer to attach to
3 NSS107 42" Stair Brace Wall Insert [©) existing pool walls) . ‘
2 NSS300 48' Sundeck / Bench Riser [(®) (optional) (optional) (optional)  BEAD RECEIVER

1 NSS302 24" Sundeck / Bench Riser (D) (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser ® existing pool walls)
3 NSS147 Straight Stair Brace - 14.5" Tread @ _ -_—_——- T Y- Y- -0y gy - ---—— - — —
2 NSS150 Variable Sundeck Brace (V) E l l

1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) | 14k @ @ 14k |
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™ 2 2

I L1 ® ] gl L1®T1 11 L1® 1 ||®|||/|

| " |

; | | BEAD D NSS304 — 24 _/ BEAD

Included Stair Hardware | Iy 14k | extension N AN REae AN RECEIVER |
1 149271 3/8" x 18" Rebar - Bundle of 20 [ | A [ ] l | I © I’ _( : >_ —l | (installer to attach to |
70 149664 3/8" Washer Head Hex Nut | existing pool walls) |

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | BEAD |1" | | | |
40 42999 15/8" Clip Screw RECEIVE] 145 | Q) | | |
TEK75 Tek Screws - Pack of 75 N EEORNIE | © | | s |

NSS1112 Large Nexus Brace Clip |_} 48" ! 24" ( ) 2
6 NSS8BR 8' Bead Receiver _| | :
R2' |
s |
Vinyl Works Liner Special Feature Item Numbers 373"

Y P 4\||®|||||®||||
VW42SS1690-0610-06LB-90 48" ! 48" !
VW42SS51690-0610-06LB-6R

72"
14345141 143 120" x 574" Sundeck———
[ =72 2 21 2 2
M1 I 1 T
N 85’ N
1) Steel braces will be attached BETWEEN sections on step treads. o _|8 o 1.,

End flanges on adjoining step risers will create a pocket to insert | I_ 3 | I_ A 1971,
the steel brace. | | 10g" | | -

2) Steel braces NSS304 & NSS305 bolted together will create the || _I " || l ________ o ]

standard NSS147 brace for full end step units. || 3 40 || o
3) Installer must specify the measurement of the sundeck area to 10§" o
ensure proper liner fit. || _ _| || 3. 203--

4) This Modular Step Unit can be made with 6" Radius Corners by | | A 3 | | 2221 - 4
installing the optional 6"R foam corner insert (GLAUC4442NT). || 10§" ||

One required per feature that must be cut to size. ALWAYS R | o
SPECIFY CORNERS WHEN ORDERING THE POOL AND L L1
LINER.

NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42551890-0612-06LB

Count PART# DESCRIPTION LETTER , o . . , . , ,
6 NSS136 48" Step Riser ® 18' x 90° Nexus Side-by-Side w/ 6' Stair & 12' x 6' Sundeck Left
3 NSS169 24" Step Riser © 42881890 0612 06|_B
4 NSS107 42" Stair Brace Wall Insert (H) - -
2 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @ (optional) (optional) (optional) BEAD RECEIVER (optional)
1 NSS303 2RR Sundeck / Bench Riser ® BEAD RECEIVER (installer to attach to
4 NSS147 Straight Stair Brace - 14.5" Tread @ /_ (installer to attach to existing pool walls)
3 NSS150 Variable Sundeck Brace (V) — axstingpooiwalle) L o e — — —_ _——— _
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) Y | I
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) | 14l U @ @ @ 14l @ |
2 2
|I‘\I®IIII LI ®] 1] ||@\||| INEONI ©/|
Included Stair Hardware NSS301—= 48'——| BEAD R BEAD
1 149271 3/8" x 18" Rebar - Bundle of 20 — | REBcEE/T\I/)ERL%" extension O X RECEVER R . tR’l:EC:EIVER i [\: |
" o 1 Installer to attach to
70 149664 3/8" Washer Head Hex Nut - | I 1 1 @ | 1 | | © l— existing pool walls) |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- | | \ | | |
40 42999 15/8" Clip Screw = RECENER 143" 20 (W)
1 TEK75 Tek Screws - Pack of 75 — |l L 1A 1l I © . |
6 NSS1112 Large Nexus Brace Clip - o —y >3 |
7 NSS8BR 8' Bead Receiver -- |
|
Vinyl Works Liner Special Feature Item Numbers 11 © 11111 © 111 & ||
VIW42SS1890-0612-06LB-90 48" : 48" : 24" !
VIW42SS1890-0612-06LB-6R -
143143941 143 144" x 573" sundeck———
[ 72 2 21 2 2
[ ] 1 ]
_ _ || % || .
1) Steel braces will be attached BETWEEN sections on step treads. | |_ - A — | |_ - A 192"
End flanges on adjoining step risers will create a pocket to insert (| 103-- (|
the steel brace. || l . _|8 . | l _______ ___ |
2) Steel braces NSS304 & NSS305 bolted together will create the | | — A 3 40 | | —
standard NSS147 brace for full end step units. || ] lOg" || o
3) Installer must specify the measurement of the sundeck area to l — _I 223" 203--
ensure proper liner fit. || - . 3. || 4 T 4
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10§ || o
installing the optional 6"R foam corner insert (GLAUC4442NT). | | ° : | |
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY P o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

POOL AND LINER.

32




42551890-0612-06RB

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser ©
4 NSS107 42" Stair Brace Wall Insert (H)
2 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread @
3 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 15/8" Clip Screw --
1 TEK75 Tek Screws - Pack of 75 -
6 NSS1112 Large Nexus Brace Clip -
7 NSS8BR 8' Bead Receiver -

Vinyl Works Liner Special Feature Item Numbers

VW42SS1890-0612-06RB-90
VW42SS1890-0612-06RB-6R

18' x 90° Nexus Side-by-Side w/ 6' Stair & 12' x 6' Sundeck Right

(optional)

(optional)

42551890-0612-06RB

(optional)

(optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)

\

||®®|| @I ONN

143"

2
| |

[y
1

V
77

BEAD
RECEIVER
(installer to attach to
existing pool walls)

<:>

BEAD N

RECEIVER R C .

——NSS304

]
N

BEAD

©

RECENVER 141 |

L1 ® 1 1 [

N

I
extension l

i BEAD

|

1

©

RECEIVER 145"

|1|

24"

24"

1. 1.

2
LI® 1 0]
48"

L

144" x 572 |—14§"—|—142 —|—142 7
B M1 _8'17 M1
A —
4 NT | Lk N
1) Steel braces will be attached BETWEEN sections on step treads. i | | 8 i | |
End flanges on adjoining step risers will create a pocket to insert — [ L | | 40" |_ - T | |
the steel brace. o B 10%.. |
2) Steel braces NSS304 & NSS305 bolted together will create the 20§,. 3 |_ _
standard NSS147 brace for full end step units. 4 F 2221 | | 3, |° ||
3) Installer must specify the measurement of the sundeck area to o | | 105" | |
ensure proper liner fit. | | | . | |
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

33




42551890-0612-08LB

18' x 90° Nexus Side-by-Side w/ 6' Stair & 12' x 8' Sundeck Left
42551890-0612-08LB

Vinyl Works Liner Special Feature Item Numbers

VW42SS1890-0612-08LB-90

© 11 ™

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser <C> (optional) (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert (H) _BEAD RECEIVER
3 NSS300 48" Sundeck / Bench Riser (@) O ating ooal s
1 NSS302 24" Sundeck / Bench Riser @ _____ D A = = T T
1 NSS303 2'RR Sundeck / Bench Riser (@) [ | | |
4 NSS147 Straight Stair Brace - 14.5" Tread @ | 14%" qJ) @ (LID @ 1 4%,. qb |
3 NSS150 Variable Sundeck Brace [O) | L 1 ® 1 11 RO | L 1T ® 1 1 1 1 ® 1 1 1 CCM |
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) BEAD 1 | NSS304 —— " BEAD Z | |
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace (Y) | | RECEIVER 14%" l extension RECEIVER | BEAD RECEIVER |< |
LLL® | L1 © | ot pos | |
Included Stair Hardware | | B0 Lol | | | |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- 2
70 149664 3/8" Washer Head Hex Nut --- | - @ |" l I l ! © :I: :i: |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt L 8 g —I
40 42999 1 5/8" Clip Screw - | ol
TEK75 Tek Screws - Pack of 75 - | P
NSS1112 Large Nexus Brace Clip - |
7 NSS8BR 8' Bead Receiver - |
|
1

VW42SS1890-0612-08LB-6R

1) Steel braces will be attached BETWEEN sections on step treads.

<:>

48" 24"

1.
142
1

96"
144" x 81%" Sundeck

End flanges on adjoining step risers will create a pocket to insert (| _71_ _I
the steel brace. || 8§" ||
2) Steel braces NSS304 & NSS305 bolted together will create the | l_ — — | l_ 1921:-
standard NSS147 brace for full end step units. 4 103.. 4
3) Installer must specify the measurement of the sundeck area to | | l 8 | | l
ensure proper liner fit. | | — _|3 40" | | = T T T T T T T T T T T ]
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10§" | | °
installing the optional 6"R foam corner insert (GLAUC4442NT). | — _I | 223" 20%..
One required per feature that must be cut to size. ALWAYS o 3. 4 T
SPECIFY CORNERS WHEN ORDERING THE POOL AND || 105 || o
LINER. L1 ! L1
NOTES FOR INSTALLER: ALWAYS SPECIFY Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




PERIMETER PANELS WILL

6" OR 90° CORNERS

POOL SYSTEM

1 o H H 1 H 1 ' H
42SS1890-0612-08RB 18' x 90° Nexus Side-by-Side w/ 6' Stair & 12' x 8' Sundeck Right
Count PART# DESCRIPTION LETTER 42881890'0612'08RB
6 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser (c) (optional) (optional) (optional) (optional) BEAD
o N BEAD RECEIVER — RECEIVER
4 NSS107 42" Stair Brace Wall Insert Q-D (installer to attach to j (installer to attach to \
3 NSS300 48' Sundeck / Bench Riser L - _____existing pool walls) - - _existing pool walls)
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®) | é [\
4 NSS147 Straight Stair Brace - 14.5" Tread @ | 143_2L-~ W 1 4%,. |
3 NSS150 Variable Sundeck Brace [O) | \ © HEONI 1L L 1 1 L1 ® [ | L1®y 4] |
1 NSS304 2 Piece Straight Stair Brace - Top Step gv\/% | [ seAD  —~ | | - NSS304 | BEAD  —~ |l ]
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace Y | RECEIVER | I_ C) — extension l RECEIVER 143"
C A
| BEAD RECEIVER | | — © ! L1 ® | _I/ L |

Included Stair Hardware | (installer to attach to BEAD | | |
1 149271 3/8" x 18" Rebar - Bundle of 20 | | existing poo ) | | T | RECRVER g |

70 149664 3/8" Washer Head Hex Nut --- :i: :i: :I: © ! - @ AI.. - l J

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --- |— @ g 8

40 42999 1 5/8" Clip Screw | | gl |

TEK75 Tek Screws - Pack of 75 | | | F | |
NSS1112 Large Nexus Brace Clip --- | | | |
7 NSS8BR 8' Bead Receiver | | | B -
|
|

Vinyl Works Liner Special Feature Item Numbers | | .

VW42SS1890-0612-08RB-90 1L ® 111 © 1111 © 91 !

VW42SS1890-0612-08RB-6R 2 * *

96" i
; ; " 1. 1. 1. 1. 1.

1) Steel braces will b_e 'at.tached BETWEEN sections on step t_reads. 144" x 812 Sundeck I 142 ~‘ |——l42 —|-—l42 —|-—142 —
End flanges on adjoining step risers will create a pocket to insert — M — M
the steel brace. N gl ||

2) Steel braces NSS304 & NSS305 bolted together will create the 191,, _ 1 18_ !
standard NSS147 brace for full end step units. 4 h | | 3., h | |

3) Installer must specify the measurement of the sundeck area to 1 | | 10§ 1 | |
ensure proper liner fit. — _——-—-——— — — ! | 40" |— — ! | |

4) This Modular Step Unit can be made with 6" Radius Corners by 10§.. L
installing the optional 6"R foam corner insert (GLAUC4442NT). 3. o 3 | | 8 l | |
One required per feature that must be cut to size. ALWAYS 207" L 225" | | = = | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND || 103" ||

o 8
LINER. | g L1
-
NOTES FOR INSTALLER: I m p e r- I a I ALWAYS SPECIFY P Olymer

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

WHEN ORDERING THE
POOL AND LINER.

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING

POOLS

35




PERIMETER PANELS WILL

6" OR 90° CORNERS

Count PART# DESCRIPTION LETTER
.. : ] (o] H H ] H ] ]
8 NSS136 48" Step Rlser EA% 18' x 90° Nexus Side-by-Side w/ 8' Stair & 10' x 6' Sundeck Left
1 NSS169 " Step Riser C
4 NSS107 42" Stair Brace Wall Insert ") 425S1890-0810-06LB
2 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @ ! ) ! '
- (optional) (optional) (optional) (optional)
1 NSS303 2'RR Sundeck / Bench Riser ® BEAD RECEIVER
3 NSS147 Straight Stair Brace - 14.5" Tread @ / (ins!al!er to attach to %D
2 NSS150 Variable Sundeck Brace (V) __ _Sdstngpoolwalls) ) _ _ _ __ __ __ N R
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) // | l/ l/
NSS306 (04N296-3 "
2 ( ) 24" Sundeck / Bench Brace [O) | Cl? 1 (VID @ @ L |
, |||®||| L1® 1 © L1® 1 11 ||®|||/|
Included Stair Hardware geap —~ | | NSS304 24" R BEAD  —

1 149271 3/8" x 18" Rebar - Bundle of 20 | | RECEIVER 14} extension | N RECEIVER N |

" o o -1 BEAD RECEIVER

70 149664 3/8" Washer Head Hex Nut | Ll | @ 1 1 | l 1 @ 1 1 | |' (naallor 6 atiacn o |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - e | | existing pool walls)

40 42999 15/8" Clip Screw — I REae | 1al D) |
1 TEK75 Tek Screws - Pack of 75 — ] LI®1 1 L1 |2 oY |
6 NSS1112 Large Nexus Brace Clip - |_ - X - 57%" |

- 48 48
7 NSS8BR 8' Bead Receiver --- |
|
) ) . éb |
Vinyl Works Liner Special Feature Item Numbers 1] © 11111 © 11|
VIW42SS1890-0810-06LB-90 48" ' 48" '
VIW42SS1890-0810-06LB-6R 79"
1. 1. 1. 1. " 1.
|_||—142 —-|—142 —-|—142 7 . 142 —-|—120 X 572 Sundeck B
1 Bl y
1) Steel braces will be attached BETWEEN sections on step treads. | | A 3, | | A 19%
End flanges on adjoining step risers will create a pocket to insert || - 10§ || -
the steel brace. | ! — _| 40" || ! _______ - _
2) Steel braces NSS304 & NSS305 bolted together will create the 103,,
standard NSS147 brace for full end step units. | | 8 | | o 3
3) Installer must specify the measurement of the sundeck area to | | - —I | | 22%" _ 20‘—1"
ensure proper liner fit. || ° 103.. |
4) This Modular Step Unit can be made with 6" Radius Corners by . ,8 o
installing the optional 6"R foam corner insert (GLAUC4442NT). Ll L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
-
NOTES FOR INSTALLER: I a I ALWAYS SPECIFY P (o) ,ym er

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

36




42551890-0810-06RB

Count PART# DESCRIPTION LETTER
.. : ' o H H ' H ' ' H
8 NSS136 4" Step Rier % 18' x 90° Nexus Side-by-Side w/ 8' Stair & 10' x 6' Sundeck Right
1 " Step Riser
4 NSS107 42" Stair Brace Wall Insert ©) 42SS1890-0810-06RB
2 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Rléer @ (optional) (optional) (optional) (optional)
1 NSS303 2'RR Sundeck / Bench Riser ® BEAD RECEIVER BEAD RECEIVER
3 NSS147 Straight Stair Brace - 14.5" Tread @ (installer to attach to ﬁD ﬁD (installer to attach to
2 NSS150 Variable Sundeck Brace (V) - . Bxisting pool walls) —_—— ] existing pool walls)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) l/ l/ \\
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) @ 14I1 U W 14|1"
1 1

\ L 1 ® 1 1 |"|O

2
|

| |
, | A1 © LI® 1 11 L1® 11 |
Included Stair Hardware BEAD  —~ R 24" — NSS304 | BEAD —7
1 149271 3/8" x 18" Rebar - Bundle of 20 - |  BEAD RECEIVER Ny RECEIVER NN extension 14 RECEIVER | |
70 149664 3/8" Washer Head Hex Nut - | (”;if:l:ﬁ;‘gofﬁf:”‘s‘; — —( = 1L 1 ® 1 1 1] l L1 A 1 | [ ]
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | | | 1z
40 42999 1 5/8" Clip Screw -- | @ 24" 14%" | REEéEE'T\?ER | |
1 TEK75 Tek Screws - Pack of 75 - | . L1I®1T 11l L1 1® 1 |
6 NSS1112 Large Nexus Brace Clip -- | 575 5 | . J
7 NSS8BR 8' Bead Receiver - |
| éa
|
Vinyl Works Liner Special FeatureltemNumbers || | | | ®© | | | 1[1 © | |
VW42SS1890-0810-06RB-90 © “
VW42SS1890-0810-06RB-6R 7" ,
" 1. 1. 1. 1. 1.
120" x 572 Sundeck—|—142 ‘) |—142 —|—142 —|—142 —
B M1 R M1
_ _ . || % ||
1) Steel braces will be attached BETWEEN sections on step treads. 19‘—1" h - _| | = h - _| |
End flanges on adjoining step risers will create a pocket to insert L] 10%" L
the steel brace. | - l | ; |_ _ l ||
2) Steel braces NSS304 & NSS305 bolted together will create the — | | 40 A — ||
standard NSS147 brace for full end step units. o | | 105" ||
3) Installer must specify the measurement of the sundeck area to 203-- 223,, | | |_ | |
ensure proper liner fit. 4 4 3. |°
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 108 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). | | : ° [ ]
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
-
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42551890-0810-08LB

18' x 90° Nexus Side-by-Side w/ 8' Stair & 10' x 8' Sundeck Left
42551890-0810-08LB

PERIMETER PANELS WILL

6" OR 90° CORNERS

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser A
1 NSS169 24" Stez Riser EC% (optional) (optional) (optional) (optional)
: BEAD RECEIVER BEAD RECEIVER
4 NSS107 42" Stair Brace Wall Insert (@) / (installer to attach to (installer to attach to
3 NSS300 48" Sundeck / Bench Riser L __exstngpoolwalls) | ) - __ &istngpoolwals) | ) _
1 NSS303 2'RR Sundeck / Bench Riser @ i I
3 NSS147 Straight Stair Brace - 14.5" Tread @ q | I
2 NSS150 Variable Sundeck Brace @ | 14%" U 14:'ZL" |
1 NSS304 Z Piece Staight Star Brace -TopSiep | (W) | | | L] @111 IO L1®1 1 U1®1 11/ |
2_|NSS306 (04N296-3) 24" Sundeck / Bench Brace O) X 0~ || NSS304—— geap  — | } |
RECEIVER 145" extension RECEIVER BEAD RECEIVER
| I 11 @ 1 1 | l | |2 | @ 1 1 | i | (installer to attach to |
Included Stair Hardware = | existing pool walls)
e —— T e I | I
" Washer Head Hex Nut --
A A
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - |_ | | O L | | ! Ll O L | | 2|:
- 48" 48" -
40 42999 15/8" Clip Screw - 48 —{
1 TEK75 Tek Screws - Pack of 75 - | g1l
6 NSS1112 Large Nexus Brace Clip - | 2 |
7 NSS8BR 8' Bead Receiver - | |
| | |
|
|
Vinyl Works Liner Special Feature Item Numbers |
VW42SS1890-0810-08LB-90 11 © 11111 © 11|
VW42SS1890-0810-08LB-6R a8 ! 48" -
96"
1) Steel braces will be attached BETWEEN sections on step treads. I_14%"_]_14%--_]_14%---_I P]A%" | 120" x 81%‘" Sundeck
End flanges on adjoining step risers will create a pocket to insert —_ —
the steel brace. 1 BZ" M1
2) Steel braces NSS304 & NSS305 bolted together will create the || | 8 I 1,
standard NSS147 brace for full end step units. | | A _'3 | A 197
3) Installer must specify the measurement of the sundeck area to || — 10§" | | —
ensure proper liner fit. ! — _| 40" ! ____________ I —
4) This Modular Step Unit can be made with 6" Radius Corners by |1 3. |1
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 105 | | o 3
One required per feature that must be cut to size. ALWAYS || — — || 293n J 207"
SPECIFY CORNERS WHEN ORDERING THE POOL AND | | 103.. | | 4
LINER. U B8 U )
-
NOTES FOR INSTALLER: I a I ALWAYS SPECIFY F (o) ,ym er

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

WHEN ORDERING THE POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

POOLS

POOL AND LINER.

38




42551890-0810-08RB

18" x 90° Nexus Side-by-Side w/ 8' Stair & 10" x 8' Sundeck Right
42551890-0810-08RB

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser [O)
1 NSS169 24" Step Riser (C) (optional) (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert H) BEAD RECEIVER — BEAD RECEIVER
- (installer to attach to (installer to attach to
3 NSS300 48' Sundeck / Bench Riser L existing pool walls) existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser P - T j _______ - j ______ j _____ k
3 NSS147 Straight Stair Brace - 14.5" Tread @ I I N
2 NSS150 Variable Sundeck Brace [O) | @ 14%" @ @ 14%" CLP |
1 NSS304 2 Piece Straight Stair Brace - Top Step QN) \ 1 1 @ 1 1 1 1l @ 1 1 1 © 1 1 @ 1 1 1 I 1 1 @ 1 1 1
2 |NSS306 (04N296-3) 24" Sundeck / Bench Brace ) : | sEaD  — 24" ~—NSS304 L] = | :
) BEAD RECEIVER | RECEIVER I_ ( ) = extension 14%" l RECEIVER
Included Stair Hardware | ('Zif:{!ﬁg‘;’;;fa;;l‘;; | | i A OIEEE | L1® 1 11 | |
1 149271 3/8" x 18" Rebar - Bundle of 20 | | | IL | BEAD | |

70 149664 3/8" Washer Head Hex Nut | — 143 RECEIVER |

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt :I: :I: L1 ®1 11 111 ®y

40 42999 1 5/8" Clip Screw @ 75 48" : 48" L]

1 TEK75 Tek Screws - Pack of 75 | |
NSS1112 Large Nexus Brace Clip - | | 813" |
7 NSS8BR 8' Bead Receiver --- | | |

: | u

Vinyl Works Liner Special Feature Item Numbers : é’) @
VW42551890-0810-08RB-90 | LLil © 111
VW42SS1890-0810-08RB-6R ! 48" l

96"
1) ::]edehg:]aces will be attached BETWEEN sections on step treads. 120" x 81%” Sundeck | 14%--“ I__14§--_|_14%n_|__14%n_|
ges on adjoining step risers will create a pocket to insert I —_— I
the steel brace. 81"

2) Steel braces NSS304 & NSS305 bolted together will create the . _| | 8 o _| |
standard NSS147 brace for full end step units. h | | 13_ h | |

3) Installer must specify the measurement of the sundeck area to — | ] 10g" — | ]
ensure proper linerfit. L ____ ! 40" |_ — !

4) This Modular Step Unit can be made with 6" Radius Corners by | | 3., | |
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 10§ | |
One required per feature that must be cut to size. ALWAYS || I— ||
SPECIFY CORNERS WHEN ORDERING THE POOL AND || 10%-- ||
LINER. |

[ | [ |
NOTES FOR INSTALLER: ALWAYS SPECIFY P o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

ISPSC 2024 STANDARDS FOR

RESIDENTIAL INGROUND SWIMMING

POOLS

39




42551890-1008-06LB

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser ©
4 NSS107 42" Stair Brace Wall Insert (H)
1 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread @
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

18' x 90° Nexus Side-by-Side w/ 10" Stair & 8' x 6' Sundeck Left

(optional)

BEAD RECEIVER

existing pool walls)

42551890-1008-06LB

(optional)

% (installer to attach to f

(optional)

(optional)

' @

I
@ 143

/

Included Stair Hardware

149271

3/8" x 18" Rebar - Bundle of 20

70

149664

3/8" Washer Head Hex Nut

BEAD
RECEIVER

}/© @._.@. | ./@

14%"
|I|®| L | |

1.
L ® |
46"

/1

NSS304 ——
14%” extension

L1 ®y 0 T

70

149670

3/8" x 1 1/4" Washer Head Hex Bolt

40

42999

15/8" Clip Screw

TEK75

Tek Screws - Pack of 75

©

L1 ®

BEAD
RECEIVER

NSS1112

Large Nexus Brace Clip

NSS8BR

8' Bead Receiver

Vinyl Works Liner Special Feature Item Numbers

VW42SS1890-1008-06LB-90
VW42SS1890-1008-06LB-6R

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3)

4)

Installer must specify the measurement of the sundeck area to
ensure proper liner fit.
This Modular Step Unit can be made with 6" Radius Corners by

installing the optional 6"R foam corner insert (GLAUC4442NT).

One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

24"

© !ll@lll
|
!

48"

!
|
|

iy
o

RECEIVER

48"
BEAD N

77

(installer to attach to
existing pool walls)

1.
575

BEAD RECEIVER —y

¢

1.

P14§ —]796" X575

—

40"

70"

1

" Sundeck————

1.

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

ALWAYS SPECIFY

POOL AND LINER.

6" OR 90° CORNERS
WHEN ORDERING THE

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

40




42551890-1008-06RB

Count PART# DESCRIPTION LETTER . o . . . . , . .
8 NSS136 48" Step Riser % 18' x 90° Nexus Side-by-Side w/ 10" Stair & 8' x 6' Sundeck Right
3 NSS169 24" Step Riser C
4 NSS107 42" Stair Brace Wall Insert (@) 4285 1890- 1008-06 RB
1 NSS300 48' Sundeck / Bench Riser
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser (@) (optional) (optional) (optional)
4 NSS147 Straight Stair Brace - 14.5" Tread @ (inBsE?Er?oE;a;Eti
2 NSS150 Variable Sundeck Brace (V) existing pool walls)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) _________________ ]/
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ) | |
w 141

Included Stair Hardware

\||®|||
_

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 15/8" Clip Screw
TEK75 Tek Screws - Pack of 75 -

NSS1112 Large Nexus Brace Clip ---

7 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

VW42SS1890-1008-06RB-90
VW42S5S1890-1008-06RB-6R

BEAD
RECEIVER

BEAD RECEIVER
(installer to attach to
existing pool walls) 57

||®|||I

——NSS304

extension 14%"

11 1®) 4]

BEAD
RECEIVER

||®|||

BEAD
RECEIVER

L1 ®1 1

©
©
©

Nl=

S S
|

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

—96" x 57:—2L" Sundeckgl—l4%"‘)

I_l  r

N
Q

48"

i B i

L _ _

]

[ [

[T~
I I

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

41




42551890-1008-08LB

18' x 90° Nexus Side-by-Side w/ 10" Stair & 8' x 8' Sundeck Left
42551890-1008-08LB

BEAD RECEIVER

Count PART# DESCRIPTION LETTER (installer to atach to
8 NSS136 48" Step Riser (A) existing pool walls)
3 NSS169 24" Step Riser (c) (optional) (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert (H)
2 NSS300 48' Sundeck / Bench Riser @ . o S B A
1 NSS302 24" Sundeck / Bench Riser (D) /
1 NSS303 2RR Sundeck / Bench Riser ® / qb q}) |1 @ @ @
4 NSS147 Straight Stair Brace - 14.5" Tread @ | 143" |
2 NSS150 Variable Sundeck Brace OB © L1® 1 1] L1L® 1] LI ®T 11 L1I®1 1/ |
1 NSS304 2 Piece Straight Stair Brace - Top Step W) | seap — || NSS304 —o 48" oep
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace (y) | | © l @RECEIVER l 14%" @ extension | C —| | RECEIVER |
| 1 || - 1 L |l _I/, L | | BEAD RECEIVER |
: BEAD (installer to attach t
___ Included Stair Hardware __ : | | | sk ecoven - | || Caing oatwais :
" X 18" Rebar - Bundle o --
70 149664 3/8" Washer Head Hex Nut - © ! | | @ L1 | ! 1N @ L 1 | :': :I:
L] 24" 48" 48" -
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- 48 ® —|
40 42999 1 5/8" Clip Screw - | | g1de
TEK75 Tek Screws - Pack of 75 — | | | P |
NSS1112 Large Nexus Brace Clip - | | |
7 NSS8BR 8 Bead Receiver - B ] | |
|
|
Vinyl Works Liner Special Feature Item Numbers |
VW42551890-1008-08L B-90 | @ 11l © 11|
24" L 48" !
VW42S5S1890-1008-18LB-6R
96"
1) Steel braces will be attached BETWEEN sections on step treads. |—14%"—-|—14%"—-|—14%"—| ‘*14%" 96" x 81:—2L" Sundeck
End flanges on adjoining step risers will create a pocket to insert M M —
the steel brace. || 8%” ||
2) Steel braces NSS304 & NSS305 bolted together will create the o — P, 19;..
standard NSS147 brace for full end step units. || A 3. || A 4
3) Installer must specify the measurement of the sundeck area to | | i 10§ | | i
ensure proper liner fit. | | L — —| 40" | | - — — — _— —
4) This Modular Step Unit can be made with 6" Radius Corners by 103--
installing the optional 6"R foam corner insert (GLAUC4442NT). |1 8 |1 3 © 3.
One required per feature that must be cut to size. ALWAYS | | 4 _|3 | | 22" ] 203
SPECIFY CORNERS WHEN ORDERING THE POOL AND | | 10§" | |
LINER. L N Ll °©
-
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imper
POOLS

1A

6" OR 90° CORNERS

WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

42




42551890-1008-08RB

Count PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser ©
4 NSS107 42" Stair Brace Wall Insert (H)
2 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread @
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 15/8" Clip Screw --
1 TEK75 Tek Screws - Pack of 75 -
6 NSS1112 Large Nexus Brace Clip -
7 NSS8BR 8' Bead Receiver -

Vinyl Works Liner Special Feature Item Numbers

VW42SS1890-1008-08RB-90
VW42SS1890-1008-08RB-6R

18' x 90° Nexus Side-by-Side w/ 10" Stair & 8' x 8' Sundeck Right
42551890-1008-08RB

(optional) (optional)

(optional)

j_

(optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)

g

N

BEAD RECEIVER
(installer to attach to
existing pool walls)

BEAD | BEAD
RECEIVER _ extension 143 l RECEIVER |
L1 ®y 1 1] @1 11 |
| ! BEAD - |
14 | RECENVER
|
1

——NSS304 |

©
©
L1®) 11 O

L1 ®
48"

-
4

L _

48"

96"
. . " 1. 1. 1. 1. 1.

1) Steel braces will be attached BETWEEN sections on step treads. 96" x 815" Sundeck 145 ‘) A e A e |
End flanges on adjoining step risers will create a pocket to insert T M —|7— 1
the steel brace. || 8§" | |

2) Steel braces NSS304 & NSS305 bolted together will create the 191'- _ — —_
standard NSS147 brace for full end step units. 4 h || 10§" h |1

3) Installer must specify the measurement of the sundeck area to i | | 8 i | |
ensure proper liner fit. — - - - - - - - - L | | 40" |_ h I | |

4) This Modular Step Unit can be made with 6" Radius Corners by | | 10%' ) | |
installing the optional 6"R foam corner insert (GLAUC4442NT). 20§,, © 3, |_ _ l
One required per feature that must be cut to size. ALWAYS 4 2271 || 3, |° o ||
SPECIFY CORNERS WHEN ORDERING THE POOL AND o | | 105" | |
LINER. [ | | ° [ ]

NOTES FOR INSTALLER: ALWAYS SPECIFY P o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

43




42552090-0614-06LB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser ©
s | nssior 42" Star Brace Wal Insert ) 20" x 90° Nexus Side-by-Side w/ 6' Stair & 14' x 6' Sundeck Left
3 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser (D) 42S5S2090-0614-06LB
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread @ (optional) (optional) (optional) (optional)
3 NSS150 Variable Sundeck Brace (V) BEAD RECEIVER
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) / ('Zi‘iz{!‘;'g‘;’;;fif:”‘s‘j 17 j
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) Y T e A S A A

|
143 wW
i @I | @CJ)

!

Included Stair Hardware : L1 1 ® |1 1 ® | IO | | EONHE /
1 149271 3/8" x 18" Rebar - Bundle of 20 -- ! seab | | NSS304 —— 24" BEAD | BEAD
70 149664 3/8" Washer Head Hex Nut -- | | RECEIVER 14%-- extension | RECEIVER RECEIVER
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | Ll ® 1 11 l © I ® (‘e”ji‘;‘i”:; ;%;“;j;’l]s‘)"
40 42999 1 5/8" Clip Screw - I geap | I |
1 TEK75 Tek Screws - Pack of 75 — RECENER 143" | 2\
6 NSS1112 Large Nexus Brace Clip - | L1 1 ®1 1l | © sk
7 NSS8BR 8' Bead Receiver —~ L 48" — | |

Vinyl Works Liner Special Feature Item Numbers

VW42SS2090-0614-06LB-90
VW42SS2090-0614-06LB-6R

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).

One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

1. 1. 1.

/]

L
|
|
|
|
|
|

|—14— —|—14— —|—142 —
|—| R —

s}
oI~

(o)

(o)

elelbs |

03"

BEAD RECEIVER
(installer to attach to
existing pool walls)
©
>
~

?

&)

72"

‘—141"—|—168" x 573

L. Sundeck———

1.
19y

N
N
INTA)
1
N
T

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

M '
perial

ALWAYS SPECIFY
6" OR 90° CORNERS

WHEN ORDERING THE

POOL AND LINER.

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

44




42552090-0614-06RB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser © , o . . , . , . .
4 NSS107 42" Stair Brace Wall Insert (H) 20' x 90° Nexus Slde-by-Slde w/ 6' Stair & 14' x 6' Sundeck nght
3 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @ 42882090'06 14'O6RB
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread (@) (optional) (optional) BEAD RECEIVER (optional) (optional) REBCEE*I\\E’ER
3 NSS150 Variable Sundeck Brace (V) (installer to attach to (installer to attach to
1 NSS304 2 Piece Straight Stair Brace - Top Step W) ) _ ) ingpoolwals) | ) ) existing pool walls)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) l i i _I—!
Included Stair Hardware |\||®||| U1®1 11 L1®] 11 L1®T 11 LI®1 11 1
1 149271 3/8" x 18" Rebar - Bundle of 20 -- BEAD | | BEAD / | ——NSS304 | BEAD / |l | |
70 149664 3/8" Washer Head Hex Nut - | (nstaller to attach to RECEIVER _®_ 1 ex‘e("sm l RECE'V(ES 143"
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt = | existing pool walls) C | Ll é‘/ I T
40 42999 1 5/8" Clip Screw - | @ ZL" REBCEE/I*\'/DER 14|;" | |
1 TEK75 Tek Screws - Pack of 75 - © L1 I ®1 1 |2 [ |
6 NSS1112 Large Nexus Brace Clip - | 575 o . e L
7 NSS8BR 8' Bead Receiver -- | | |
Vinyl Works Liner Special FeaturetemNumbers | L1 1 © 11 1111 ® 11111 © ||
L 48" L 48" . 48"
VW42S5S2090-0614-06RB-90
VW42SS2090-0614-06RB-6R 2 4
" 1. 1. 1. 1. 1.
168" x 572 Sundeck41—142 |—142 —-l—l42 —|—142 —
—
|_ [ ol [
3
of ST el
1) Steel braces will be attached BETWEEN sections on step treads. i | | 1O§" i | |
End flanges on adjoining step risers will create a pocket to insert - 7 - — — — — = 40" I_ h - T
the steel brace. o | | 10%" L | |
2) Steel braces NSS304 & NSS305 bolted together will create the 203 2930 | | |_ — ! | |
standard NSS147 brace for full end step units. 4 F 4 | | 10§" ° | |
3) Installer must specify the measurement of the sundeck area to o |8
ensure proper liner fit. | | = | |
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ' o, ym e r

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

45




42552090-0614-08LB

20' x 90° Nexus Side-by-Side w/ 6' Stair & 14' x 8' Sundeck Left

Count PART# DESCRIPTION LETTER

T wssta ® 42552090-0614-08LB

2 NSS169 24" Step Riser ©

4 NSS107 42" Stair Brace Wall Insert Q-D RE?:IIEE?\?ER (optional) (optional) (optional) (optional)

4 NSS300 48' Sundeck / Bench Riser [(®) (installer to attach to BEAD REGEIVER

isti Installer to attach to

1 NSS303 2'RR Sundeck / Bench Riser @ existing pool walls) (existing pool walls)

4 NSS147 Straight Stair Brace - 14.5" Tread @ ;7 v T T T TF

3 NSS150 Variable Sundeck Brace @ / |1 @ Il

1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) 143" 14} /

2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) : AONE I | LI ®] | 2!1“ L1I® ) )| — LI® 1) | Ll L1 :

BEAD | NSS304 —= — BEAD | |
RECEIVER 14%" extension | ® RECEIVER BEAD
Included Stair Hardware | L1® 1l | B B | | (ot 1 oach t < |

1 149271 3/8" x 18" Rebar - Bundle of 20 - | seap |1" | | | | existing pool walls) |
70 149664 3/8" Washer Head Hex Nut | F;ECEI'VECZ) | 1|"|7 | e B |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - |_ - " o :L IL IL

40 42999 1 5/8" Clip Screw 48"kl | | | —{

1 TEK75 Tek Screws - Pack of 75 - g1l

6 NSS1112 Large Nexus Brace Clip - — | | | |
7 NSS8BR 8' Bead Receiver - | | | |
Vinyl Works Liner Special Feature Item Numbers ! 11T © 11111 © 1111 © 1 |
VW425S2090-0614-08LB-90 e e e
VW42S5S2090-0614-08LB-6R

T 96"
14314141 }7144" 168" x 811" sundeck
%2 2 21 2 2

1) Steel braces will be attached BETWEEN sections on step treads. :_L 8%" :_L —I
End flanges on adjoining step risers will create a pocket to insert - — - 19%1"
the steel brace. || 10%" | |

2) Steel braces NSS304 & NSS305 bolted together will create the | | _ 4 o - _
standard NSS147 brace for full end step units. | | 103 | |

3) Installer must specify the measurement of the sundeck area to || . _|8 || 3 o 203
ensure proper liner fit. { 3 22" 4 4

4) This Modular Step Unit can be made with 6" Radius Corners by | | 1O§" | | o
installing the optional 6"R foam corner insert (GLAUC4442NT). L : . L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

NOTES FOR INSTALLER: ALWAYS SPECIFY P o , ym e r

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

46




42552090-0614-08RB

Count PART# DESCRIPTION LETTER

~

NSS136 48" Step Riser [O)

NSS169 24" Step Riser

©

NSS107 42" Stair Brace Wall Insert

(H)
NSS300 48' Sundeck / Bench Riser L

NSS303 2'RR Sundeck / Bench Riser

NSS147 Straight Stair Brace - 14.5" Tread

(optional)

(optional) (optional)

(installer to attach to
existing pool walls)

BEAD RECEIVER —|

20' x 90° Nexus Side-by-Side w/ 6' Stair & 14' x 8' Sundeck Right
425S2090-0614-08RB

(optional) BEAD
RECEIVER
(installer to attach to

existing pool walls)

\

NSS150 Variable Sundeck Brace

NSS304 2 Piece Straight Stair Brace - Top Step

N(R[WIA[FR|R[AN

NIEO)

NSS306 (04N296-3) 24" Sundeck / Bench Brace

1
2

(installe

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 -

70 149664 3/8" Washer Head Hex Nut ---

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---

40 42999 1 5/8" Clip Screw ---

1 TEK75 Tek Screws - Pack of 75 ---

NSS1112 Large Nexus Brace Clip ---

7 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

BEAD
RECEIVER

existing pool walls)

r to attach to

©
s
I

BEAD < |
RECEIVER

VW42SS2090-0614-08RB-90
VIW42SS2090-0614-08RB-6R

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

2)

3)
ensure proper liner fit.

This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).

4)

Installer must specify the measurement of the sundeck area to 3. |°

168" x 813" Sundeck—r—14%"~‘

-
_

N
<L

——NSS304
| extension

BEAD
RECEIVER

L1® 1 1

L ®1 1 L1 ® g ]
e

1.
145

RECEIVER

|
|
| geAD —
|
\

©

1.
145

L1®1 1

24"

1. 1. 1.
A T T

EE

7.
8g

I_
103
I_

_

5,

Too

=
_oo?gn

M

One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

LINER.

erial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

47




42552090-0812-06LB

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser [O)
4 NSS107 42" Stair Brace Wall Insert (H) , o ) ) ' ) ' '
2 NSS300 48' Sundeck / Bench Riser (@) 20' x 90° Nexus Slde-by-S|de w/ 8' Stair & 12' x 6' Sundeck Left
2 NSS302 24" Sundeck / Bench Riser (D)
1 NSS303 2'RR Sundeck / Bench Riser P 425S52090-0812-06LB
4 NSS147 Straight Stair Brace - 14.5" Tread @
3 NSS150 Variable Sundeck Brace [O) RE%?\?ER (optional) (optional) CEAD RECEVER (optional) (optional)
1 NSS304 2 Piece Straight Stair Brace - Top Step (VV) (installer to attach to (installer to attach to
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) _ existngpoolwals) | ) exsngpoolwal® | _ J |
| T I |
Included Stair Hardware | |/ qJ) 143 @JV) @ @ @ 1k / |
1 149271 3/8"x 18" Rebar - Bundle of 20 | L ® 1 1 @®) L1 ®7F 1 EON 1 ®)
70 149664 3/8" Washer Head Hex Nut Sy | geap | | NSS304—— +—@—d g A3 46" 1 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - RECEIVER l 143 extension | ® T T RECEIVER T BEAD { |
- — RECEIVER
40 42999 1 5/8" Clip Screw — |l 1 HONEE | || HON ] (instaler to attach to |
1 TEK75 Tek Screws - Pack of 75 - || BEAD | | 0 existing pool walls)
NSS1112 Large Nexus Brace Clip -- | i @ RECEIVER | 14|§ @ (M |
7 NSS8BR 8 Bead Receiver ~ 11 o T o s |
|

Vinyl Works Liner Special Feature Item Numbers

VW42SS2090-0812-06LB-90
VW42SS2090-0812-06LB-6R

1 1. 1 1. 1 1.
—

ou

‘/14l 144" x 573" Sundeck————

[ oL —I
7 S
1) Steel braces will be attached BETWEEN sections on step treads. i 1O§" i
End flanges on adjoining step risers will create a pocket to insert || = — _} 40" | | I — — = 7/ 7 7 7 T T
the steel brace. | | A 103" ||
2) Steel braces NSS304 & NSS305 bolted together will create the | | l _ _} | | 223" © 203
standard NSS147 brace for full end step units. | | E 103" | | 4 b 4
3) Installer must specify the measurement of the sundeck area to 8 o
ensure proper liner fit. || = : ||
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

M '
perial

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

48




42552090-0812-06RB

20' x 90° Nexus Side-by-Side w/ 8' Stair & 12' x 6' Sundeck Right

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser [O) _ _
4 NSS107 42" Stair Brace Wall Insert (H) 42552090-0812-06RB
2 NSS300 48' Sundeck / Bench Riser <L> (optional) (optional) (optional) (optional) BEAD
2 NSS302 24" Sundeck / Bench Riser @ ( BtEll\ID F:EC[:EIVhEtR RECEIVER
N Installer to attach to i
1 NSS303 2'RR Sundeck / Bench Riser @ existing pool walls) (g]><slt§||:1el_‘; L‘Z?f’@iﬂstf
4 NSS147 Straight Stair Brace - 14.5" Tread (@) | A e T e e \
3 NSS150 Variable Sundeck Brace @ ! [ [ \
1 NSS304 2 Piece Straight Stair Brace - Top Step W) | 143 W 143 |
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ) | \I HONEN L1 ®1 1 ] L1®) )] L1®) 1]
BEAD :l: BEAD —~—NSS304 | | seap  — |
| ) RECEIVER RECEIVER extension 14:—2L‘ RECEIVER |
Included Stair Hardware | i pooraatsy | | 1 ®y g1l i1 1®y
1 149271 3/8" x 18" Rebar - Bundle of 20 | | |1“ | e e |
70 149664 3/8" Washer Head Hex Nut | | & ® MIE i RECE'VER@) |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | 573" - 1 - | - -~ - J
40 42999 1 5/8" Clip Screw | | ]
1 TEK75 Tek Screws - Pack of 75 - |
NSS1112 Large Nexus Brace Clip --- |
7 NSS8BR 8' Bead Receiver ---
I T T 1 T O O I
Vinyl Works Liner Special Feature Item Numbers
VIW42SS2090-0812-06RB-90
VW42SS2090-0812-06RB-6R
7om )
144" x 575" Sundeck 14i"~‘ 143 ——14d 141
2 2 "2 2 2
_ _ B 1 2 n
1) Steel braces will be attached BETWEEN sections on step treads. J | 83 J |
End flanges on adjoining step risers will create a pocket to insert 194 - = -
4 N
the steel brace. | | 10%.. 1\
2) Steel braces NSS304 & NSS305 bolted together will create the - | | s B — ! | |
standard NSS147 brace for full end step units. | | 103" L | ]
3) Installer must specify the measurement of the sundeck area to 3. |° 3 8 l
ensure proper liner fit 207" 227" | — T T ||
’ 3. |°
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 10§ 3 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). L] . : L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ' o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

49




42552090-0812-08LB

20" x 90° Nexus Side-by-Side w/ 8' Stair & 12' x 8' Sundeck Left

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser [O) 42582090-0812-08LB
4 NSS107 42" Stair Brace Wall Insert (H)
3 NSS300 48' Sundeck / Bench Riser <L> BEAD (optional) (optional) (optional) (optional)
1 NSS302 24" Sundeck / Bench Riser (D) __RECEIVER _BEAD RECEIVER —
(installer to attach to (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser P existing pool walls) existing pool walls)
4 NSS147 Straight Stair Brace - 14.5" Tread @ A A e T e e
3 NSS150 Variable Sundeck Brace @ Il @ Il
1 NSS304 2 Piece Straight Stair Brace - Top Step W) 13" 143
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace O 1@ LI ® ) 1] LI®] 1| EON @11y /4!
| BeaD — | [ NSS304—= BEAD | |
| RECEIVER 14%“ extension | _ RECEIVER |
Included Stair Hardware LI®1 11 L1 ®1 11 | Q22D
1 149271 3/8" x 18" Rebar - Bundle of 20 | g0 || | |anstaller o atach to |
70 149664 3/8" Washer Head Hex Nut | RECEIVER 2 existing pool walls) |
- o670 TINEEDT L1®1 10 11 ®)
x 1 1/4" Washer Head Hex Bolt - |_ -~ | -~
40 42999 1 5/8" Clip Screw a3 | —{
1 TEK75 Tek Screws - Pack of 75 - 81
NSS1112 Large Nexus Brace Clip --- | |
7 NSS8BR 8' Bead Receiver | |
Vinyl Works Liner Special Feature Item Numbers L1 © 1111 © 11|
VW42SS2090-0812-08LB-90
VW425S2090-0812-08LB-6R
96"
14314l 4L }7144" 144" x 813" Sundeck
%2 2 271 2 2
) ) M 7. M —|
1) Steel braces will be attached BETWEEN sections on step treads. | |_ 83 | |_
End flanges on adjoining step risers will create a pocket to insert - — - 19%1"
the steel brace. | | 10%-- | |
2) Steel braces NSS304 & NSS305 bolted together will create the | | _ 4 o - _
standard NSS147 brace for full end step units. | | 108" | ]
3) Installer must specify the measurement of the sundeck area to || _|8 || 3 o 203
ensure proper liner fit. { 3 22" 4 4
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10§ | | o
installing the optional 6"R foam corner insert (GLAUC4442NT). L : . L

One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

Im
perial

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




1) o H H ' H [} ] H
o T SESCRIPTION R 20' x 90° Nexus Side-by-Side w/ 8' Stair & 12' x 8' Sundeck Right
9 NSS136 48" Step Riser [O) _ _
4 NSS107 42" Stair Brace Wall Insert (H) 42552090-0812-08RB
3 NSS300 48' Sundeck / Bench Riser <L> (optional) (optional) (optional) (optional) BEAD
1 NSS302 24" Sundeck / Bench Riser (D) BEAD RECEIVER — RECEIVER
" (installer to attach to (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser ® existing pool walls) existing pool walls)
4 NSS147 Straight Stair Brace - 14.5" Tread @ __________________________ \
3 NSS150 Variable Sundeck Brace @ [ <J> [ \
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) | \ 143 W 14 |
2 | NSS306 (04N296-3) YT Py O L1 ®1 1 1 ®71 HEOIN L1® 1] EONI
| f BEAD | BEAD —~—NSS304 |1 | BEAD |
| RECEIVER RECEIVER _ extension 145“ RECEIVER |
] i I h
Included Stair Hardware Ceeting poul il | LI ®) 11l i1 1®y
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | |1 | BEAD / |
145" RECEIVER
70 149664 3/8" Washer Head Hex Nut 2
- 5670 T U et e | L1® 110l i1 1®71 |
x 1 1/4" Washer Head Hex Bolt - -~ | -~ J
40 42999 1 5/8" Clip Screw }— | a3
1 TEK75 Tek Screws - Pack of 75 --- g1l
NSS1112 Large Nexus Brace Clip --- | |
18 NSS5WR Galvanized Wire Tread Reinforcement --- | |
7 NSS8BR 8' Bead Receiver - | | |
|
|
, . . 11 ®© 111101 ©
Vinyl Works Liner Special Feature Item Numbers . o . o
VW42552090-0812-08RB-90
VW42SS2090-0812-08RB-6R
96"
144" x 813" Sundeck 143 143 ——14l 941
2 2 "2 2 21
_ _ B AR N
1) Steel braces will be attached BETWEEN sections on step treads. J | 83 J |
End flanges on adjoining step risers will create a pocket to insert 19;11" - = -
the steel brace. | | 10%" | |
2) Steel braces NSS304 & NSS305 bolted together will create the — I = — | |
standard NSS147 brace for full end step units. | ] 108" | |
3) Installer must specify the measurement of the sundeck area to 203 o 3 || |8_ . ||
ensure proper liner fit. 4 227" 5
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 103 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). L . : L]
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ' o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

Im
perial

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

o1




1) o H H ] H 1 ]
o T SESCRIPTION R 20' x 90° Nexus Side-by-Side w/ 10" Stair & 10' x 6' Sundeck Left

9 NSS136 48" Step Riser [O) _ _

2 NSS169 24" Step Riser © 42552090-1010-06LB

4 NSS107 42" Stair Brace Wall Insert Q-D BEAD (optional) (optional) (optional) (optional)

2 NSS300 48' Sundeck / Bench Riser @ ~ RECEIVER BEAD RECEIVER

- - (installer to attach to (installer to attach to

1 NSS302 24" Sundeck / Bench Riser @ existing pool walls) existing pool Walls)J

1 NSS303 2'RR Sundeck / Bench Riser (@) /- — TF — I N A []

4 NSS147 Straight Stair Brace - 14.5" Tread @ / [ I !

2 NSS150 Variable Sundeck Brace (V) | 1y W 1y / |

L NSS304 2 Piece Straight Stair Brace - Top Step_| (W) L1I® 1) | LL® |1l LI®T 1L L@ @11 Jy

2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) | | e 14'1-- | Nsssoa—- RECENER % . |

2
L @10 1 a®iai [ |  JECEVER |
- _/ | | (|nsvtav er to attach to
Included Stair Hardware | |  Beso 5 | ) | existing pool walls)

1 149271 3/8" x 18" Rebar - Bundle of 20 | ® i RECE'VE(RAD 142 i © & |
70 149664 3/8" Washer Head Hex Nut - |_ - 1 | " | | 1 1l " ™o | 573 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --- | |
40 42999 1 5/8" Clip Screw |

TEK75 Tek Screws - Pack of 75 - |
NSS1112 Large Nexus Brace Clip ---
8 NSS8BR 8' Bead Receiver 1 © 1111 @ 1
Vinyl Works Liner Special Feature Item Numbers
VW42SS2090-1010-06LB-90
VW42SS2090-1010-06LB-6R
) 7om
143 ——14l 141 }7144" 120" x 572" Sundeck
"2 2 21 2 2
M1 M —|
1) Steel braces will be attached BETWEEN sections on step treads. | L 8%" | L
End flanges on adjoining step risers will create a pocket to insert - — - 102
N4 3 N i
the steel brace. (] 105"
2) Steel braces NSS304 & NSS305 bolted together will create the | | ! — 4 o b _
standard NSS147 brace for full end step units. | | 4 108 | ]
3) Installer must specify the measurement of the sundeck area to l 8 o 3
- || L —— | | 203" 20"
ensure proper liner fit. { 3 4 41 74
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10§ | | o
installing the optional 6"R foam corner insert (GLAUC4442NT). L : L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ' o, ym e r

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

Im
perial

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

52




42552090-1010-06RB

20" x 90° Nexus Side-by-Side w/ 10" Stair & 10' x 6' Sundeck Right

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser [O) 42882090-1010-06RB
2 NSS169 24" Step Riser ©
4 NSS107 42" Stair Brace Wall Insert Q-D (optional) (optional) (optional) (optional) BEAD
2 NSS300 48' Sundeck / Bench Riser [(®) BEAD RECEIVER RECEIVER
" (installer to attach to (installer to attach to
1 NSS302 24" Sundeck / Bench Riser @ existing pool walls) existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser (@) T —~F — — — — R N A \
4 NSS147 Straight Stair Brace - 14.5" Tread (@) | | | \
2 NSS150 Variable Sundeck B [©) | iy 14y W 143 |
ariaple sundeci race RECEIVER _\
1 NSS304 2 Piece Straight Stair Brace - Top Step W) | \| L®1 1] Ll I L1® Ll L1 @_l/' Ll I L1® 1 1 |
" R BEAD
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™ | A + 1 NSSI4 | L ceeR 1 | |
| Casing poowaty | [ | L L1®) )1 | EEONE |
Included :Sta/r"Hardware | | | N | 220 |
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | © i L1 @ L1 |2 i L1 @ L1 |
70 149664 3/8" Washer Head Hex Nut -- | 573" o " -~ " -~ J
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- | | |_ B
40 42999 1 5/8" Clip Screw -- |
TEK75 Tek Screws - Pack of 75 - |
NSS1112 Large Nexus Brace Clip -
8 NSS8BR 8' Bead Receiver ~ I O N B B I 1N O !
Vinyl Works Liner Special Feature Item Numbers
VW42SS2090-1010-06RB-90
VW42SS2090-1010-06RB-6R
7om )
120" x 57" Sundeck 14i"~‘ 143 ——14d 141
2 2 "2 2 2
_ _ i R N
1) Steel braces will be attached BETWEEN sections on step treads. J | 83 J |
End flanges on adjoining step risers will create a pocket to insert 19;11" - = h -
the steel brace. | | 10%-- ') | |
2) Steel braces NSS304 & NSS305 bolted together will create the - | | s B — ! | |
standard NSS147 brace for full end step units. | | 103" L | ]
3) Installer must specify the measurement of the sundeck area to 3. |° 3 8 l
ensure proper liner fit 207" L 227" | | ~ T | |
’ 3. |°
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 10§ 3 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). L] . : L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ' o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

Im
perial

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

53




42552090-1010-08LB

20' x 90° Nexus Side-by-Side w/ 10" Stair & 10' x 8' Sundeck Left

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser (A) - -
. NSSLse e & 42552090-1010-08LB
4 NSS107 42" Stair Brace Wall Insert Q—D BEAD (optional) (optional) (optional) (optional)
3 NSS300 48' Sundeck / Bench Riser @ ~ RECEIVER ~BEAD RECEIVER
1 NSS303 2RR Sundeck / Bench Riser ®) oising poolwall) existing pool wally
4 NSS147 Straight Stair Brace - 14.5" Tread @ yA e e e I e e
2 NSS150 Variable Sundeck Brace @ / |1 @ Il
1 NSS304 2 Piece Straight Stair Brace - Top Step W) 145" 143
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ) : L 1B | Ll ®_/| ] I ] | 1 ® RONE _|/ 1Ll L1/ :
NSS304 —
| e T N |
Included Stair Hardware L1®) 1 | || oceer
1 149271 3/8" x 18" Rebar - Bundle of 20 | | Bean / 14|1" | | existing pool walls) |
70 149664 3/8" Washer Head Hex Nut | recever 2 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - |_ - @ 1 - i O I 1L ! 9 :L
40 42999 1 5/8" Clip Screw 43 | —{
1 TEK75 Tek Screws - Pack of 75 - 81
NSS1112 Large Nexus Brace Clip --- | |
8 NSS8BR 8' Bead Receiver | |
. | |
|
@ I
Vinyl Works Liner Special Feature Item Numbers L ®© 111101 ® |
VW42SS2090-1010-08LB-90 - -
VW42SS2090-1010-08LB-6R
96"
14314l 4L }7144" 120" x 813" Sundeck
%2 2 271 2 2
: : M 7. M —|
1) Steel braces will be attached BETWEEN sections on step treads. | |_ 83 | |_
End flanges on adjoining step risers will create a pocket to insert - — - 19%1"
the steel brace. || 10%" | |
2) Steel braces NSS304 & NSS305 bolted together will create the | | _ 4 o - _
standard NSS147 brace for full end step units. | | 108" | ]
3) Installer must specify the measurement of the sundeck area to || . _|8 || 3 o 203
ensure proper liner fit. { 3 22" 4 4
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10§ | | o
installing the optional 6"R foam corner insert (GLAUC4442NT). L : . L
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

o4




42552090-1010-08RB

20" x 90° Nexus Side-by-Side w/ 10" Stair & 10' x 8' Sundeck Right

Count PART# DESCRIPTION LETTER
9 NSS136 48" Step Riser [O) _ _
2 NSS169 24" Step Riser © 42552090-1010-08RB
4 NSS107 42" Stair Brace Wall Insert Q-D (optional) (optional) (optional) (optional) BEAD
3 NSS300 48' Sundeck / Bench Riser [(®) BEAD RECEIVER — (instzl'fercg\éﬁsch ©
1 NSS303 2'RR Sundeck / Bench Riser @ ('Zifiﬂﬁgt;’oiﬁ":”g existing pool walls)
4 NSS147 Straight Stair Brace - 14.5" Tread @ __________________________ \
2 NSS150 Variable Sundeck Brace @ [ <l> [ \
1 NSS304 2 Piece Straight Stair Brace - Top Step (v\/) | \ 143 W 14 |
2 | NSS306 (04N296-3) >4 Sundeck / Banch Brace O 1 ®1 1 L1®1 11 HEONEN L1®) 1] L1®) 1]
| | o | e | swo L | |
) RECEIVER — : =4 PR RECEIVER 2
Included Stair Hardware | Coeting poot walls | [ _ L® 11 41 1®) ) |
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | | | sero / |1“ | |
70 149664 3/8" Washer Head Hex Nut -- | = RECEIVER 143 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - :L :L g? ! - @ 1 | 1| ! - @ AI - J
40 42999 1 5/8" Clip Screw - }— | Q=
1 TEK75 Tek Screws - Pack of 75 -- g1l
NSS1112 Large Nexus Brace Clip - | |
8 NSS8BR 8' Bead Receiver — | |
| |
|
|
Vinyl Works Liner Special Feature Item Numbers | L1 1 _© 11111 © ||
VW42SS2090-1010-08RB-90
VW42SS2090-1010-08RB-6R
96" )
120" x 813" Sundeck 141"~‘ 143 ——14l 941
2 2 "2 2 2
M1 M1
1) Steel braces will be attached BETWEEN sections on step treads. |— iR 8%" N
End flanges on adjoining step risers will create a pocket to insert 19;11" - = -
the steel brace. | | 10%" | |
2) Steel braces NSS304 & NSS305 bolted together will create the — I = — | |
standard NSS147 brace for full end step units. | ] 108" | |
3) Installer must specify the measurement of the sundeck area to 203 o 3 || |8_ . ||
ensure proper liner fit. 4 227" 5
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 103 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). L . : L]
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o, ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

55




42VS082R

Count PART# DESCRIPTION LETTER
4 NSS136 48" Step Riser (A)
1 | NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (E)
2 NSS308 36" Sundeck / Stair Brace Extension
1 NSS304 2 Piece Straight Stair Brace - Top Step @
1 NSS305 2 Piece Straight Stair Brace - Bottom Step Q()

Included Stair Hardware
1 149271 3/8" x 18" Rebar - Bundle of 20 -
40 149664 3/8" Washer Head Hex Nut -
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt -
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 ---
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
5 NSS8BR 8' Bead Receiver ---

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate
sundecks up to 8'in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

42VS082R SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

8' X 2'R Nexus Full End Stair w/ Variable Sundeck

42VS082R

BEAD RECEIVER
(installer to attach to
existing pool walls)

/GIII IIHCE)I\\\

/ L1\
f " /. " A\
46"—BEAD 46

RECEIVER
VARIABLE
™~ BEAD (Installer must
~ RECEIVER specify size)
(installer to attach to _/
existing pool walls) BEAD
RECEIVER

(installer to attach to
existing pool walls)

HEONE IONN

BEAD —/l |

RECEIVER |

142
| |I@| L]

I

"@'.." |

VARIABLE

l'l
142 T (Installer must specify size) | 142
1

|
|_ —
|
|
|
|
|
|
|
I

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS102R

Count PART# DESCRIPTION LETTER

5 NSS136 48" Step Riser (A)
2 NSS169 24" Step Riser ©
1 | NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS165L 22" Top Step Riser - LEFT G

2 NSS107 42" Stair Brace Wall Insert @
4 NSS308 36" Sundeck / Stair Brace Extension @
2 NSS304 2 Piece Straight Stair Brace - Top Step @
2 NSS305 2 Piece Straight Stair Brace - Bottom Step (x)

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20
40 149664 3/8" Washer Head Hex Nut

40 149670 3/8" x 1 1/4" Washer Head Hex Bolt
40 42999 15/8" Clip Screw

1 TEK75 Tek Screws - Pack of 75

2 NSS111 Small Nexus L Clip

6 NSS1112 Large Nexus Brace Clip

6 NSS8BR 8' Bead Receiver

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate
sundecks up to 8'in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

42VS102R - "SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

BEAD RECEIVER —
(installer to attach to
existing pool walls)

42VS102R

(optional)

10' x 2'R Nexus Full End Stair w/ Variable Sundeck

(optional)

/L 1@ 1] L1 ® 1 LG [\ \
/[ "
[ ! 46'—pgEaD = T 22 —J\ \
RECEIVER
VARIABLE BEAD
~~— BEAD | RECEIVER
Installer must .
RECEIVER ( (installer to attach to

(installer to attach to
existing pool walls)

L® |

specify size)

existing pool walls)

©

®

RECEIVER

BEAD

/

=

145

©

|
|
!||®|I||

i
%9

14

—

|
|___
|
|
|
|
|
|
|
|

48"

48"
VARIABLE

24"

l.n

(Installer must specify size) 142 T

a
B

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperial

POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 5 7
RESIDENTIAL INGROUND SWIMMING
POOLS




42VS122R

Count| PART# DESCRIPTION LETTER

7 NSS136 48" Step Riser (A)
1 | NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (E)
2 NSS107 42" Stair Brace Wall Insert @
4 NSS308 36" Sundeck / Stair Brace Extension T

2 NSS304 2 Piece Straight Stair Brace - Top Step @
2 NSS305 2 Piece Straight Stair Brace - Bottom Step Q()

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 -
40 149664 3/8" Washer Head Hex Nut -
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 15/8" Clip Screw

1 TEK75 Tek Screws - Pack of 75 ---

2 NSS111 Small Nexus L Clip ---

6 NSS1112 Large Nexus Brace Clip ---

7 NSS8BR 8' Bead Receiver ---

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate
sundecks up to 8'in width.

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

42VS122R - "SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

12' x 2'R Nexus Full End Stair w/ Variable Sundeck
42\V/S122R

(optional) (optional)

BEAD RECEIVER
(installer to attach to
— ) _eising poolwalk) _
-~ T T
e
®) L ® | | @ 1

N\

VARIABLE
BEAD ~

(Installer must RECEIVER
[N— BEAD specify size) (installer to attach to
RECEIVER existing pool walls)
I

(installer to attach to
existing pool walls)

L1®™ ] 1 L1® ] 1

|
. |
145" | |
L1 ® 11 111 ®yrr g
48" 48" | 48" |
14l VARIABLE 14l
[ 2 (Installer must specify size) 2 ]
—

|
| -
||
|
|
||
||
|
|
Ll

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

NOTES FOR INSTALLER: - P ,y
PERIMETER PANELS WILL . I | I l p e r I al o PO!I?S'YgEﬂ
®

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 5 8
RESIDENTIAL INGROUND SWIMMING
POOLS




42VS142R

14' x 2'R Nexus Full End Stair w/ Variable Sundeck

42VS142R

Count| PART# DESCRIPTION LETTER

8 NSS136 48" Step Riser (A)

2 NSS169 24" Step Riser ¢

1 NSS173R 46" Top Step Riser - RIGHT %D% (optional) (optional) (optional)

1 | NSS165L 22" Top Step Riser - LEFT © ' BEAD RECEIVER —

3 | NSs107 42" Stair Brace Wall Insert [©) (installer to attach to

6 NSS308 36" Sundeck / Stair Brace Extension @ — —_————)— — _e)@mﬁ)oilwiﬂs)_ ———————— —

3 NSS304 2 Piece Straight Stair Brace - Top Step W) o - T ~ N

3 NSS305 2 Piece Straight Stair Brace - Bottom Step (D) Vs l C) N

/ W 143 @'\D W \
Included Stair Hardware /A 1O 0 L1® [ L1® 1 1 L@ [\

1 149271 3/8" x 18" Rebar - Bundle of 20 - [ f 46" ; BEAD 22--—\ \
70 149664 3/8" Washer Head Hex Nut - ! RECEIVER
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - '— VARIABLE L‘
40 42999 15/8" Clip Screw - BEAD

1 TEK75 Tek Screws - Pack of 75 - (Installer must RECEIVER

2 NSS111 Small Nexus L Clip - ™~ BEAD specify size) (installer to attach to

6 NSS1112 Large Nexus Brace Clip ~ ~ RECEIVER existing pool walls)

8 NSS8BR 8 Bead Receiver ~ (:Zts?::g ;%grt;‘;nst)o

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate

sundecks up to 8'in width.

L1® 1

L® 111

L®

PLEASE PROVIDE SUNDECK

SIZE FOR LINER PRODUCTION

42VS142R - " SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

I
/

{

| |
| | | BEAD |
| 143" |  RECEIVER |
LL1I® 1 1] LI® 11 L1 ®™® ©_ |
! 48" 48" | 48" 24" |

VARIABLE

14 (Installer must specify size) 145

—

||
| =——
|| A
L
||
||
||
||

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS162R

16' x 2'R Nexus Full End Stair w/ Variable Sundeck

PLEASE PROVIDE SUNDECK

Count PART# DESCRIPTION LETTER
10 NSS136 48" Step Riser (A) 42VS 1 6 2 R
1 | NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (E)
3 | Nss107 42" Stair Brace Wall Insert H) (optional) (optional) (optional)
6 NSS308 36" Sundeck / Stair Brace Extension @ BEAD RECEIVER
2 Piece Straight Stair Brace - Top Ste (installer to attach to
3 NSS304 ! 19 ! - Top Step @ existing pool walls)
3 NSS305 2 Piece Straight Stair Brace - Bottom Step QQ - —I— —_——— —_—— e — P T —_) _I_ — -
Ve l ~N
_ / AN
Included Stair Hardware / / @ @.VD 143 @ \
1 149271 3/8" x 18" Rebar - Bundle of 20 -
IO NN L1® 1 1 L1® [ L1® 1 1| \
70 149664 3/8" Washer Head Hex Nut -- [ 46" | a6 \
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt [ ’ RE?ZIIEE/;\\I/DER T ‘ \
40 42999 1 5/8" Clip Screw - r_ VARIABLE _1
1 TEK75 Tek Screws - Pack of 75 --
2 NSS111 Small Nexus L Clip -- | (Installer must
i BEAD specify size) BEAD
6 NSS1112 Large Nexus Brace Clip - | /_ RECEIVER p RECEIVER ]
8 NSS8BR 8' Bead Receiver -- (installer to attach to (installer to attach to
| existing pool walls) existing pool walls)
NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate |
sundecks up to 8' in width. |
L1® 1 11 L1® ] ] |®||| L1® 1]
| BEAD |
| | RECEIVER |

SIZE FOR LINER PRODUCTION

142
| |O|I | L1

ORI
48"

LI® 1 1
48"

42VS162R

SD

]

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

the steel brace.

VARIABLE

1.
f_l42 (Installer must specify size) 145 1

10 "

||
|
|
2) Steel braces NSS304 & NSS305 bolted together will create the || l
standard NSS147 brace for full end step units. S A _| 40"
3) Installer must specify the measurement of the sundeck area to || [ | 10 "
ensure proper liner fit. || l
4) This Modular Step Unit can be made with 6" Radius Corners by | | = — % _|
installing the optional 6"R foam corner insert (GLAUC4442NT). 103--
One required per feature that must be cut to size. ALWAYS | |8
SPECIFY CORNERS WHEN ORDERING THE POOL AND LI .
LINER.
NOTES FOR INSTALLER: P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42VS182R

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate
sundecks up to 8'in width.

@ §,

L®

L®

©

Count| PART# DESCRIPTION LETTER
11 NSS136 48" Step Riser (A)
" . 1 1 : M
2_| Nss169 24" Step Riser ©) 18' x 2'R Nexus Full End Stair w/ Variable Sundeck
1 | NSS173R 46" Top Step Riser - RIGHT [®)
1 NSS165L 22" Top Step Riser - LEFT G 42VS 182 R
4 | Nss107 42" Stair Brace Wall Insert H)
8 NSS308 36" Sundeck / Stair Brace Extension @ (optional) (optional) (optional) (optional)
4 NSS304 2 Piece Straight Stair Brace - Top Step W) BEAD RECEIVER
4 NSS305 2 Piece Straight Stair Brace - Bottom Step (D) (installer to attach to jl,
- - __ existing pool walls) jj______
— ~
. 7 ~N
Included Stair Hardware / @ |1 @ \
1 149271 3/8" x 18" Rebar - Bundle of 20 / 145" \
70 149664 3/8" Washer Head Hex Nut P ©1 11 L1® LI®1 11 L1®1 1 L@ N
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - " 46" | BEAD S/ | "
40 42999 1 5/8" Clip Screw f_ VARIABLE RECEIVER
1 TEK75 Tek Screws - Pack of 75 ---
2 NSS111 Small Nexus L Clip BEAD (installer must BEAD
- /_ RECEIVER specify size) RECEIVER
6 NSS1112 Large Nexus Brace Clip --- (installer to attach to (installer to attach to
9 NSS8BR 8' Bead Receiver - existing pool walls) existing pool walls)
] : |
!

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

1.
143

BEAD
RECEIVER

o |

© |

EONE
48"

| |®|”I| |

o

L1® 1 ;I

EONE
48"

RS

24" |

42VS182R - "SD

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

1.

48"

VARIABLE 1,

14 (Installer must specify size) 143"

M

BN

7.
8g

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

ISPSC 2024 STANDARDS FOR 6 1

RESIDENTIAL INGROUND SWIMMING

POOLS




42VS202R

Count| PART# DESCRIPTION

LETTER

13 NSS136 48" Step Riser

NSS173R 46" Top Step Riser - RIGHT

NSS170L 46" Top Step Riser - LEFT

NSS107 42" Stair Brace Wall Insert

NSS308 36" Sundeck / Stair Brace Extension

NSS304 2 Piece Straight Stair Brace - Top Step

MIplO|ID[FR]|+-

NSS305 2 Piece Straight Stair Brace - Bottom Step

(optional)

Included Stair Hardware

149271 3/8" x 18" Rebar - Bundle of 20

42VS202R

(optional)

(optional)

20' X 2'R Nexus Full End Stair w/ Variable Sundeck

(optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)

75 149664 3/8" Washer Head Hex Nut

75 149670 3/8" x 1 1/4" Washer Head Hex Bolt

40 42999 1 5/8" Clip Screw

TEK75 Tek Screws - Pack of 75

NSS111 Small Nexus L Clip

6 NSS1112 Large Nexus Brace Clip

BEAD

10 NSS8BR 8' Bead Receiver

RECEIVER
(installer to attach to

e

existing pool walls)

NOTE: This Modular Step Unit comes with Bead Receiver (NSS8BR) to accomodate
sundecks up to 8'in width.

L 1 ®

P

BEAD
RECEIVER
VARIABLE

(Installer must
specify size)

®

HON

L

BEAD
RECEIVER
(installer to attach to
existing pool walls)

N

D

L ® ]

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

BEAD

RECEIVER | 14k |

i
-

L® 1 1
48"

@11 !I

|O|I|| i

|
LI®1 11 11 ®r a1
48" L 48" !

42V S202R SD

A

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

2)
3)

4)

8"

B

VARIABLE

L

|_14§ (Installer must specify size) 145 1

o

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




425S5162R-0808-08RB

16' x 2'R Nexus Side-by-Side w/ 8' Stair & 8' x 8' Sundeck Right

ISPSC 2024 STANDARDS FOR

Count PART# DESCRIPTION LETTER - -
6 NSS136 48" Step Riser ® 4255162R-0808-08RB
1 NSS173R 46" Top Step Riser - RIGHT <D> (optional) (optional) (optional)
1 NSS170L 46" Top Step Riser - LEFT (e) y y BEAD RECEIVER g
3 NSS107 42" Stair Brace Wall Insert H) 023@2? womglt;;
2 NSS300 48’ Sundeck / Bench Riser (®) T ———— | — —— 71—
1 NSS302 24" Sundeck / Bench Riser (D) - T T ~
1 NSS303 2'RR Sundeck / Bench Riser ® /// @ 14%.. qJ) @ 14%.. @ N\ \
3 NSS147 Stra|ght_Sta|r Brace - 14.5" Tread (U) ) I @ L] 1 1 @ [ [ ] @ 111 [ ] @ 111 .
2 NSS150 Variable Sundeck Brace (V) / 26" | NSS304 /] 46" \ \
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) ‘_ BEAD / T extension REsmvER 1 pet
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace (Y) RECEIVER | T [ 1 @ L1t [ 1 @ 111
| BEAD BEAD i | |
RECEIVER

Included Stair Hardware | (installer to attach to | RECEWER 147 | |
1 149271 3/8" x 18" Rebar - Bundle of 20 | existing pool walls) :I: LI®1 11 111 ® |

70 149664 3/8" Washer Head Hex Nut 75 48 ' 48"

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | | 1, | |

40 42999 1 5/8" Clip Screw | | 817 | |

1 TEK75 Tek Screws - Pack of 75 - | | | |
2 NSS111 Small Nexus L Clip --- |
6 NSS1112 Large Nexus Brace Clip - | B I—l
6 NSS8BR 8 Bead Receiver |
|
|
Vinyl Works Liner Special Feature Item Numbers L || E'? - ' E'ZD
VIW42SS162R-0808-08RB
96"
" 1. 1. " " "

1) Steel braces will be attached BETWEEN sections on step treads. 96" x 815" Sundeck 145 T 4T 14
End flanges on adjoining step risers will create a pocket to insert l_ (! D (!
the steel brace. || 83" ||

2) Steel braces NSS304 & NSS305 bolted together will create the 19‘%- ] | = 7
standard NSS147 brace for full end step units. L 103" L

3) Installer must specify the measurement of the sundeck area to l | | 8 l | |
ensure proper liner fit. N -0 — | | 40 |3_ — | |

4) This Modular Step Unit can be made with 6" Radius Corners by o || 10§" ||
installing the optional 6"R foam corner insert (GLAUC4442NT). 203.. 223,, |_

One required per feature that must be cut to size. ALWAYS 4 F 4 | | 103,, ° | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND o || I8 | |
LINER. L1 = L1
NOTES FOR INSTALLER: - P o,ym er
PERIMETER PANELS WILL I I l p e r I a POOL SYSTEM
REQUlRE DRILLING HOLES THIS STAIR / SUNDECK CONFORMS TO
TO ATTACH STEP RISERS ® P O O L S CURRENT APSP/ANSI/ICC-5 2011 &

RESIDENTIAL INGROUND SWIMMING
POOLS

63




425S5162R-0808-08LB

Count  PARTS DESCRIPTION T 16' x 2'R Nexus Side-by-Side w/ 8' Stair & 8' x 8' Sundeck Left
6 NSS136 " Step Riser A
1 NSS173R 46" Top Step Riser - RIGHT ®) 42SS162R-0808-08LLB
1 NSS170L 46" Top Step Riser - LEFT (e)
3 NSS107 42" Stair Brace Wall Insert @ (optional) (optional) (optional)
2 NSS300 48' Sundeck / Bench Riser @ BEAD RECEIVER —
1 NSS302 24" Sundeck / Bench Riser (D) et o e i
1 NSS303 2'RR Sundeck / Bench Riser (@) B e A = —— T~
3 NSS147 Straight Stair Brace - 14.5" Tread [®) -~ T T \\
2 NSS150 Variable Sundeck Brace (V) // (LID 14% @ @ @ 14%-- N
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) /l 1 | @ 111 1l O [ | | [ ] @ 1 | 11 @ [ 1 |
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) s e | [PV AT pr— yye

Included Stair Hardware

BEAD
1

142 RECEIVER

|
L1 ®1 11 111 ®y 1

48" L 48"

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip -
6 NSS1112 Large Nexus Brace Clip -
6 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

VW42SS162R-0808-08LB

/

f_ 14- RECEIVER extension | —l BEAD
IEON |I|O||| _® [

|

|

|

|

|

|

LJ

A
BEAD J ‘
RECEIVER
(installer to attach to
existing pool walls)

1.
813

LT O 11

*
i

96"

1. 1. 1,
|—14 45145 ‘,142 i
A

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the

standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

] 85
- >

B RN
BN

96" x 813" Sundeck

19‘_1..

22§" 20

NN

N
1

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperlal
POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 64
RESIDENTIAL INGROUND SWIMMING
POOLS




425S5162R-0808-06RB

16' x 2'R Nexus Side-by-Side w/ 8' Stair & 8' x 6' Sundeck Right

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser [O)
1 NSS173R 46" Top Step Riser - RIGHT [®) 4288162R-O808-06R B
1 NSS170L 46" Top Step Riser - LEFT (e)
3 NSS107 42" Stair Brace Wall Insert H (optional) (optional) (optional)
1 NSS300 48' Sundeck / Bench Riser @ BEAD RECEIVER
2 NSS302 24" Sundeck / Bench Riser @ (inst_al!er to attach to
1 NSS303 2RR Sundeck / Bench Riser ® _ - ) _ __ Sxstngpoolwalls) | ) -
3 NSS147 Straight Stair Brace - 14.5" Tread [®) ~ T 1 ~
2 NSS150 Variable Sundeck Brace (V) 7 l © l N
1 NSS304 2 Piece Straight Stair Brace - Top Step (W) / 14% W 14%" N\
2_| NSS306 (04N296-3) 24" Sundeck / Bench Brace O) // (WEONE L1® LI® 1 1 1] L1® 1 1 \\
[— 46" 48—~ - / } 46 )
| r il NS et g | \
Included Stair Hardware '_ RECEIVER — 2 l
1 149271 3/8" x 18" Rebar - Bundle of 20 BEAD 111 @ L1 1l [ @ L1 1
70 149664 3/8" Washer Head Hex Nut | ~ RECEIVER | e — | ||
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | (nstatler to glt‘;‘,;n;)" QRS RECEVER 14 | | |
40 42999 1 5/8" Clip Screw | 9P 57l | 1 @ 1 1 1| i 11 @ 1 1 1 | |
1 TEK75 Tek Screws - Pack of 75 2 28" ) 28" |
2 NSS111 Small Nexus L Clip - | | | |
6 NSS1112 Large Nexus Brace Clip | R | |
6 NSS8BR 8' Bead Receiver - | | |
| |1
I O I () LI
. . . . 48" . 24"
Vinyl Works Liner Special Feature Item Numbers
VW42SS162R-0808-06RB 72" '
" 1. _..“ 1. 1. 1.
96" x 572 Sundeck—]-—142 I-—142 —]-—142 —]-—142 ]
- (. - (.
. . N 8’ ||
1) Steel braces will be attached BETWEEN sections on step treads. 1. _ — _
End flanges on adjoining step risers will create a pocket to insert 192 1 3 1
the steel brace. | | 103" | |
2) Steel braces NSS304 & NSS305 bolted together will create the | | ] 40" I_ | ]
standard NSS147 brace for full end step units. | | 3 | |
3) Installer must specify the measurement of the sundeck area to o 10§
ensure proper liner fit. 203-- 223" || I_ I ||
4) This Modular Step Unit can be made with 6" Radius Corners by 4 F 4 | | 3, |° | ]
installing the optional 6"R foam corner insert (GLAUC4442NT). o | | 10§ | |
One required per feature that must be cut to size. ALWAYS L] L ° L]
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: - P o,ym er
PERIMETER PANELS WILL | I l p e r I a POOL SYSTEM
REQUlRE DRILLING HOLES THIS STAIR / SUNDECK CONFORMS TO
I ) CURRENT APSP/ANSI/ICC-5 2011 &
TO ATTACH STEP RISERS ® O O L S ISPSC 2024 STANDARDS FOR 65

RESIDENTIAL INGROUND SWIMMING
POOLS




425S5162R-0808-06LB

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser [O)
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (e)
3 NSS107 42" Stair Brace Wall Insert
1 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
3 NSS147 Straight Stair Brace - 14.5" Tread (U)
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
6 NSS8BR 8' Bead Receiver ---

Vinyl Works Liner Special Feature Item Numbers
VW42SS162R-0808-06LB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

16' x 2'R Nexus Side-by-Side w/ 8' Stair & 8' x 6' Sundeck Left
4255162R-0808-06LB

(optional) (optional) (optional)

BEAD RECEIVER
(installer to attach to :L j
_________ existing pool walls) _
// T\
s |
/ 143 w 142 \
/1 1 © ] (1@ 1 ||O LE® 1 1 1\
N i /
1
|
|

| BeAD  —AKISS304—— BEADA6" f

L
l4§ RECEIVER extension __ RECEIVER ‘_‘
L ®g g g [ ® |

|
|
|
|
|
|
|

BEAD
| BEAD —/ | RECEIVER

14%" RECEIVER 24" @ (installer to attach to
existing pool walls)

INRONI o1

|
|
|
i 48" 48" = I ( ) —
|
|

)

S @

3
L 374 I © 11
24" | 48" !
72"
1. " 1.
|—142 —-|—142 —|—142 145 —-|—96 X572 Sundeck———
. _
(I 3 (I
N 8 N
=7 — =7 19}
I 103" I
N o I I I N
|| Al iyt ||
|| [ I || 3 o o3
| — 0.5 | 22 174
10§"
N 1 N o
L1 L1

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

NOTES FOR INSTALLER: - P ,y
PERIMETER PANELS WILL . I | I l p e r I al o POO,L'S1Y§E5
®

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 6 6
RESIDENTIAL INGROUND SWIMMING
POOLS




425S5162R-0610-08RB

16' x 2'R Nexus Side-by-Side w/ 6' Stair & 10' x 8' Sundeck Right

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

PO

Imperial

OLS

Count PART# DESCRIPTION LETTER
4 NSS136 48" Step Riser (A) - -
¢ [ wssi ® 42S5S162R-0610-08RB
1 NSS173R 46" Top Step Riser - RIGHT (D) ) - ; i
1 NSS165L 22" Top Step Riser - LEFT @ (optional) BEAD RECEIVER — (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert @ (installer to attach to
3 NSS300 48 Sundeck / Bench Riser (@) _ - B L I —
1 NSS303 2'RR Sundeck / Bench Riser ® ~ 1 ~
3 NSS147 Straight Stair Brace - 14.5" Tread [®) 7 @ I1 @ |1 @ N
2 NSS150 Variable Sundeck Brace (D) / 143" 143" N\
1 NSS304 2 Piece Straight Stair Brace - Top Step (W) / | @ I I @ I © Ll @ L1 1 | ] @ ] \
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) [ " i 46" geap | —~—NSS304  BEAD /) |l 22—\ '\
| RECEIVER I_ = extensionRECEIVER 147"
, N BEAD O L1®1 1] ©__[
Included Stair Hardware | RECEIVER | | - st | ||
1 149271 3/8" x 18" Rebar - Bundle of 20 -- (installer to attach to | | — RECEIVER 14t |
70 149664 3/8" Washer Head Hex Nut ~ | existing pool walls) L1I® | | |2 I © |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- | :It :It _ 48" ) 24" |
40 42999 15/8" Clip Screw | | | Qs | |
1 TEK75 Tek Screws - Pack of 75 -- g1l
2 NSS111 Small Nexus L Clip - | | | — | |
6 NSS1112 Large Nexus Brace Clip - | | | | ||
6 NSS8BR 8' Bead Receiver - | | I— |_|
|
|
Vinyl Works Liner Special Feature Item Numbers | é’) é’)
VW42SS162R-0610-08RB i1 © 1111 © 1)
. 48" : 48"
96" 1
120" x 813" Sundeck 141"~‘ 1434l 141
2 [ "2 "2 2 2
1) Steel braces will be attached BETWEEN sections on step treads. 81" M
End flanges on adjoining step risers will create a pocket to insert 1 8 | |
the steel brace. 197" — h 0
2) Steel braces NSS304 & NSS305 bolted together will create the 10%" L ||
standard NSS147 brace for full end step units. - - 40" |_ _ l
3) Installer must specify the measurement of the sundeck area to 3. T | |
ensure proper liner fit. o 10§ | |
4) This Modular Step Unit can be made with 6" Radius Corners by 20%" | 22§" |— — ||
installing the optional 6"R foam corner insert (GLAUC4442NT). 4 102" °
One required per feature that must be cut to size. ALWAYS o |8 | |
SPECIFY CORNERS WHEN ORDERING THE POOL AND z [ |
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

67




425S5162R-0610-08LB

Count PART# DESCRIPTION LETTER
4 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser ©
1 NSS170L 46" Top Step Riser - LEFT (e)
1 NSS162R 22" Top Step Riser - RIGHT
4 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
3 NSS147 Straight Stair Brace - 14.5" Tread (U)
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
6 NSS8BR 8' Bead Receiver ---

Vinyl Works Liner Special Feature Item Numbers
VW42SS162R-0610-08LB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

16' x 2'R Nexus Side-by-Side w/ 6' Stair & 10' x 8' Sundeck Left
425S162R-0610-08LB

M

191

B

20

Al

(optional) (optional) (optional) (optional)
BEAD RECEIVER
(installer to attach to
existing pool walls) —I
P D = - T ~
7 ~N
I
/,||® L1® 1 © L1® 1 4 L1 ® 1 1 £\
"2 |1 BEAD —NSS304—— 24" 48"—BEAD = 46" f “
14— RECEIVER extension RECEIVER | \_\
f— © |I L® 111 ® | .
| BEAD ~ RECEIVER |
| |y Recever N Rty |
| ©_ 1 |I | Ol L1 :I: |
24" !
| | | |
1.
| | | 815 |
|| | |
L | |
|
@ |
|
[ O N T T 1 O O I
48" L 48" J
96"
L7 DR ¥ VR Y ¥ 120" x 812" Sundeck
27T %2 T 21 X 813" sundec
-
7
| . i? | .
[ /] 103 | [ /]
| B 8 || ]
| L] —|3 40" | - — — - —
| 10g" | | o
| —— — || 223" i
1103
! S :

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperlal
POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

68




425S5162R-0610-06RB

Count PART# DESCRIPTION LETTER
4 NSS136 48" Step Riser [O)
3 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS165L 22" Top Step Riser - LEFT [©)
4 NSS107 42" Stair Brace Wall Insert @
2 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser P
3 NSS147 Straight Stair Brace - 14.5" Tread (@)
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (D)
2 |NSS306 (04N296-3) 24" Sundeck / Bench Brace @

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt -
40 42999 1 5/8" Clip Screw -

1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip -
6 NSS1112 Large Nexus Brace Clip --
6 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

VW42SS162R-0610-06RB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the

standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

16' x 2'R Nexus Side-by-Side w/ 6' Stair & 10' x 6' Sundeck Right
4255162R-0610-06RB

(optional) (optional)

(optional)

(optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)
— - = - -
/

s
/ |‘|®|

A

/
f

/ 46" 48"BEAD

F_ RECEIVER
BEAD

| RECEIVER

|

| 57

|

|

|

|

L

(installer to attach to
existing pool walls)

L 48"

72"

N
=]
INTN
N
N
NN

L 190" 1. 1.
120 x572 Sundeck41—142

24"

-

M

- 1

extension RECEIVER 14%" l

L1® 111l

—~—NSS304 BEAD _/l |_22"_J\ \

40"

K
- —

B

h—

§" °
10l8

| Beab - | I |
@24" RECEIVER 14%" | | |
LI1I®1 11l 1 © g
48" ! 24" |
| |
||
||
| |
L
/Y R C— ¥
%2 T 21T 271
- —
gln
)
'_ _

N I

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

®

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

69




425S5162R-0610-06LB

1 1 H M 1 M 1 1
Coun  PART# DESCRIPTION LETTER 16' x 2'R Nexus Side-by-Side w/ 6' Stair & 10' x 6' Sundeck Left
4 NSS136 48" Step Riser %%
3 NSS169 24" Step Riser (¢ - _
T B A— ) 42SS162R-0610-06LB
1 NSS162R 22" Top Step Riser - RIGHT [G)
4 NSS107 42" Stair Brace Wall Insert (H) (optional) (optional) (optional) (optional)
- x BEAD RECEIVER
2 NSS300 48 Sundeck / Bench Riser [(®) (installer to attach to
1 NSS302 24" Sundeck / Bench Riser @ existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser () P I A I
3 NSS147 Straight Stair Brace - 14.5" Tread (@) / l
2 NSS150 Variable Sundeck Brace (V) // 14l O 145 \
1 NSS304 2 Piece ?tralght Stair Brace - Top Step (D) IO | l | O [ 1 | O L1 1 | @ [ 1 \
2 |NSS306 (04N296-3) 24" Sundeck / Bench Brace @ / /. i | BEAD —/7\188304 T — A 46" A \
14} RECEIVER  extension | RECEIVER ‘_‘
Included Stair Hardware H © l l | L®1 11 I ®
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | N I | v |
70 149664 3/8" Washer Head Hex Nut - | | | 14%" RECEIVER 24" @ (installer to attach to |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - existing pool walls)
I _© {1l | |
40 42999 1 5/8" Clip Screw -- ; e , o 575"
1 TEK75 Tek Screws - Pack of 75 - | | 4 4 . —@— — | |
2 NSS111 Small Nexus L Clip - | | |
6 NSS1112 Large Nexus Brace Clip -- R2
6 NSS8BR 8' Bead Receiver -- | | P |
|| 3 |
372"
4
LI | © 1111 © 111
Vinyl Works Liner Special Feature Item Numbers j— 8 ' 48 '
VW42SS162R-0610-06LB 72"
1. 1. 1. 1. " 1.
|—142 —|—142 —|—142 ] 142 —li120 X 572 Sundeck
1 ] (. ]
_ _ || 8’ ||
1) Steel braces will be attached BETWEEN sections on step treads. | F—— _} | F—— 19;_[,,
End flanges on adjoining step risers will create a pocket to insert A 3 A 4
|| = 103" || =
the steel brace. 8
2) Steel braces NSS304 & NSS305 bolted together will create the | | l _ _I " | | l ________ o .
) ] 40 I
standard NSS147 brace for full end step units. | | A 3, | |
3) Installer must specify the measurement of the sundeck area to = 10§ o
ensure proper liner fit. || ! —_— —| || 223-- 20%"
4) This Modular Step Unit can be made with 6" Radius Corners by | | ° 103" || 4 7]
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 8 | | o
One required per feature that must be cut to size. ALWAYS L1 ° ' L
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P o,ym er

PERIMETER PANELS WILL

REQUIRE DRI

TO ATTACH STEP RISERS

LLING HOLES

Imp

erial
POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




425S5182R-0612-06LB

Count PART# DESCRIPTION LETTER
5 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS165L 22" Top Step Riser - LEFT G
4 NSS107 42" Stair Brace Wall Insert @
2 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ()
4 NSS147 Straight Stair Brace - 14.5" Tread (@)
3 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace @

Included Stair Hardware

18' x 2'R Nexus Side-by-Side w/ 6' Stair & 12' x 6' Sundeck Left
4255182R-0612-06LB

(optional)

(optional)

(optional)

(optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)
- ~
/ AN
/ 143 W U U 143 U
/,||®||| L1®] 11 RONN L1®1 1 | O
h 46" / 49" "
BeAD 1 NSS304—— 48— Nz 4 22
f_ ECEIVER 143" extension _\\ RECEIVER ~
L1I®1 1 1] © ®

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -
40 42999 1 5/8" Clip Screw ---
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
7 NSS8BR 8' Bead Receiver ---

Vinyl Works Liner Special Feature Item Numbers

1

143"

BEAD

RECEIVER

©

2
L1®y 11l
48"

C

24"

57:

SIS

BEAD RECEIVER
(installer to attach to
existing pool walls) |

¢

@)

a9v.
48’

a9,
48’

VW42SS182R-0612-06LB . . . # 2 .
|—14§"—-|—14§"—|—14§"—| 142"—1—144" x 575" Sundeck———
1 S 1
| | 8 || .
1) Steel braces will be attached BETWEEN sections on step treads. | T~ A _}3 | T~ A 197"
End flanges on adjoining step risers will create a pocket to insert || — 10§" || —
the steel brace. | ! _| 40" | ! _______ I
2) Steel braces NSS304 & NSS305 bolted together will create the 103,,
standard NSS147 brace for full end step units. | | 8 | | o 3,
3) Installer must specify the measurement of the sundeck area to | | - _I | | 22%" - 201
ensure proper liner fit. | | 10%" | |
4) This Modular Step Unit can be made with 6" Radius Corners by L) ° | L °
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
[

NOTES FOR INSTALLER:
PERIMETER PANELS WILL

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

/1




425S182R-0612-06RB

Count PART# DESCRIPTION LETTER
5 NSS136 45" Step Riser % 18' x 2'R Nexus Side-by-Side w/ 6' Stair & 12' x 6' Sundeck Right
ep Riser
1 NSS170L 46" Top Step Riser - LEFT ®) 4288182R_0612_06RB
1 NSS162R 22" Top Step Riser - RIGHT [G)
4 NSS107 42" Stair Brace Wall In-sert @ (optional) (optional) (optional) (optional)
2 NSS300 48' Sundeck / Bench Riser @ BEAD RECEIVER —
2 NSS302 24" Sundeck / Bench Riser @ (ins;al!er to attach to
1 NSS303 2'RR Sundeck / Bench Riser ®) _ - — _ dstngpoolwaly) | ) _— -
4 NSS147 Straight Stair Brace - 14.5" Tread (@) _ ~ [ ~ N
3 NSS150 Variable Sundeck Brace (V) / (LJD @ |1" (LJD @ @ |1" \
1 NSS304 2 Piece Straight Stair Brace - Top Step w) / ® ® 143 ® ® 143 ® \
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ I - || 1| L L1 | I I,. L Ll I L y
[ f——zz <+ NS BEAD / L ® ——NSS304 . ' ge 7\ \
T T RECEIVER T < : = SeRen 143" RECEIVER
Included Stair Hardware r— 1 @ 1l @ 1 1 1 H
1 149271 3/8" x 18" Rebar - Bundle of 20 --
/)f, he al dun o | BEAD RECEIVER | 1, BEAD —/ | |
70 149664 3/8" Washer Head Hex Nut - | (installer to attach to @ 2 | 145" RECEIVER |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - existing pool walls) . © L 1 ® 1 1
40 42999 15/8" Clip Screw - | | 53 oo . o |
1 TEK75 Tek Screws - Pack of 75 -- | ] |
2 NSS111 Small Nexus L Clip -
6 NSS1112 Large Nexus Brace Clip -- | | |
7 NSS8BR 8' Bead Receiver ~ | | |
| ™ 111 ®© 11l ® ] Ll
L 24" L 48" L 48"
Vinyl Works Liner Special Feature Item Numbers
VW42SS182R-0612-06RB 1 2 L '
—144" x 575" Sundeck—|—l4§" |—14§"—|-—14§" 142"—|
- M M
_ _ . || 8 ||
1) Steel braces will be attached BETWEEN sections on step treads. 192" - _| | = - _| |
End flanges on adjoining step risers will create a pocket to insert L 103" L
the steel brace. | e l || |8_ . l |1
2) Steel braces NSS304 & NSS305 bolted together will create the — | | 40 3 h — | |
standard NSS147 brace for full end step units. ° | | 10§" — | |
3) Installer must specify the measurement of the sundeck area to 203-- 223,, | | |_ _ ! | |
ensure proper liner fit. 4 r 4 103 L
4) This Modular Step Unit can be made with 6" Radius Corners by o | | 8 | |
installing the optional 6"R foam corner insert (GLAUC4442NT). | | ' : | |
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

72




425S5182R-0612-08LB

18' x 2'R Nexus Side-by-Side w/ 6' Stair & 12' x 8' Sundeck Left

425S5182R-0612-08LB

Count PART# DESCRIPTION LETTER
5 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser (C) (optional) (optional) (optional) (optional)
1 NSS173R 46" Top Step Riser - RIGHT (D) j j (initEalﬁgr?oEgnligfhEg ‘l—jb j
1 NSS165L 22" Top Step Riser - LEFT @ existing pool walls)
4 NSS107 42" Stair Brace Wall Insert (H) R I Y I R
3 NSS300 48 Sundeck / Bench Riser (@) / | d d <l> | d N
1 NSS302 24" sundeck / Bench Riser (D) / gy U U/ U 143 U \
1 NSS303 2'RR Sundeck / Bench Riser P / 1 1®1 11 L1®T 11 L1 ®1 11 1AW 11 HOIK \
4 NSS147 Straight Stair Brace - 14.5" Tread (@) A sEAD 6" — A NSS304—— 48" | BEAD f 22"—-\
3 NSS150 Variable Sundeck Brace V) f_ RECEIVER 145" extension L _@_ - | RECEIVER | _‘
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) IEONEN © | | | |
2| NSS306 (04N296-3) 24" Sundeck / Bench Brace O) | seno 14|1” | | | :
| CEIVER 2 [
Included Stair Hardware | — 4!3-. L L. ! g? = @ :IZ :IZ :IZ |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- | | | | | |

70 149664 3/8" Washer Head Hex Nut -- 81%" |

70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | — | | (inithﬁErToEaCniI(\:/hEt?) 1

40 42999 1 5/8" Clip Screw - | | _ | | existing pool walls) |

1 TEK75 Tek Screws - Pack of 75 - L - | | |

2 NSS111 Small Nexus L Clip - |

6 NSS1112 Large Nexus Brace Clip --

7 NSS8BR 8' Bead Receiver -- éa é) éa :

L1 ®© 1111 © 111 @ g
Vinyl Works Liner Special Feature Item Numbers “ “” =
VW42SS182R-0612-08LB
) 96"
43— 145 143" }7141" 144" x 813" Sundeck

1) Steel braces will be attached BETWEEN sections on step treads. M 2 2 2 —_ — 2| 2
End flanges on adjoining step risers will create a pocket to insert | 8Zn || 7
the steel brace. _ _|8 _ 1.

2) Steel braces NSS304 & NSS305 bolted together will create the | [ A 3. | A 197
standard NSS147 brace for full end step units. | | i 10§ | ] i

3) Installer must specify the measurement of the sundeck area to || i —| 40" | | I —— — —
ensure proper liner fit. 103..

4) This Modular Step Unit can be made with 6" Radius Corners by || 8 || 3 © 3.
installing the optional 6"R foam corner insert (GLAUC4442NT). | | _|3 | | 227" 1 20
One required per feature that must be cut to size. ALWAYS || 105" || o
SPECIFY CORNERS WHEN ORDERING THE POOL AND L] ° | L]

LINER.

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




425S182R-0612-08RB

Count PART# DESCRIPTION LETTER
5 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser ©
1 NSS170L 46" Top Step Riser - LEFT (e)
1 NSS162R 22" Top Step Riser - RIGHT F
4 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ()
4 NSS147 Straight Stair Brace - 14.5" Tread (@)
3 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace @

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -
40 42999 1 5/8" Clip Screw ---
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
7 NSS8BR 8' Bead Receiver ---

Vinyl Works Liner Special Feature Item Numbers
VW42SS182R-0612-08RB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

18' x 2'R Nexus Side-by-Side w/ 6' Stair & 12' x 8' Sundeck Right

(optional)

—

425S182R-0612-08RB

(optional) (optional) (optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)
- - - - - — - - - - - — - - - - - - __T\

v
/
//© L ®

1 N\F ]

| |
143 U W U 142

E

L1® 1 1 L1®] 1 11 ®

~
\\
\

I I
7

BEAD RECEIVER
(installer to attach to
:I: existing pool walls)

‘/— f—zz" |
i
|
|
|
|
|
|
|

i

hY

sean 48" =—NSS304

46"
BEAD I

. 1.
( ) extension 145
RECEIVER = _ O I|2 I | | |

ECEIVER

BEAD ]-/ |1”
- 145

RECEIVER
© 11 ®1 1
1 48u

@ 24

™
24"

2

v arle
144" x 815

L _____ T~

06"
Sundeck 141"~‘ 14l qple g4l
| 2 [ 72 2 2]
o T —

[ [~

T

-

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperial
® POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 74
RESIDENTIAL INGROUND SWIMMING
POOLS




42S5S5182R-0810-06LB

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step R_|ser [O) ' | . . ' . ' |
1 NSS169 24 Step Riser ©) 18' x 2'R Nexus Side-by-Side w/ 8' Stair & 10' x 6' Sundeck Left
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT ® 42SS182R-0810-06LB
2 NSS107 42" Stair Brace Wall Insert @
2 NSS300 48' Sundeck / Bench Riser @ (optional) (optional)
1 NSS302 24" Sundeck / Bench Riser @ BEAD RECEIVER
1 NSS303 2RR Sundeck / Bench Riser (P) (installer to attach to
3 NSS147 Straight Stair Brace - 14.5" Tread (@) o T — exsingpoolwals) | _ ) —— T~
2 NSS150 Variable Sundeck Brace (V) / - l l > N
1 NSS304 2 Piece Straight Stair Brace - Top Step (W) // 14%" @ @ @ @ 14%" \
NSS306 (04N296-3 "
2 ¢ ) 24" Sundeck / Bench Brace ) /A1 ] L1®1 1] © L1®1 1] L1® 1 11 N\
[ 46" " " A
luded Stair Hard [ ) L BEAD Nssad——I— 273, o 4 \ \
Included Stair Hardware H > RECEIVER extension | T RECEIVER ~ _1
1 149271 3/8" x 18" Rebar - Bundle of 20 - L1®1 1 1] L1 L1 1 [
70 149664 3/8" Washer Head Hex Nut — || | BEAD | |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | O 143" | Recener 2 @ |
40 42999 15/8" Clip Screw - HEOI NN EEEOREE 57l
1 TEK75 Tek Screws - Pack of 75 ~ | 48" : 48" | 7 _ |
- BEAD RECEIVER
2 NSS111 Small Nexus L Clip - | | (installer to attach to |
6 NSS1112 Large Nexus Brace Clip - | | existing pool walls) |
7 NSS8BR 8' Bead Receiver -- | | |
L] I I R I I | N O B
Vinyl Works Liner Special Feature Item Numbers 8 8
VW42SS182R-0810-06LB . . . e
|-—14§ —|-—14§ —|-—14§ — 142 —ﬁlm X 572 Sundeck——— B
M T M
% 1
S ° S
1) Steel braces will be attached BETWEEN sections on step treads. | | A 3. | | A 192
End flanges on adjoining step risers will create a pocket to insert | | = 10§ | | =
the steel brace. | ! — — 40" | ! ——————— - — —
2) Steel braces NSS304 & NSS305 bolted together will create the 10§..
standard NSS147 brace for full end step units. || 8 || 3 o 3,
3) Installer must specify the measurement of the sundeck area to | | - — | | 225" 4 207
ensure proper liner fit. | | 10§" | |
4) This Modular Step Unit can be made with 6" Radius Corners by | o | | o
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: - P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

M

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

75




42S5S5182R-0810-06RB

Count PART# DESCRIPTION LETTER . . . . . . . . .
6 NSS136 48’ Step Riser ® 18' x 2'R Nexus Side-by-Side w/ 8' Stair & 10' x 6' Sundeck Right
1 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT [®) 4288182R'0810'06RB
1 NSS170L 46" Top Step Riser - LEFT [G)
2 NSS107 42" Stair Brace Wall Insert @ (optional) (optional)
2 NSS300 48' Sundeck / Bench Riser L BEAD RECEIVER —
1 NSS302 24" Sundeck / Bench Riser (@) O ot
1 NSS303 2'RR Sundeck / Bench Riser () e R e = Tl — — ~ <
3 NSS147 Straight Stair Brace - 14.5" Tread (@) / | | N
2 NSS150 Variable Sundeck Brace (V) // @ 14:_2L (LJD (VJD @ 14%" \\
1 NSS304 2 Piece Straight Stair Brace - Top Step (W) / [ 1 @ 111 11 @ [ 1 1 © [ 1 @ [ 1 1 11 @ [ 1 1 \
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ / ’1 "o _/ oye — Nesa0n _/ o \ \
AN BEAD NS g BEAD 1.
~ RECEIVER [ (:) ] _ extension RECEIVER 143
Included Stair Hardware r— ITEONIN L1 ® 1 1 H
1 149271 3/8' x 18" Rebar - Bundle of 20 - | @ 2!1" sean | l;" ||
70 149664 3/8" Washer Head Hex Nut - | RECEIVER 143 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | L— (inZ:Ea/ﬁeDrToE;thEg 57k L 1®] ] | L 11 ®
40 42999 15/8" Clip Screw - existing pool walls) | 48" . 48" |
1 TEK75 Tek Screws - Pack of 75 - | | |
2 NSS111 Small Nexus L Clip - | éo | |
6 NSS1112 Large Nexus Brace Clip -- | | |
7 NSS8BR 8' Bead Receiver --
(0 T T (O O I 1 B O
L 48" L 48" |_|
Vinyl Works Liner Special Feature Item Numbers 70" ,
VW425S182R-0810-06RB ———120"x 573" Sundeck—r—14%"~‘ 143145 145"
[ M v M
1 _ % _
- - 197 || L ||
1) Steel braces will be attached BETWEEN sections on step treads. h 1 cH h
End flanges on adjoining step risers will create a pocket to insert i | | 8 i | |
the steel brace. — - Ty T T T T = | | 40" I_ T = | |
2) Steel braces NSS304 & NSS305 bolted together will create the o | | 10%” | |
standard NSS147 brace for full end step units. 203.. 3. |_ _
3) Installer must specify the measurement of the sundeck area to 4 222 | | 3, |° | |
ensure proper liner fit. ° | | 103 | |
4) This Modular Step Unit can be made with 6" Radius Corners by | | : o | |
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

76




42S5S5182R-0810-08LB

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser [O)
1 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT [G)
2 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
3 NSS147 Straight Stair Brace - 14.5" Tread (U)
2 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip -
6 NSS1112 Large Nexus Brace Clip -
7 NSS8BR 8' Bead Receiver --

Vinyl Works Liner Special Feature Item Numbers

VW42SS182R-0810-08LB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

18' x 2'R Nexus Side-by-Side w/ 8' Stair & 10' x 8' Sundeck Left
4255182R-0810-08LB

(optional) (optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)

g i Rttt et— j | -
/,||®||| L1I® 1 © L1® ) 1 ||®|||\\
A 46" | BEAD _/ NSS304—=— 24 BEAD —/ 46" “ _‘
145" RECEIVE extension | _ - RECEIVER |
f—||®|||I L1 ® _®| | |
| 14|l-- | BEAD | | |
| 5 RECEIVE| |
|||®|||I|||A||| 4 & |
K | R R | |
| B | |7 |
| | BEAD RECEIVER 7 |
— | | (ins'FaI!er to attach to
I_I —l | existing pool walls) |
C\? C\? |
|
|
| || O 11111 O 111,
48" L 48" !
96"
14l 4l 14l ‘/141" 120" x 811" Sundeck
%2 T 2 | 2 | 2
| | 8g | | L
N sl T A 19
| | i 8 | | i
|| L] — 40" || - — — —— —
103"
| | _|8 | | 3 o 203
| | ] Loz | | 223 ] 207
| | 8 | | o
Ll d Ll

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperial
® POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42S5S5182R-0810-08RB

18' x 2'R Nexus Side-by-Side w/ 8' Stair & 10" x 8' Sundeck Right

Count PART# DESCRIPTION LETTER
6 NSS136 48" Step Riser A
- o 42SS182R-0810-08RB
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT [G) (optional) (optional)
2 NSS107 42" Stair Brace Wall Insert " j (netallor o stach 15 ] ij
3 NSS300 48' Sundeck / Bench Riser @ existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser ®) P I A I I T~ ~
3 NSS147 Straight Stair Brace - 145" Tread (®) Y C) | <j> C) C) I \
2 NSS150 Variable Sundeck Brace (V) / U 14%' U \UJ U 14%" \
1 NSS304 2 Piece Straight Stair Brace - Top Step_| (W) / A ©1 11 L1® 1 1 © L1®1 11 L1®4 9190~ \
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace [O) f 46" BEAD f 24" <—Nst530_ . SeAD ] ) yre \
RECEIVER — _ extension RECEIVER 5
: ‘_ | - LI®1 ] L1® 1 —\
Included Stair Hardware | | | — 7 | |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- 1 BEAD 1.
| | | RECEIVER | 145
70 149664 3/8" Washer Head Hex Nut -- I ] @ 1 1 1 ' I I @ 111 |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- | 2': ZI: = ) e |
40 42999 1 5/8" Clip Screw - | |  BEADRECEIVER @ 48" ||
1 TEK75 Tek Screws - Pack of 75 - (installer to attach to | 1. |
- existing pool walls) 815
2 NSS111 Small Nexus L Clip ~ | | | _ ||
6 NSS1112 Large Nexus Brace Clip - | | | | | ]
7 NSS8BR 8' Bead Receiver -- | | I— |_|
|
|
Vinyl Works Liner Special Feature Item Numbers | @ é’)
VW42SS182R-0810-08RB LLl 1 © 110l O 11 |
L 48" L 48"
96" t
120" x 813" Sundeck | 14%'%‘ r—14%"—r—14%"—r—14%"—|
1) Steel braces will be attached BETWEEN sections on step treads. M 81" M
End flanges on adjoining step risers will create a pocket to insert 1 | | 8 | |
the steel brace. 197" h ] |3_ h ]
2) Steel braces NSS304 & NSS305 bolted together will create the — | | 10§" L | |
standard NSS147 brace for full end step units. L - g 40" |_ _ g
3) Installer must specify the measurement of the sundeck area to || 3. h ||
ensure proper liner fit. 3, |° | | 10§ i ||
4) This Modular Step Unit can be made with 6" Radius Corners by 205" | 22%" || — — 1 ||
installing the optional 6"R foam corner insert (GLAUC4442NT). || 10%-- ||
One required per feature that must be cut to size. ALWAYS © | .
SPECIFY CORNERS WHEN ORDERING THE POOL AND | | |

LINER.

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

RESIDENTIAL INGROUND SWIMMING

ISPSC 2024 STANDARDS FOR

/8

POOLS




42S5S5182R-1008-06LB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O) " ' . . . . . \
> Neoise 24" Step Riser ©) 18' x 2'R Nexus Side-by-Side w/ 10' Stair & 8' x 6' Sundeck Left
1 NSS170L 46" Top Step Riser - LEFT (e)
1 NSS162R 22" Top Step Riser - RIGHT @ 4258182 R'1008'06LB
4 NSS107 42" Stair Brace Wall Insert H) _ _ _ _
1 NSS300 48' Sundeck / Bench Riser @ (optional) (optional) BEAD RECEIVER (optional) (optional)
2 NSS302 24" Sundeck / Bench Riser @ (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser ! 4 g exisngpoolwalls) ( ) .
4 NSS147 Straight Stair Brace - 14.5" Tread (@) _ - ~ ~
2 NSS150 Variable Sundeck Brace (V) / | I AN
- - - U] 144 wW U U) 141
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) / 2 2
2 | NSS306 (04N296-3) 24" Sundeck | Bench Brace © A 1@ INEONI L ®T 1 J1®9 ) o
- BEAD ! |1 NSS304 —= N B o \
i RECEIVER 145" extension | T Recewver T
Included Stair Hardware f— © [ ] @ [ 1 l TN @ [ 11 [
1 149271 3/8" x 18" Rebar - Bundle of 20 - | _/| | |
70 149664 3/8" Washer Head Hex Nut - BEAD 1. "
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | RECEIVER 2 il
X X = © 11 1®1 11 111 ®1 1 ool
40 42999 1 5/8" Clip Screw - | o . e ) s 2
1 TEK75 Tek Screws - Pack of 75 - | | _/
" BEAD RECEIVER
2 NSS111 Small Nexus L Clip - | | (installer to attach to
6 NSS1112 Large Nexus Brace Clip -- existing pool walls)
7 NSS8BR 8 Bead Receiver - | |
L (I | O
24" 1 48"
Vinyl Works Liner Special Feature Item Numbers 7o
VW42SS182R-1008-06LB
,—14%"—,—14%"—|—14%"—| 14%"—|796" x 573" Sundeck————

1 7 1 —l
|| 5’ || )
i i I ] = A 193"
1) Steel braces will be attached BETWEEN sections on step treads. (| 103.. (]
End flanges on adjoining step risers will create a pocket to insert | | l 8 | | l
the steel brace. | | — _|3 40" | e Y
2) Steel braces NSS304 & NSS305 bolted together will create the | | 105" || o
standard NSS147 brace for full end step units. — _I 223,, 203--
3) Installer must specify the measurement of the sundeck area to | o 3., || 4 T 4
ensure proper liner fit. || 105 || o
4) This Modular Step Unit can be made with 6" Radius Corners by L | ° : | |
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

M

erial

POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

79




42S5S5182R-1008-06RB

Count PART# DESCRIPTION LETTER
d NSS1%6 b R o 18' x 2'R Nexus Side-by-Side w/ 10" Stair & 8' x 6' Sundeck Right
1 NSS173R 46" Top Step Riser - RIGHT (D) 4288182R_1008_06RB
1 NSS165L 22" Top Step Riser - LEFT @
4 NSS107 42" Stair Brace Wall Insert @ ) ) ' )
1 NSS300 28 Sundeck / Bench Riser @ (optional) (optional) BEAD RECEIVER — (optional) (optional)
2 NSS302 24" Sundeck / Bench Riser @ (instlal!er to attach to
1 NSS303 2'RR Sundeck / Bench Riser ®) -1 —— - _ _odstingpoolwals) | ) __ —
4 NSS147 Straight Stair Brace - 14.5" Tread (@) / - T T ~ N
2 NSS150 Variable Sundeck Brace V) // 1l @ @ @ 1l @ \
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) 2
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ / ¥ I @ I - | I, | I,, @ | - @ L1 | | | | @ L 1 | I @ I \
’ sbao J ] L °® 3 I 22 \ \

Included Stair Hardware

RECEIVER

extension RECEIVER 145"

1L 1®) 1]

[
1 149271 3/8" x 18" Rebar - Bundle of 20 --- | | | |
BEAD
70 149664 3/8" Washer Head Hex Nut - |_— BEAD RECEIVER @ 24" ECEIVER 145" |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | (installer to attach to ® © |
X asher nea €X 50 existing pool walls) 57l" I I A I I I | I I A I I I I
40 42999 15/8" Clip Screw - | 2 48" 48" L 24" |
1 TEK75 Tek Screws - Pack of 75 --- | | |
2 NSS111 Small Nexus L Clip --- | | |
6 NSS1112 Large Nexus Brace Clip ---
7 NSS8BR 8' Bead Receiver --- | | |
Ll 1 © 1111 @ L
L 48" L 24"
Vinyl Works Liner Special Feature Item Numbers 7om
VW42SS182R-1008-06RB S— _‘ 1. 1. 1.
B 96" x 572 Sundeckﬁ—ﬂz | |—14§ —-|—14§ —|—14§ —
B M
1 | | 8 ||
- - 197 T 5 T
1) Steel braces will be attached BETWEEN sections on step treads. h 103.. h
End flanges on adjoining step risers will create a pocket to insert i | | 8 i | |
the steel brace. — - |\ — — — — — L | | 40" I_ — ||
2) Steel braces NSS304 & NSS305 bolted together will create the | | 10%" | |
standard NSS147 brace for full end step units. 203.. © 3., |_ _
3) Installer must specify the measurement of the sundeck area to 4 2271 | | 3, |° | |
ensure proper liner fit. o | | 105 | |
4) This Modular Step Unit can be made with 6" Radius Corners by [ | ! ° [ ]
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: - P o,ym er
PERIMETER PANELS WILL m e rl a
POOL SYSTEM
REQUlRE DRILLING HOLES THIS STAIR / SUNDECK CONFORMS TO
I ) CURRENT APSP/ANSI/ICC-5 2011 &
TO ATTACH STEP RISERS ® O O L S ISPSC 2024 STANDARDS FOR 80

RESIDENTIAL INGROUND SWIMMING
POOLS




42S5S5182R-1008-08LB

18' x 2'R Nexus Side-by-Side w/ 10' Stair & 8' x 8' Sundeck Left

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser A
T esis & 42S5182R-1008-08LB
1 NSS170L 46" Top Step Riser - LEFT (e)
1 NSS162R 22" Top Step Riser - RIGHT @ (optional) (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert @ ‘j—D (inletEaﬁErToEactgc\:/hEtE - j j
2 NSS300 48' Sundeck / Bench Riser @ existing pool walls)
1 NSS302 24" sundeck / Bench Riser (D) i A A | R ~
1 NSS303 2'RR Sundeck / Bench Riser ®) / d) L b d) b } N
4 NSS147 Straight Stair Brace - 14.5" Tread (@) / U 143" W U U) 14k \
2 NSS150 Variable Sundeck Brace (V) / | |® [ @ L1 1 1 l 1 @ L1 1 L1 @ L1 L] @ L1 1 N \
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) 22 BEAD Wi |1 NSS304 —— v — 46" “
NSS306 (04N296-3 " RECEIVER 145" extension [ RECEIVER _‘
2 ( ) 24" Sundeck / Bench Brace ™ '— © [ @ L1 4 I} | @ L1 — : — | : |
Included Stair Hardware : | REGENVER J | 1ad — | | |
1 149271 3/8" x 18" Rebar - Bundle of 20 - © 11 1®1 11 L 1 ® g 1 :!: :!: |
70 149664 3/8" Washer Head Hex Nut - | 24" ! 48" L 48" 7y @
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | | | | . |
40 42999 15/8" Clip Screw -- | | | | 815" |
1 TEK75 Tek Screws - Pack of 75 - —
2 NSS111 Small Nexus L Clip -- | | |— | | BEAD RECEIVER —/ |
6 NSS1112 Large Nexus Brace Clip — LJ N _ | O oo |
7 NSS8BR 8' Bead Receiver - \ é/) é/) |
|
Vinyl Works Liner Special Feature Item Numbers " I @ 111 © 11 !
VW42SS182R-1008-08LB ! 20" - 48" :
: 96"
1414l g4l }7141" 96" x 812" Sundeck
[ "2 2 2] 2 1 2
1) Steel braces will be attached BETWEEN sections on step treads. M SZ" M 7
End flanges on adjoining step risers will create a pocket to insert || 8 || 1
the steel brace. | [ A _}3 | T A 193"
2) Steel braces NSS304 & NSS305 bolted together will create the | | = 10g" || —
standard NSS147 brace for full end step units. || g — 40" | ! ___________ ——
3) Installer must specify the measurement of the sundeck area to 103..
ensure proper liner fit. || 8 | | 3 o 3.
4) This Modular Step Unit can be made with 6" Radius Corners by | | _|3 | | 22," ] 2071
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 105" | | o
One required per feature that must be cut to size. ALWAYS Ly . | L

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




42S5S5182R-1008-08RB

18' x 2'R Nexus Side-by-Side w/ 10" Stair & 8' x 8' Sundeck Right

Vinyl Works Liner Special Feature Item Numbers

Count PART# DESCRIPTION LETTER 4288182R 1008 08RB
7 NSS136 48" Step Riser [O) - -
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT <D> (optional) (optional) (optional) (optional)
1 NSS165L 22" Top Step Riser - LEFT G BEAD RECEIVER
4 NSS107 42" Stair Brace Wall Insert H) O e
2 NSS300 48' Sundeck / Bench Riser L e R e e S —
-~ ~
1 NSS302 24" Sundeck / Bench Riser @ Y | | N
1 NSS303 2RR Sundeck / Bench Riser ) / U) 1l W 14k U \
4 NSS147 Straight Stair Brace - 14 5" Tread ) SALO L] INEON EONEE L1® 1] ORI
2 NSS150 Variable Sundeck Brace (V) f 46" [ _/ ~—NSS304 | | _/ 2o \
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) r_’ | RE?:EE?\I/DERI_ | extension b RE?:EE/IAD .
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace Q) | | _®_ Yy [ ] @ [ 1 1l l IO ©
| ] [ J |
1. BEAD |
Included Stair Hardware | | | =] 143 | RECEIVER |
1 149271 3/8" x 18" Rebar - Bundle of 20 | :': :I: L1I®1 11l 111 ®1 11 1 © |
", 1 ", 1 "
70 149664 3/8" Washer Head Hex Nut BEAD RECEIVER Qs 48 48 24
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | (installer to attach to - | | |
— existing pool walls) 81="
40 42999 15/8" Clip Screw | | %2 | |
1 TEK75 Tek Screws - Pack of 75 | | | = ||
2 NSS111 Small Nexus L Clip --- —
6 NSS1112 Large Nexus Brace Clip - | | I_ |_|
7 NSS8BR 8' Bead Receiver | (\? (\?
I | |
1 I

VW42SS182R-1008-08RB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

96" ,

96" x 814" Sundeck 14l"~) 14l qade g4l

- 2 "2 "2 2 2 1
Mo M

i_ J—

[T
ooglzoo
[T

20

NN

|_ —

T

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

NOTES FOR INSTALLER: - P ,y
PERIMETER PANELS WILL . I | I l p e r I al o POO,L'S1Y§E5
®

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 8 2
RESIDENTIAL INGROUND SWIMMING
POOLS




Count PART# DESCRIPTION LETTER
5 NSS136 48" Step Riser [O)
2 NSS169 24" Step Riser ©) 20' x 2'R Nexus Side-by-Side w/ 6' Stair & 14' x 6' Sundeck Left
1 NSS173R 46" Top Step Riser - RIGHT [®) 2S5202R-06 06
1 NSS170L 46" Top Step Riser - LEFT E 4 R- 14- LB
4 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @ (optional) (optional) (optional) (optional)
1 NSS302 24" sundeck / Bench Riser (D) _BEAD RECEIVER
(installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser P existing pool walls) :L
4 NSS147 Straight Stair Brace - 14.5" Tread (@) P N e e I T ™~
3 NSS150 Variable Sundeck Brace (V) / |1 <l> <J> <J> <l> I1 AN
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) / ® g U ® W C ® ® Y) 1y ® \
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace @ / Ix L LD IE | I, L2 I AIO.. L 1)) | AR L1 ) | LS EI L \ \
' BEAD - NSS304— Py RS BEAD > i ‘
ECEIVER 143" extension [ _r RECEIVER N
Included Stair Hardware '— L 1wy 11/ ©_1I _‘
1 149271 3/8" x 18" Rebar - Bundle of 20 --- | BEAD . | |
70 149664 3/8" Washer Head Hex Nut | gecenver 147 | 20 (W) |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | L1 ®1 111 © 57l |
e 48" t 24"
40 42999 15/8" Clip Screw = | | BEAD RECEVER — | |
1 TEK75 Tek Screws - Pack of 75 - (installer to attach to
2 NSS111 Small Nexus L Clip — ||| ﬁ/} @ existing paol walls) |
6 NSS1112 Large Nexus Brace Clip --- | | |
7 NSS8BR 8 Bead Receiver L 11T © 11111 © 111l © 11 |
Vinyl Works Liner Special Feature Item Numbers
VW42SS202R-0614-06LB . . . . e
|—l4§"—|—14§"—|—14§"—| 145"f168" X 575" Sundeck
M pan
| h; | Lol
1) Steel braces will be attached BETWEEN sections on step treads. | | 4 103" | | 4 4
End flanges on adjoining step risers will create a pocket to insert | | l 8 | | l
- — — a0 - —————— -——
the steel brace. A 3
2) Steel braces NSS304 & NSS305 bolted together will create the || — 105" || o
standard NSS147 brace for full end step units. | | ! — — | | 223n i 20%“
3) Installer must specify the measurement of the sundeck area to | ] | 103 | ] 4
ensure proper liner fit. || . |8 || o
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

NOTES FOR INSTALLER: - P ,y
PERIMETER PANELS WILL . I | I l p e r I al o POO,L'S1Y§E5
®

REQUlRE DRILLING HOLES THIS STAIR / SUNDECK CONFORMS TO
TO ATTACH STEP RISERS POOLS TG | o
RESIDENTIAL INGROUND SWIMMING

POOLS




425S5202R-0614-06RB

Count PART# DESCRIPTION LETTER
5 NSS136 48" Step Riser [B) ) . ) )
2 NSS169 24" Step Riser © 20' x 2'R Nexus Side-by-Side w/ 6' Stair & 14' x 6' Sundeck Right
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT [G) 4288202R'06 14'06RB
4 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @ (optional) (optional) (optional) (optional)
- BEAD RECEIVER
1 NSS302 24" Sundeck / Bench Riser @ (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser P - ]_ - ]_ __&xisting pool VE”SL—I ;] ______ ‘;j _
4 NSS147 Straight Stair Brace - 14.5" Tread (@) P l T~
3 NSS150 Variable Sundeck Brace %v% / // @ 14';" @ @ @ @ 14'; N\ \
1 NSS304 2 Piece Straight Stair Brace - Top Step W 2 2
D A A A E
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace O g LLO | — INNOREE L1® ) | L] ®1 1 INKG) cm— A\
'—’ 46 > ! BEAD / N —NSS304 1 “eeno
T RECEIVER T _(::>_ oy SXtEDSION 145" RECEIVER
Included Stair Hardware | 1 © U1® 11 |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- @ 2!1” |1" BEAD _/
70 149664 3/8" Washer Head Hex Nut - | |~ eeorecener © l TIE L ® RIECEINERI |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | (installer (0 attach to 573 oo ) 48" |
40 42999 1 5/8" Clip Screw - existing pool walls | | - X
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip - | | |
6 NSS1112 Large Nexus Brace Clip - | | |
7 NSS8BR 8' Bead Receiver - Ll © 11t © or1rrrr O L
L 48" L 48" L 48"
Vinyl Works Liner Special Feature Item Numbers 72
VW425S202R-0614-06RB 168" x 573" Sundeck4|—14%"~‘ 143143143
I
|— [ ol [
1o ! P !
. . 3.
1) Steel braces will be attached BETWEEN sections on step treads. = | 103 = |
End flanges on adjoining step risers will create a pocket to insert —_ ! | | 40" |— — ! | |
the steel brace. | | 103" L | |
2) Steel braces NSS304 & NSS305 bolted together will create the 203,, © 3 | | |8_ _ ' | |
standard NSS147 brace for full end step units. 4 F 2221 3, |° o
3) Installer must specify the measurement of the sundeck area to o | | 1O§ | |
ensure proper liner fit. | | — L | |
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

384




ICount] PART# DESCRIPTION LETTER . . .
5 NSS136 48" Step Riser ® 20' x 2'R Nexus Side-by-Side w/ 6' Stair & 14' x 8' Sundeck Left
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT [®) 4288202R'0614'O8LB
1 NSS170L 46" Top Step Riser - LEFT E
" p P Q (optional) (optional) (optional) (optional)
4 NSS107 42" Stair Brace Wall Insert H BEAD RECEIVER
4 NSS300 48' Sundeck / Bench Riser @ (installer to attach to
f f existing pool walls)
1 NSS303 2RR Sundeck / Bench Riser G) —m— P ———— P — e e —— — — — i
4 NSS147 Straight Stair Brace - 14.5" Tread (@) e T T N
3 NSS150 Variable Sundeck Brace W) / 1. (U W U) 14 \
. iah . / 142 142 \
L NSS304 ___12 Piece Straight Stair Brace - Top Step| (%) A 1@ 1 1 L1 ® RONN L 1®1 1 1®1 11N
2 INSS306 (04N296-3)] 24" Sundeck / Bench Brace N |/ 4 pr— —— — 7| yr \ \
’_ (_)RECEIVER 143 ex‘&’.‘s“m _ RECEIVER | | _1
Included Stair Hardware | Ll { < | |
1 149271 3/8" x 18" Rebar - Bundle of 20 - BEAD J 1ad | | | |
" RECEIVER 2
70 149664 3/8" Washer Head Hex Nut - | IO E I @ |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt — yo — + + |
40 42999 1 5/8" Clip Screw | | 48" | |
1 TEK75 Tek Screws - Pack of 75 g1l |
2 NSS111 Small Nexus L Clip | | | | |
6 NSS1112 Large Nexus Brace Clip --- | | | | ] BE/:D RECEIVhER —/ |
N - installer to attach to
7 NSS8BR 8' Bead Receiver --- L | ] | | existing pool walls) |
|
Vinyl Works Liner Special Feature Item Numbers I © 11111 © 11111 © 111]
VW42SS202R-0614-08LB 48" ' 48" ' 48" !
96"
145 ——14t 141 143 168" x 813" Sundeck
2T %2 21 21 2
I T
1) Steel braces will be attached BETWEEN sections on step treads. 83" —l
End flanges on adjoining step risers will create a pocket to insert | I— — —1 I— — 1gl--
( ( 4
the steel brace. | | &l 10% | &l
2) Steel braces NSS304 & NSS305 bolted together will create the | | l _ — | l ___________ o
standard NSS147 brace for full end step units. | | o A 3, 4 | -
3) Installer must specify the measurement of the sundeck area to i 10§ o 3
ensure proper liner fit. | | Lof— — — | 22% ] 207
4) This Modular Step Unit can be made with 6" Radius Corners by | | 10%" |
installing the optional 6"R foam corner insert (GLAUC4442NT). | | . | ©
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

NOTES FOR INSTALLER: - P ,y
PERIMETER PANELS WILL I | I l p e r I al o POO,L'S1Y§E5

REQUlRE DRILLING HOLES THIS STAIR / SUNDECK CONFORMS TO
TO ATTACH STEP RISERS POOLS CRETSEANICIIL s | Op
RESIDENTIAL INGROUND SWIMMING

POOLS




425S5202R-0614-08RB

Count PART# DESCRIPTION LETTER . . . .
5 NSS136 28" Step Riser O) 20" x 2'R Nexus Side-by-Side w/ 6' Stair & 14' x 8' Sundeck Right
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT (D) 4288202 R'O6 14'08R B
1 NSS170L 46" Top Step Riser - LEFT [G) _ _ _ _
2 NSS107 42" Stair Brace Wall Insert [©) (optiona) o b RECEIVER (optional) (optional)
4 NSS300 48' Sundeck / Bench Riser @ (installer to attach to
- existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser ® _— T _——— - - - ) —_— (= ) — — — T —
4 NSS147 Straight Stair Brace - 14.5" Tread (U) 7 T i ~
3 NSS150 Variable Sundeck Brace (V) 7/ (LIJ) 14%-- @ @ (LJD 14%., \\
1 NSS304 2 Piece Straight Stair Brace - Top Step (W) / 11 @ 111 TN @ 111 |1 @ 111 |1 @ | ] 1 @ 111 \
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ) [ f prT I ag" ~—Nss307 46" 7\
’ | | REBCEE)T\?ER [ ( : ) extension 1y REBCEEIT\E)ER _‘
. f— 1_© LI1®1 11
Included Stair Hardware | | | — 1 ~7 |
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | | | ] | 14%., REBCEEIT\E)ER
70 149664 _ 3/8" Wﬁsher Head Hex Nut -- | :L :L :l: © 1 1l @ T :
Zg 1;129969790 3/8"x 1 1/145/\£;Va(s::1_erSHead Hex Bolt -- | s BEAD RECEIVER | | | (I; 2 ! 28" | |
" Clip Screw - (installer to attach to
1 TEK75 Tek Screws - Pack of 75 - | existing pool walls) | a1 | | X
2 NSS111 Small Nexus L Clip ~ | —
6 NSS1112 Large Nexus Brace Clip - | | | | — | |
7 NSS8BR 8' Bead Receiver - | | | - (I
|
|
I | | |
1 1 I

Vinyl Works Liner Special Feature Item Numbers

O© 11

VW42SS202R-0614-08RB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

2)
3)

4)

9"
168" x 813" Sundeck

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Polymer

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




4255202R-0812-06LB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT () 20' x 2'R Nexus Side-by-Side w/ 8' Stair & 12' x 6' Sundeck Left
4 NSS107 42" Stair Brace Wall Insert H
2 NSS300 48 Sundeck / Bench Riser [(®) 4255202R-0812-06LB
2 NSS302 24" Sundeck / Bench Riser (D)
1 NSS303 2'RR Sundeck / Bench Riser ® (optional) (optional) (optional) (optional)
4 NSS147 Straight Stair Brace - 14.5" Tread (U) (inBstEa/angoEactEghEg
3 NSS150 Variable Sundeck Brace (V) o - ____ existingpoolwalls) | .
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) - - | | —~ ~
NSS306 (04N296-3 "
2 ( ) 24" Sundeck / Bench Brace [O) /// @ b @ @ @ @ ek \\
/,||®||| L1®1 11 LI®T 11 LI®1 11 L1 ® 1 1] )
i L 46" 48" 46" A
Included Stair Hardware / 46 el |1.. NSS304— < 48— . RS 46 ‘
1 149271 3/8" x 18" Rebar - Bundle of 20 - ’_ RECEIVER 145 extension __ - > RECEIVER N _‘
70 149664 3/8" Washer Head Hex Nut || @ | I | 1N @ 11 [
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt | BEAD ‘[/ |1 | |
40 42999 1 5/8" Clip Screw | RECEIVER 143" a @ |
1 TEK75 Tek Screws - Pack of 75 IEON N L1 ®1 | 57
- | 48" L 48" | | 2 _/ |
2 NSS111 Small Nexus L Clip --- | | BEAD RECEIVER |
6 NSS1112 Large Nexus Brace Clip --- (installer to attach to
7 NSS8BR 8 Bead Receiver — ||| existing pool walls |
L ™ 111 O L1

Vinyl Works Liner Special Feature Item Numbers
VW42SS202R-0812-06LB

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert
the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

72
14l gl 14l ‘/141" 144" x 574" sundeck———
72 2 21 ‘ 2 2

]

A
- —

ey
e\

IA

RN
N

. ]
i

\

|
B N\
"oo%w

|
N
oSt

22

INTAY

REQUIRE DRILLING HOLES

NOTES FOR INSTALLER: 1
PERIMETER PANELS WILL I | I l p e r I a
®

TO ATTACH STEP RISERS

POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

87




425S5202R-0812-06RB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (e)
4 NSS107 42" Stair Brace Wall Insert @
2 NSS300 48' Sundeck / Bench Riser @
2 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread (U)
3 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 ---
70 149664 3/8" Washer Head Hex Nut ---
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip ---
6 NSS1112 Large Nexus Brace Clip ---
7 NSS8BR 8' Bead Receiver ---

Vinyl Works Liner Special Feature Item Numbers
VW42SS202R-0812-06RB

20' x 2'R Nexus Side-by-Side w/ 8' Stair & 12' x 6' Sundeck Right
4255202R-0812-06RB

L _____ T~

(optional) (optional) (optional) (optional)
BEAD RECEIVER
(installer to attach to
existing pool walls)
— -V """ — — — — - T~
A 101 11 L1®1 1 LI®T 1 L1®1 ] 1] L1®1 11~
[ f 46" 48 ~—NSS304 1 46" A
’_ ’ :: BEAD :: :: extension E?:IIEE)T\?ER 141
RECEIVER r = 2
| O IO L1®
| 7
N BEAD .
| BEAD RECEIVER W@)ea RECEIVER g |
/_ (installer to attach to L [ | A L1 1 | L 11 @ ||
| existing pool walls) | 573 | 48" ! 48"
N T (O T I T (O I I ()
L 48" L 48" L 24"

7"

" 1. 1.
——144" x 572 Sundeck41—142~‘

]

A B R

1. 1. 1.

M

J
16 5~ | 8 s~ |
1) Steel braces will be attached BETWEEN sections on step treads. — || 10%" — ||
End flanges on adjoining step risers will create a pocket to insert —_—— ! | | 40" {_ — ! | |
the steel brace. | | 103.. L | |
2) Steel braces NSS304 & NSS305 bolted together will create the 3. 3 || 8 . l ||
standard NSS147 brace for full end step units. 207 225" {3_ \ =
3) Installer must specify the measurement of the sundeck area to | | 105" 3 | |
ensure proper liner fit. | | - | |
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

38




4255202R-0812-08LB

Count PART# DESCRIPTION LETTER ' 1 - : 1 : ! !
= N 26" Step Riser ® 20' x 2'R Nexus Side-by-Side w/ 8" Stair & 12' x 8' Sundeck Left
1 NSS173R 46" Top Step Riser - RIGHT (D) _ _
1 NSS170L 46" Top Step Riser - LEFT (E) 4255202R-0812-08LB
4 NSS107 42" Stair Brace Wall Insert @ (optional) (optional) (optional) (optional)
3 NSS300 48' Sundeck / Bench Riser @ BEAD RECEIVER
1 NSS302 24" Sundeck / Bench Riser (@) O
1 NSS303 2'RR Sundeck / Bench Riser ® — ’]_ - ---rr --"-""¥Y " ——*VYr v — — — — T T ~
4 NSS147 Straight Stair Brace - 14.5" Tread (U) Y - | | ~ ~
3 NSS150 Variable Sundeck Brace (V) / / @ 143" @ q’) @ @ 14 \
1 NSS304 2 Piece Straight Stair Brace - Top Step_ | (W) A 101 11 U1®1 1 L1® RON | | 1 O L
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ORN o | | NSS304—— | BEAD | “ \
RECEIVER 14‘ extension | RECEIVER _1
. H L 1® LI ®1 O —I | |
Included Stair Hardware | SEAD f | | — | | | |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- | RECEIVER 14— —
70 149664 3/8" Washer Head Hex Nut -- | L1 ® | | II L ® I ] :L :L |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- t |
40 42999 1 5/8" Clip Screw - | | | | . |
1 TEK75 Tek Screws - Pack of 75 - | | | | 2 A
2 NSS111 Small Nexus L Clip - _BEAD RECEIVER
. | | | | (installer to attach to
6 NSS1112 Large Nexus Brace Clip - existing pool walls) |
7 NSS8BR 8 Bead Receiver - | Y | | |
Vinyl Works Liner Special Feature Item Numbers ® 111 © 11t © 11
24" L 48" L 48" !
VW42SS202R-0812-08LB
96"
14t qade g4l ‘—149 144" x 811" sundeck
[ "2 2 21 2 2
M o T
81"
1) Steel braces will be attached BETWEEN sections on step treads. | _ _? | L 1.
End flanges on adjoining step risers will create a pocket to insert | | A 3, || A 19%
the steel brace. l 103 l
2) Steel braces NSS304 & NSS305 bolted together will create the | | - A —I 4 | | ——————————— -
standard NSS147 brace for full end step units. | | - 103" | | °
3) Installer must specify the measurement of the sundeck area to | | ! _ _I || 93 20%..
ensure proper liner fit. || | 103 || 4 T
4) This Modular Step Unit can be made with 6" Radius Corners by |8 o
installing the optional 6"R foam corner insert (GLAUC4442NT). LI - LI

One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

POOLS

Poly

POOL SYSTEM

mer

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

89




425S5202R-0812-08RB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT (e)
4 NSS107 42" Stair Brace Wall Insert @
3 NSS300 48' Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser @
1 NSS303 2'RR Sundeck / Bench Riser ®
4 NSS147 Straight Stair Brace - 14.5" Tread (U)
3 NSS150 Variable Sundeck Brace (V)
1 NSS304 2 Piece Straight Stair Brace - Top Step (W)
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ™

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 --
70 149664 3/8" Washer Head Hex Nut --
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt --
40 42999 1 5/8" Clip Screw -
1 TEK75 Tek Screws - Pack of 75 -
2 NSS111 Small Nexus L Clip -
6 NSS1112 Large Nexus Brace Clip -
7 NSS8BR 8' Bead Receiver --

e

f_

20' x 2'R Nexus Side-by-Side w/ 8' Stair & 12' x 8' Sundeck Right

425S5202R-0812-08RB

(optional) (optional)

BEAD RECEIVER
(installer to attach to
existing pool walls)

(optional)

(optional)

©

I

| |
U 143 W 14
OII@III ||®<L;J>|| <l>||®|||I

" 46"

BEAD RECEIVER
/_ (installer to attach to

existing pool walls)

/
|
|
|
|
|
|
|
|
|
I

BEAD

Vinyl Works Liner Special Feature Item Numbers 111 © | | 1 L l
VW42SS202R-0812-08RB ®
96"
144" x 813" Sundeck

1) Steel braces will be attached BETWEEN sections on step treads. I_

End flanges on adjoining step risers will create a pocket to insert 19711"

the steel brace.
2) Steel braces NSS304 & NSS305 bolted together will create the -

standard NSS147 brace for full end step units.
3) Installer must specify the measurement of the sundeck area to 3. |°

ensure proper liner fit. 205" | 22%--

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

——NSS304
extension RECEIVER

L ®AG|”N\

A\

BEAD —/ |l

145"

L1 1] L1 ®

BEAD .
CEIVER 145

§
|
|
|

N

N

N

L1®W 1 KON
43— 145 145"

[ ol []
18_ I

N

NOTES FOR INSTALLER:

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

®

POOLS

Polymer

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

90




4255202R-1010-06LB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser [O)
2 NSS169 24' Step Riser (©) 20" x 2'R Nexus Side-by-Side w/ 10" Stair & 10" x 6' Sundeck Left
1 NSS173R 46" Top Step Riser - RIGHT (D)
1 NSS170L 46" Top Step Riser - LEFT ®) 4288202R_1O 10_O6|_B
4 NSS107 42" Stair Brace Wall Insert @
2 NSS300 48' Sundeck / Bench Riser @ (optional) (optional) (optional) (optional)
1 NSS302 24" Sundeck / Bench Riser @  BEAD RECEIVER
- (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser () existing pool walls)
4 NSS147 Straight Stair Brace - 14.5" Tread (@) _ — -\ — — — i ~ ~
2 NSS150 Variable Sundeck Brace (V) / <J> <J> <l> <J> <J> | N\
1 NSS304 2 Piece Straight Stair Brace - Top Step w) / 123 (U y w U U) 1ad \
2 | NSS306 (04N296-3) 24" Sundeck | Bench Brace © /A @111 L1® 1] L1®] 1] L1 ®1 1] INECHITEAN \
L 46" 48" 46"
BEAD NSS304—— RS -
- '_ 1 RECEIVER extension L _(:>_ = RECEVER T ‘_‘
Included Stair Hardware L 1 ®1 gl EONN © [
1 149271 3/8" x 18" Rebar - Bundle of 20 ~ | | | |
- 1. BEAD .
70 149664 3/8" Washer Head Hex Nut — | 13| RECEIVER | Q) |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | L1® 11 11 1®y 01 1 © 57k |
40 42999 1 5/8" Clip Screw - 48" ' 48" ' 24" | BEAD RECEIVER el
1 TEK75 Tek Screws - Pack of 75 - | | ('gi‘ig‘l:ﬁ;‘gofl’ﬁvcgl's‘; |
2 NSS111 Small Nexus L Clip - | | |
6 NSS1112 Large Nexus Brace Clip -- | | |
7 NSS8BR 8' Bead Receiver -- L I I ® I I I I I ® I I |
Vinyl Works Liner Special Feature Item Numbers 72"
VW42SS202R-1010-06LB r—14% —r—14% —r—14% — }714% ——120" x 573" Sundeck————
T
I_ll_ i) :_||_
_ _ 1.
_ _ Rz w | A i
1) Steel braces will be attached BETWEEN sections on step treads. | l 8 | l
End flanges on adjoining step risers will create a pocket to insert = A _I 40" = — = — T T T 7 - -
the steel brace. | | - 10%“ || o
2) Steel braces NSS304 & NSS305 bolted together will create the | | ! — — | | 2930 203"
standard NSS147 brace for full end step units. | | 103" | | 4 ] 4
3) Installer must specify the measurement of the sundeck area to |8 o
ensure proper liner fit. LI ||
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: - P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




425S5202R-1010-06RB

Count PART# DESCRIPTION LETTER
7 NSS136 48" Step Riser EA%
2 NSS169 24" Step Riser C ' f . . ' . . ' .
. SeiTaR 26 Ton Step Riser - RIGHT ©) 20" x 2'R Nexus Side-by-Side w/ 10" Stair & 10' x 6' Sundeck Right
1 NSS170L 46" Top Step Riser - LEFT @ - -
4 NSS107 42" Stair Brace Wall Insert @ 4288202R 1010 06RB
2 NSS300 48’ Sundeck / Bench Riser @ (optional) (optional) BEAD RECEIVER (optional) (optional)
1 NSS302 24" Sundeck / Bench Riser @ (installer to attach to
1 NSS303 2'RR Sundeck / Bench Riser () existing pool walls)
4 NSS147 Straight Stair Brace - 14.5" Tread (@) e i A = A S A R
2 NSS150 Variable Sundeck Brace (V) s -~ | | > N
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) / / @ 143 @ @ @ @ 143 \ \
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace O) /A ©1 11 L1®1 1 L1®T1 11 EONEE 1®1 \\
’ 46" g gD~ S =—NSS304 BEAD  — A 46" A
T RECEIVER T extension RECEIVER 145"
Included Stair Hardware '— — _<>_= ] L1 ® 1 ||2 EONE _‘
1 149271 3/8" x 18" Rebar - Bundle of 20 -- | | o | |
70 149664 3/8" Washer Head Hex Nut - | ey BEAD RECEIVER @ 24" RECEIVER | 14%" |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt — Costating poatwaly ol © 11 1®1 11 L 11 ® g
40 42999 15/8" Clip Screw - | | 2 24" 1 48" 1 48" |
1 TEK75 Tek Screws - Pack of 75 - | | ]
2 NSS111 Small Nexus L Clip - | | |
6 NSS1112 Large Nexus Brace Clip -- | | |
7 NSS8BR 8' Bead Receiver --
T I T O Y I O I I L
; "8 \ g
Vinyl Works Liner Special Feature Item Numbers 7om ,
VW42SS202R-1010-06RB L 190" x 574 lu‘) L. 1. L.
120" x 572 Sundeck4|—142 |—142 —|—142 —|—142 —
|— [ ol [
L. — P —
194 N 5, N
1) Steel braces will be attached BETWEEN sections on step treads. — 105 —
End flanges on adjoining step risers will create a pocket to insert —_—— Y — — — ! | | 40" |_ - ! | |
the steel brace. | | 103.. L ||
2) Steel braces NSS304 & NSS305 bolted together will create the 203" ° 3 || |8_ - l ||
standard NSS147 brace for full end step units. 4 | 22" 5 [ =
3) Installer must specify the measurement of the sundeck area to ° | | 105" | |
ensure proper liner fit. | | — b | |
4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

erial

Im
perial

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING

POOLS

92




4255202R-1010-08LB
1 1 H H 1 H 1 1
— v TRy —— 20' x 2'R Nexus Side-by-Side w/ 10' Stair & 10" x 8' Sundeck Left
7 NSS136 48" Step Riser (8) 42S5S202R-1010-08LB
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT <D> (optional) (optional)  BEAD RECEIVER (optional) (optional)
1 NSS170L 46" Top Step Riser - LEFT @ (installer to attach to
4 NSS107 42" Stair Brace Wall Insert H) existing pool walls)
3 NSS300 48' Sundeck / Bench Riser @ P e N O Y N — T T ~ ~
1 NSS303 2'RR Sundeck / Bench Riser P s [ <l> <J> <l> | N
4 NSS147 Straight Stair Brace - 14.5" Tread ) / 13 (U u W y U) 1t \
2 NSS150 Variable Sundeck Brace O A 1®7 11 L1 ® 1 L1 ®T 1 L1®] 1®1 11 ™
1 NSS304 2 Piece Straight Stair Brace - Top Step (@) [/ 46 . BEAD _/ NSS304—= 48" 46" “ \
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace OO ’_ U @ U Il“li" L CA)RE(I:EIVIER | exteésion ) =_®_ —l | _1
| — | |
Included Stair Hardware | 143 RECEVER < | — | | |
1 149271 3/8" x 18" Rebar - Bundle of 20 - L1®r 1 11 1®1 11 1 © 4 % |
70 149664 3/8" Washer Head Hex Nut - | 48" * 48" * 28— @ |
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt - | I | | - |
40 42999 1 5/8" Clip Screw - 2
1 TEK75 Tek Screws - Pack of 75 — : : : : : (D RECEVER 11
2 NSS111 Small Nexus L Clip - existing pool walls) |
6 NSS1112 Large Nexus Brace Clip - - —| | |
8 NSS8BR 8 Bead Receiver - @ (\? |
|
) ) ) I T T T O I I I
Vinyl Works Liner Special Feature Item Numbers ! 48" : 48" -
VW42SS202R-1010-08LB
i 06"
14314l 41 143 120" x 811" Sundeck
: : 27T 2 T 271 2 2
1) Steel braces will be attached BETWEEN sections on step treads. W 2 W —l
End flanges on adjoining step risers will create a pocket to insert | L 8§" | L
the steel brace. — — — 19‘—11"
2) Steel braces NSS304 & NSS305 bolted together will create the | | ~ 10%-- | | ~
standard NSS147 brace for full end step units. | | l _ _I 40 | | l ___________ -
3) Installer must specify the measurement of the sundeck area to | | - A 103" | | -
ensure proper liner fit. i 8 o 3
4) This Modular Step Unit can be made with 6" Radius Corners by | —— — — | 22%" J 207"
installing the optional 6"R foam corner insert (GLAUC4442NT). | | 10%" | |
One required per feature that must be cut to size. ALWAYS | | ° | | | °
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imp

erial
POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




425S5202R-1010-08RB

Count PART# DESCRIPTION LETTER ) ) ! .
7 NSS136 28" Step Riser ® 20' x 2'R Nexus Side-by-Side w/ 10" Stair & 10' x 8' Sundeck Right
2 NSS169 24" Step Riser ©
1 NSS173R 46" Top Step Riser - RIGHT (D) 4288202R'1010'08RB
1 NSS170L 46" Top Step Riser - LEFT @ ) BEAD RECEIVER ) . BEAD RECEIVER )
4 NSS107 42" Stair Brace Wall Insert @ (optional) (installer to attach to (optional) (optional) (installer to attach to (optional)
3 NSS300 48' Sundeck / Bench Riser @ existing pool walls) existing pool walls)
1 NSS303 2'RR Sundeck / Bench Riser ® _ T —_ — —_—— e — ) —_— ———— — — e R
4 NSS147 Straight Stair Brace - 14.5" Tread (U) e T T ~N
2 NSS150 Variable Sundeck Brace (V) // @ 14%.. @ @ @ @ 14%.. \\
1 NSS304 2 Piece Staight Stair Brace -TopStep | W) | /| 1 ® | | | U1®1 11 LI®T 11 RO ITICITHNERAN
2 | NSS306 (04N296-3) 24" Sundeck / Bench Brace ~ £ v pr S— I pre M\
f_’ | I_ ( ) J_extension RE?:IIEE)T\?ER 14%" _‘
Included Stair Hardware | | — © RN I } LB 11 |
1 149271 3/8" x 18" Rebar - Bundle of 20 -- | BEAD 1.
m | | = | RECEIVER | 14 |
70 149664 3/8" Washer Head Hex Nut -- | © 111 @ 111 1 11 @ 111
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt -- | :!: :l: (I; o ) 28" ) 28" |
40 42999 1 5/8" Clip Screw - | | _— BEAD RECEIVER | | | |
1 TEK75 Tek Screws - Pack of 75 - (installer (0 attach to 81
2 NSS111 Small Nexus L Clip — | exstng ool walls) | | — |
6 NSS1112 Large Nexus Brace Clip ~ | | | — | ]
8 NSS8BR 8' Bead Receiver - | | |_ L
| 0 ®
|
Vinyl Works Liner Special Featureltem Numbers | || | | © 11 1L 111l © 111
VW42SS202R-1010-08RB ' e ' e I
96"
120" x 813" Sundeck 141"4 148 ——1ak 141
2 [ "2 27T 2T 21
|_ [ e [
1) Steel braces will be attached BETWEEN sections on step treads. 1 | 8 1
End flanges on adjoining step risers will create a pocket to insert 194" h - 13_ h -
the steel brace. — |1 105" — |
2) Steel braces NSS304 & NSS305 bolted together will create the —_——-—-_- - —_—— — ! | a0 — ! ||
standard NSS147 brace for full end step units. | | 103" L | |
3) Installer must specify the measurement of the sundeck area to 203" ° 3 | | 18_ _ l | |
ensure proper liner fit. 4 227" D —
4) This Modular Step Unit can be made with 6" Radius Corners by o | 1O§" ||
installing the optional 6"R foam corner insert (GLAUC4442NT). | ] L - ||
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

®

POOLS

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

94




42VVB24FE-12B

12' x 24"

- 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER
2 NSS227 42" Bench Brace Wall Insert @ 42VB 24 F E 1 2 B
3 NSS300 48" Sundeck / Bench Riser @
2 NSS306 (04N296-3) 24" Sundeck / Bench Brace @
Included Stair Hardware (optional) BEAD RECEIVER — (optional)

1 149271 3/8" x 18" Rebar - Bundle of 20 (installer to attach to

30 149664 3/8" Washer Head Hex Nut existing pool walls)

30 149670 3/8"x 1 1/4" Washer Head HexBolt | - | 1 — — — — — — ¥~ — — —~——7Tv — — —  — ——

24 42999 1 5/8" Clip Screw | |

1 TEK75 Tek Screws - Pack of 75 | | | |

4 NSS1112 Large Nexus Brace Clip 24"

2 NSS8BR 8' Bead Receiver | | | |
L1 1 © 11111 O 11111 © 11l
| | 48" 48" ¢ 48" | |
| | | |
| | 24 | |
LI H LI

1.
| 19
| |
T AT AW
| | o
3.
|1 (22| | ] %
| o
LI
(optional)  BEAD RECEIVER (optional)
(installer to attach toil j
existing pool walls)
i I A T~
7 I I N
N\

/ R24" 24 R24" \
[ \
I I O I I I I I ) L1 11 ® 111,
M1 48" ! 48" ! 48" 1
| | | |
L L

-
NOTES FOR INSTALLER: ALWAYS SPECIFY P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

6", 90°, OR 2’R CORNERS
WHEN ORDERING THE

POOL SYSTEM

POOL AND LINER.

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

95




] n " (o] 1
42VVB24EE-14B 14' x 24" - 6", 90°, or 2'R - Nexus Full End Bench
Count PART# DESCRIPTION LETTER 42VBZ4F E 14B
3 NSS227 42" Bench Brace Wall Insert @ -
3 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ i i i
- - (optional) (optional) BEAD RECEIVER (optional)
4 NSS300 48" Sundeck / Bench Riser [®) (installer to attach to
1 NSS302 24" Sundeck / Bench Riser @ existing pool walls)
Included Stair Hardware | | | 1
1 149271 3/8" x 18" Rebar - Bundle of 20 || ||
30 149664 3/8" Washer Head Hex Nut .
30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 24 | |
24 42999 15/8" Clip Screw
1 TEKTs Tek Sorews - Pack of 75 : L1 © 11111 O 11111 ®©® 111 & :
4 NSS1112 Large Nexus Brace Clip 48" L 48" L 48" L 24"
2 NSS8BR 8' Bead Receiver | | | |
| o |
1
L L
|| 1
| | 192u
||
| b —2 — 0
||
|| 3 °© 3
On 205"
NG
|| o
Ll
(optional) (optional)  BEAD RECEIVER (optional)
(installer to attach to
existing pool walls)
I
24" @ @
L O 11111 © 111 @™ )
48 ! 48 ! 24" 1
| |
||
||
L
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ym er

PERIMETER PANELS WILL 6", 90°, OR 2'R CORNERS POOL SYSTEM

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

WHEN ORDERING THE THIS STAIR / SUNDECK CONFORMS TO
P O O L S POOL AND LINER_ CURRENT APSP/ANSI/ICC-5 2011 & 9 6




42VVB24FE-16B

16' x 24"

- 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER 42V B 24 F E - 1 6 B
3 NSS227 42" Bench Brace Wall Insert @
4 NSS300 48" Sundeck / Bench Riser @ (optional) (optional) BEAD RECEIVER (optional)
3 NSS306 (04N296-3) 24" Sundeck / Bench Brace ® (installer to attach to
existing pool walls)
Included Stair Hardware 1 e e I 11
1 149271 3/8" x 18" Rebar - Bundle of 20 F | | | 1
30 149664 3/8" Washer Head Hex Nut | | | |
30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 24" | |
24 42999 1 5/8" Clip Screw | |
L TEK75 Tek Screws - Pack of 75 L1 ®© 11111 L1111l ®© 11111 ® 11
4 NSS1112 Large Nexus Brace Clip | 48" ! 48 ! 48" ! 48" |
2 NSS8BR 8' Bead Receiver | | | |
|| ||
|| I A— ||
L |—| L
|| 1
194"
|| 4
||
T T A %
— || o
|| 223 | | 203
(optional) (optional)  BEAD RECEIVER (optional)
(installer to attach to
existing pool walls)
Pt Bl ot bt—— F T3~
24" @ @
DI 11111 ®© 11111
48 L 48" L
L
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ymer

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

6", 90° OR 2'R CORNERS
WHEN ORDERING THE

POOL SYSTEM

POOL AND LINER.

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

97




42VB24FE-18B

18'x 24" - 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER
4 NSS227 42" Bench Brace Wall Insert @ 42VB 24 F E_ 1 8 B
4 NSS300 48" Sundeck / Bench Riser @
1 NSS302 24" Sundeck / Bench Riser (@) BEAD RECEIVER (optional) (optional) (optional) BEAD RECEIVER — (optional)
(installer to attach to (installer to attach to
4 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ existing pool walls) existing pool walls)
, 1 S < 1M
Included Stair Hardware [ ] I I I I [ 1
1 149271 3/8" x 18" Rebar - Bundle of 20 | | | |
30 149664 3/8" Washer Head Hex Nut 24
30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | | |
24 42999 15/8" Clip Screw L1 © 11111 © 113011 O 1 © o111 @ gl
1 TEK75 Tek Screws - Pack of 75 | i 48" 48" 48" 48" L 24" i |
4 NSS1112 Large Nexus Brace Clip
3 NSS8BR 8' Bead Receiver | | | |
| 24— |
LJ (I LJ
||
1.
|| 19
— ||
T T AT
— || o
3.
1|22 | { %4
|| o
L
(optional) (optional) BEAD RECEIVER (optional) (optional)
(installer to attach to 17
existing pool walls)
— - - """ ""™"T"T""v — — — — — ~
-~ 1 1 1 1 >
N
// . @ @ 1 @ @ - \\
l L © 11111 ® 11111 O 111l ® o111 @ q)
| 48" 48" 48" 48" 24" |
| |
| |
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6", 90° OR 2'R CORNERS
WHEN ORDERING THE
POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

98




42VVB24FE-20B

20'x 24" - 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER 42V B 24 F E _ 20 B
4 NSS227 42" Bench Brace Wall Insert @
5 NSS300 48" Sundeck / Bench Riser @
4 NSS306 (04N296-3) 24" Sundeck / Bench Brace @ BEAD RECEIVER (optional) (optional) (optional) (optional)  BEAD RECEIVER
(installer to attach to (installer to attach to
existing pool walls) existing pool walls)
Included Stair Hardware ™ — — — — _—I _____________ ‘i __________ :l‘ T]
1 149271 3/8" x 18" Rebar - Bundle of 20 T | | | | 1
30 149664 3/8" Washer Head Hex Nut | | | |
30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 24 | |
24 42999 1 5/8" Clip Screw
1 TEKTS Tek Screws - Pack of 75 |||II © 11111 L1111 ® 19111 © 11111 © |!I
2 NSS1112 Large Nexus Brace Clip | | 48" 48 : 48" 48" 48" 1|
3 NSS8BR 8' Bead Receiver | | | |
| 24— |
L |_| L
| | 1.
N i
: :_ . # 4)"
o
3.
i E
o|_|
LI
(optional)  BEAD RECEIVER (optional) (optional)  BEAD RECEIVER
(installer to attach to :L j (installer to attach to
existing pool walls) existing pool walls)
— ’I_ - - - - 1Tv """ - —
- 1 1 1
24"
© 11111 O 1111l ® 3 e © 3yl
48" L 48" L 48" . 48" L
NOTES FOR INSTALLER: ALWAYS SPECIFY ‘ o,ymer

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

POOLS

6", 90° OR 2'R CORNERS
WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

99




1
' ' 8'R Nexus Cove - NSS024
6'R Nexus Cove - NSS026 | 7'R Nexus Cove - NSS025
NSS227 Panel insert NSS227 P_anel insert
(Optional) NSS227 Panel insert (Opllonal) L
(Optional) RECEVER —_—
BEAD A NSS217R/230R N NSS217L/230L
RECEIVER 183" BEAD 194+ .
. ||8 NSS221R/231R e NSS221L/231L J 9'% 1 I‘: | 1 \I L
NSSHS:/ S N552254U8/‘\‘/55232L IN5570:/”703I nosI00f1008 O ,L-15 Nségl; - : 15%—| Q
NSS5226 ' : NSS218R J
Brace CTR o 22%" NSG222R BT“:;%_?R Brace RT Brace CTR NSS220L
I_ _I Brace RT 1ol I_lgéw_l Brace LT
n T s :
‘_j I T F i
w}; | w+, [l w}. |
20" ,— 22" | | 200 ; oo | | 20" :: 2 | |
21 1] Lr i »A N
_\
NS;SEER NSS215 i NSs227 NSS218R
Brace center 1| ol gelght ~ NSs215  [INss227
Brace N nsert race = Center Panel
NSS221R Qj ’ ! Brace Insert
NSS226 NSS100 NSSZl?R . ﬁ
Center
Brace NSS231R NSS224L /
NSS225R NSS100 Left NSSZ3OR NSS220L
Brace NSS100 Left
Brace
NSS232R / NSS100B
D NSS221L NSS100B
NSS100B Q NSS217L
NSS225L Q NSS231L 5100
NSSZ3OL
NSS232L
NOTES FOR INSTALLER: Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

.Imperial
® POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




9'R Nexus Cove - NSS023

NSS227 Panel insert
(Optional)

BEAD
RECEIVER

10'R Nexus Cove - NSS022
e

s
%ﬁ

BEAD ~ ool >~ ~
RECEIVER S
1 5 o3 ™~
[ 1 1 l 1 1 'a) 1
N55209%/226R N55100/1008 A N55100/1008 NS5209%/228C
285" 42" 42" 285"

2 Nssszx L nssann NSS212L
T~ Nss100/1008 Brace RT 7Brace CTR Brace LT
42" g
NSS214R 2 NSS215 9% I—zzg—l
Brace RT Brace CTR NSS216L 48" Nexus Form Section - NSS136 42" Nexus Form Section - NSS100
10k M
7 Brace LT > | |
n
" ]
20" | | b |‘ ‘_ I |
el Lo
20" g | | =
». Ll 48" Nexus Form 42" Nexus Form
Section - NSS136 Section - NSS100
. NSS210R ;
NSS214R f Right _ NSS211 J NSS227 48" Nexus Bottom Cuddle Cove 42" Nexus Bottom Cuddle Cove
Right NSS215  ldNss227 Brace l center Panel Form Section - NSS136B Form Section - NSS1008
Brace o[l Center | Panel NSS209R ! Brace Insert
NSS213R % I Brace ‘| Insert <
<’ L NSS100
NSS100 NSS228R
NSS229R / NSS212L
NSS100 Eﬂ NSS216L NSS100 Left .
Left Brace
Brace
NSS100B NSS100B
: NSS213L : NSS209L F
NSS100B NSS1008 oo
NSS229L NSS228L Complete Cuddle Cove
Form Section

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




Polymer

48" WALLS POOL SYSTEM




BEAD

6'R X 12'W -

48" WALL INSERT

NSS238 . —

NSS00148

" N55233L

INSIDE STAIR - 48" WALL

1 1 I
RECEIVER / = asg’ 45" BEAD }—16" o

NS5100 " NS5700 RECEIVER
39234 1 | 1 1 ] 1 M

16l 42" 42" |
N$5235R NSS100 NSS100 | |

| L | L | L ] L ] L 1 \
¢ 243" ! 42" ! 42" ! 243" } | |
re > /I aak N55100 /I e NSSI00  aik l\ SRR R
23

[ Kkt I IR NP 1 IR I I D B ]

| 5 | A0 | A0 | S )

{ I 283 42 42 283 \ \ | |
right center left Ll L1
brace brace brace

NSS239R NSS237 NSS239L

N

14" | l4"—l

_L,;gw_Lﬂ

I

NSS00248

/'R X 13'W - INSIDE STAIR - 48" WALL

48" WALL INSERT

NSS238 . —
o

—

NS55700

NSS240L

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

N55240R N55100 58"
[l | [l [l | [l 16" | 14" 14" | 14"
T TN 2 o
/ Nss241R | N55100 Na5100 |N552‘”L \\ | —7|
1 l 1 I 1 1 I 1 l 1 9§..
223 i 42" 42" i 223 —— | | _r
ss2uk N55700 N55100 . | % 1|
L | L | L | L L | L | L | a \ _r 4
4 31" — 42" 42" 1 31 N \ | L
NS5243R /I 467" NS5100 NS5100 467" l\ N55243L \ || %
/ [ 1 ] 1 ' | ] 1 | | 1 ] | ' 1 ] 1 \\ | | _L
7. | 42 | 42 1 7. ! 9%’
37§ 2 2 37§ \j L i
right center left
brace brace brace
NSS244R NSS237 NSS244L
NOTES FOR INSTALLER: ‘ o,ym er

®

Imperial

48" WALLS POOL SYSTEM

POOLS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

ISPSC 024 STANDARDS FOR 1 O 2
RESIDENTIAL INGROUND SWIMMING

POOLS




8'R x 14'W

48" WALL INSERT

NSS00348

INSIDE STAIR - 48" WALL

NSS238
— T —
— ~ Ean.
~ NSS. . . . .
N5S700 | 1 /\/5I5700 245L l—ls I 14 14 | 14 —-l
1 1 1 1 \ N
BEAD 7"
RECEIVER i g I 42" - 42" I 113 A NN |_| 4
| /\/55245;2. NSs100 L N$5100 ./\/5524& \\>\ | o
1 1 1 1
273" i 42" 42" i 273 | \\ | | 77, _9I§
NS5247R ' NSs100 1 W NSS5100 ' NS$247L \\ | | / —f “
/ ] 1 1 ] 1 1 1 1 ] 1 \ 777 3.
/ 383" | 42" 42" | 383" N | | %
/7 8  NSS100 W NSs00 48 \\ I Z —
NSS248R . | . NS5248L 93
L/ 1 | 1 | 1 | 1 | 1 | 1 | 1 | 1 \‘) 4
! as} ! 42" ! 42" ! as} I L .
right center left
brace brace brace
NSS249R NSS237 NSS249L
O'R x 15'W - INSIDE STAIR - 48" WALL
48" WALL INSERT
_ NSS238— — T —
N$5250R A" W NSST00 S~ Nss2s0L
=] |_Nsgroo | 5@\
BEAD [l 1 [ ~
RECEIVER / I—l4%" 42" 42" 14%”—| \
/g/ | Mss2oR Nss100 |1 i\’55700 wssasit | \2\\
" 1 1 1 L 1 1 N 58"
L 323 a2 42" 323 AN }_ . . . .
/ / N552542R NSs100 | ¥ N55100 N552452L AN N\ 1 14 W 14
r N A B . A P B I R N w VA -]
N55254R // = 45" | 42" 42" ' 45" T —
& A 17% NSST00R / 49} NS5100 14" NSSI00 495" \ nssiooL 175 § \%\ | FZW/ S
Ll ] 1 | o ] 1 ' | ] ] | 1 | | | | —
/ /'—11%” ! 42" L 42" 1 42" L 42" ! 11%"—'\\ | | ZZ & L
/ \ —
/ / right right center left left \ \ | | Z o3
/ brace 2 brace 1 brace brace 1 brace 2 \ Y —
/| NSS256R NSS255R NSS237 NSS255L NSS256L | | | | s
Ly VL '
NOTES FOR INSTALLER: P O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

48" WALLS POOL SYSTEM

Imperial
POOLS

®

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

103




NSS00548

10'R x 16'W INSIDE STAIR - 48" WALL

48" WALL INSERT
NSS238

NSS136

~
16" NS5136 - N55258L
\{\

58
’716" | 14" 14" | 14""

BEAD =3 |
RECEIVER 1 I I I 1 I 1 |_| _|—
7 bnd 48" i 48" 18—\ _7}
N55258R N35136 u - N55136 N55258L N | BZZ;V/ o3
/ | | | | | | 1 | RN | ] _‘}1
! 3 48" 48" 3 NN o7 1S
7 N55259R | N55136 w  N55136 | N55259L AR . _9‘}‘ 46"
01 A I T | A | | Y 1
b 4l 48" 48" 442" - | | 2
NSS5260R //é/ J 17%" NSSIOOR A 48" NS5136 14" NSS136 48" NSSIOOR 8 17%.. K yﬁ\NSSZEOL X y 3
/ 1 I | 1 | 1 I | 1 ] I| 1 | 1 | ' 1 | 1 | ' |\ \ 9{1"
/ Ay a2 : 48" : 48" ! 42 Ltao%—I\ \ U
/ \
/ / right right center left left \ \
/ / brace 2 brace 1 brace brace 1 brace 2 \ \
Ly NSS263R NSS262R NSS237 NSS262L NSS263L U
NOTES FOR INSTALLER: Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING

POOLS

104




NSS00748
8' X 2'R STRAIGHT 2'R x 2'RR - 48" WALL

48" WALL INSERT 48" WALL INSERT
NSSZS8//_/XI7 ———————— _I:/[\\NSSZSS 50"
N Flzgn 1od 2k 12%-4
AN

! 1
s 12'%,, N$5136
, N55|264R I | I I I I I N5526I4L \ |_| _1_7"
/ 215" 12';.. NSS136 215" \ BEAD | _}3
BEAD NSS169 2 N55769 RECEIVER | 9"
RECEIVER | | || ] | ] ] | || —|
. ! »
24 bl NSSI36 24 || 9% 4
NS5266R 2 NS5266L | —
/N ] | ] | ] ] | \ 77, L
/s A N55736 25—\ \ u K
7/ Nss267R /|12, N55267L NG ||
— 1 | I L 1 | 1 1 N — || 93
[~ 343" | 48" ' 343" ™~ ] N
4 4 | |
straight straight
step step
brace brace
NSS268 NSS268
NOTES FOR INSTALLER: ‘ o,ym er

PERIMETER PANELS WILL

Imperial
REQUIRE DRILLING HOLES

P O O S THIS STAIR / SUNDECK CONFORMS TO
I CURRENT APSP/ANSI/ICC-5 2011 &
TO ATTACH STEP RISERS ® ISPSC 024 STANDARDS FOR 1 05
RESIDENTIAL INGROUND SWIMMING
POOLS




1 1 1
8'x 2R x 2'RR RT 8'X2RXLT 2RR - SIDE
11
SIDE STAIR - 48" WALL ]
48" WALL INSERT 48" WALL INSERT 48" WALL INSERT 48" WALL INSERT
NSS238 _ /_\Q7I ______ —|7/—\ ~ NSS238 NSS238 _ /_\T _______ —V; - NSS238
y 7 s N55736 | N\ N | N55136 ! N\ N
il NI NSS2EHL NS sse9R | Pl | | mssaen Ny
BEAD (NS P Loyl BEAD BEAD [N PN 21— BEAD
RECEIVER / /\/557869 12%" N$5136 N55§69 \ RECEIVER RECEIVER N557689 12%" N55136 N558769 \ RECEIVER
| I L I | f | | f L I | L 1 |
24" I NSS736 24" 24" I N$5736 24"
NSS266R 1122 NS5169 nssies 1122 NS5266L
| I L I | 1 I L | [\ 1 }l 1 | ] ] |
/ . - ” T \
/S L NSS136 24— | | 24 12d NS57136 2\ \

S N55267R 2 N55169 NS55169 2 NS5267L N N
4 1 ! ([ ! | 1 l ! L | (N I I 1 I TG i -
L 343" ' 48" ' 24" L L 24" ! 48" l 343" N — ]

straight straight straight straight
step step step step
brace brace brace brace
NSS268 NSS268 NSS268 NS5268
50" o
}-121" 12— 10l 121"~‘ 1 L 1
CAN e A e A R R ey S
s T : T
5 | o
| % o3
_* | 4
2 N ~
. 4 N %
|1 77 o3 | _L
N | %
| | 03" 2 _L
! | b
L L]
NOTES FOR INSTALLER: P O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

106




NSS00948
6'X 2R X RT 2'RR - SIDE
STAIR - 48" WALL

NSS01148
6'X2’RXLT 2'RR - SIDE
STAIR - 48" WALL

48" WALL INSERT 48" WALL INSERT
Nsszas//_\ﬂ—————r\\ //—T———‘lZ/_\\Nsszss
g | Il NSS. N - NS5S269R Il |
// N5|52 4R ' zlzl 1 2 6I9 ’ 1 \\ / [ I [ iLZIz N552 |64 L
BEAD —ad : asy : BEAD BEAD ' a5} I 21— BEAD
RECEIVER / /| /\/55?69 12l%| | 8 N55I736 VA RECEIVER RECEIVER / /\:55736| e | Ilzl% N;:s,eg I\ RECEIVER
24" '1" 48" 48" '1 24"
NS5266R 125 NS57136 NSS136 123" NS5266L
/Y | 1I }l 1 | ] |/] AY! I | ] | { 1 | \
/ | 257" . 48" | | 48" 251 y
v / NSS267R, 12% N55136 ! | | ! NSS136 12%" N552467L \ N
"4 | 1 11 1 l 1 | | | | , | I 111 ! | N O —
g 343" ! 48" L LI 48" I e S ]
straight straight
step ) step
brace 50" 1 1 > 1 1 brace
NSS268 }—12%"—1—12%"—-[—12%"—-'—12%"4‘ B el B e NSS268
u M B
- | | =
1| ] 3
_}
- ;1| 12
46" 74 || 4 46
- a .
93 4 || : : 7 93"
- |
o3 2 I || o
|
! | ] L
NOTES FOR INSTALLER: I - I ‘ o,ym er
PERIMETER PANELS WILL I I l p e r I a 48" WALLS POOL SYSTEM
REQUIRE DRILLING HOLES P OO LS THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
RESIDENTIAL INGROUND SWIMMING
POOLS




NSS01848

INSIDE CORNER STAIR 2'R or 90° CORNER

BEAD
RECEIVER
| wssin -

48" WALL

BEAD
RECEIVER

< 72 -
/ MS5ST79L S33"
/ K55258 45"
| left
brace brace
NSST77R NSS268L NIST77R NSS268L
BEAD BEAD 42"
RECEIVER RECEIVER
right
brace
f NSS268R
/5525&
" | 45"
||
90 degree corner step " 12" 12" 12" | |
2' radius corner step 20" T T _‘ | |
M =1 I
| — ||
| s |||
| | 7 =4 ] o
|| J77 _9? 46
| |
||
N 7 |
LI :
NOTES FOR INSTALLER: ALWAYS SPECIFY F 0’ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

6", 90°, OR 2'R CORNERS
WHEN ORDERING THE
POOL AND LINER.

Imperial
POOLS

48" WALLS POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




NSS01948

4'8"R x 9'85"W - ROMAN STAIR
16'W POOL - 48" WALL

e —

l‘“ T _I_11 T “

N5S5270R Q\\X NSS270L - T
1
L2 wss100, > | b 3
NSS100 11" 45— | i
I L /\/sszm \ | | Y7, A _L
I 1 91—1 46"
7. N557100 |, 7. 25" —'\a
/ 41g I 1 . 41g NSS272L |\ \ : : 7 7 _9%"
— I, sl — 1 / —
//. | Nss273R N55700|1| . 55273L8 I .\\\ | | o3
C— 403 I 42 | I 403 T~ L1 .
right left
brace brace
NSS274R NSS274L
6'R x 11'85"W - ROMAN STAIR
20 W POOL 48" WALL
— =~ l/
13" 113 113 112 ~‘
nNss280rR | 13" nss2soL T _l_ T I
I 1 1 I 1 N |_| 0
N$5281R - - S NS5281L | _7I
R y I4 N55100 nl%' I“N557oo i >2\<\ | |b77_/ o
// 1z NSS100 s NSS100 23— \\ || Y _glg
NS55282R | I |4 | IN55282L | | y —T 46"
—203—f NSS100 ll|3“ NS5100 34%" 20%” 9%'
s /| Nes2EIR | . ¢ . l [ pss2s33e N N\ || 7 —
_ // f PP a2 ! a2 T el A | | 7 o2
7] 4 4 | i N . ¢
L — right center left =~ L
brace brace brace
NSS284R NSS279 NSS284L
NOTES FOR INSTALLER: ‘ o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

48" WALLS POOL SYSTEM

Al

CURRENT APSP/ANSI/ICC-5 2011 &

POOLS

THIS STAIR / SUNDECK CONFORMS TO

ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS




NSS02048

53; 'R x12'W - ROMAN STAIR

18'W POOL - 48" WALL

- - -] T -~ ~ ~
~ 1
BEAD . ~ sl
RECEIVER : NSS?75R o :\'85275; . . F13"—-|—11%"—l—11§1"——l—11§1"4‘
NSS. 382" 385" NS5240L M I
27eR : “NSsT00 1117 8“ NSS700 >)< | ]
| {3 | N$5100 | '8%‘:'\ N : | i
115"
&/ Tl WU I 220N B p
153 — 1. ! NSS100 1. f—153— || P
8 1 24 NSS5100 4113 32 8 /4 —
/ | N55278R /) | T T T NG \ : : o3
_ // //' 195" +— 42" ! 42" L1l '\\\\ - || /5 —*3
v . N 93
B - - right center left N N I I ‘ i
- brace brace brace =
NSS279R NSS279 NSS279L
NOTES FOR INSTALLER: P O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 1 1 O
RESIDENTIAL INGROUND SWIMMING
POOLS




48VS0890

8' x 90° Nexus Full End Stair -

Count | PART# DESCRIPTION LETTER "
" Psora & 48" Walls - 48VYS0890
1 |Nss10748 48" Stair Brace Wall Insert (H) o
O lonal
2 NSS308 36" Sundeck / Stair Brace Extension (T) BEAD RECEIVER o
1 [NSS30448 2 Piece Straight Stair Brace - Top Step (@) Cotaing pom sl
1 |NSS30548 2 Piece Straight Stair Brace - Bottom Step @ 2l 12— ':_ S —— — — — —
PART NSS30848 (T) is only used when a sundeck is being created ] T \?Efé’niii;lé?;;u @ 1L esorecenen I
i ¥ existing pool walls)
Included Stair Hardware | _Jg I 7T® I I L (ONN |
1 149271 3/8" x 18" Rebar - Bundle of 20 R 3 | | |
40 149664 3/8" Washer Head Hex Nut I I | ® 111 | |
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt | - N N
40 42999 1 5/8" Clip Screw | | o L1 1® el | I-I ®1 1 1 i
1 TEK75 Tek Screws - Pack of 75 || — | | . J | | |
6 NSS1112 Large Nexus Brace Clip - 93 | RECEIVER |
7 NSS8BR 8' Bead Receiver - | | . | L @ 4!5.. — ! I “ O ! — |

NOTE: This Modular Step Unit comes
with Bead Receiver (NSS8BR) to

accomodate sundecks up to

8' in width.

BEAD RECEIVER
(installer to attach to
existing pool walls)

8' x 90° Nexus Full End Stair w/ Variable Sundeck
48" Walls - 48vS0890

(optional)

_\ BEAD RECEIVER
(installer to attach to
existing pool walls)

FOR VINYL WORKS LIJ'SE - ‘__}

48VS0890 -

PLEASE PROVIDE SUNDECK
SIZE FOR LINER PRODUCTION

L 1™

seAp recever = |
(installer to attach to

| @ | exiungpef\waﬂs)

BEAD J

RECEIVER

VARIABLE

1) Steel braces will be attached BETWEEN sections on step treads.

End flanges on adjoining step risers will create
the steel brace.

2) Steel braces NSS304 & NSS305 bolted togeth
standard NSS147 brace for full end step units.

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

|
3) Installer must specify the measurement of the sundeck area to :
I

o

[

a pocket to insert

er will create the

I—12" (Installer must specify size ) 12" 12”_|

[ ™\- 60 recenver
inst

Ll

||O||

vero receiver — |
(installer to attach to
existing pool wal)

@ VARIABLE

(Installer must
specify size)

P

L1nu®

RECEWER

I O T

48" e
RECEIVER

q
|
|
|
|
|
|
|
|
|
|
|
|
|

!II@II

QiPII@III

INL® 1 1 |

48'

48"

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

48" WALLS POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




48VS1090

Count | PART# DESCRIPTION LETTER
8 NSS136 48" Step Riser (A)
4 | NSS169 24" Step Riser ©
2 [Nss10748 48" Stair Brace Wall Insert (H)
4 NSS308 36" Sundeck / Stair Brace Extension @
2 [NSS30448 2 Piece Straight Stair Brace - Top Step (@)
2 INSS30548 2 Piece Straight Stair Brace - Bottom Step @

PART NSS30848 (T) is only used when a sundeck is being created

Included Stair Hardware

1 149271 3/8" x 18" Rebar - Bundle of 20 -
40 149664 3/8" Washer Head Hex Nut -
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt ---
40 42999 1 5/8" Clip Screw ---

1 TEK75 Tek Screws - Pack of 75 ---

NSS1112 Large Nexus Brace Clip ---

8 NSS8BR 8' Bead Receiver ---

NOTE: This Modular Step Unit comes
with Bead Receiver (NSS8BR) to
accomodate sundecks up to 8' in width.

10' x 90° Nexus Full End Stair

48" Wa

BEAD RECEI\/ER
( nstal u attach to
stin gp ol walls)

(optional)

Is - 48VS1090

(optional)

1
'—12 T _l_lZ _|_12 - N AL RECENER | BEAD RECEIVER _/q
[ ] Smpoingey w @:V)“Zi:::::"“‘ra;;g
K S @ L® 10 |
| E J1 1 el @ @ | |
RN RON | L1®11) 1 © |
| | —i‘ ¥ | ; REcEallvEésJ | 12" | I |
| o3 | L1®1 !||®|I|| | © |
| | 3. BEAD 12"
N Ll 1 ® T 0 ®ihhro ©
48" . 48" . 24"

C

(-

10" x 90° Nexus Full End Stair w/ Variable Sundeck
48" Walls - 48VS1090

BEAD RECEIVER
(installer to attach to
existing pool walls)

(optional) (optional)

TL@

|: N\ frear o atach o <WEE’RZ,ZE§EZ§£ “ :1
FOR VINYL WORKS USE - {__} PLEASE PROVIDE SUNDECK Lrie @. @t &
48VS1090 - " SIZE FOR LINER PRODUCTION | | |
FecenER VARIABLE
: : ] VARIABLE ] ] | &) &D |
1) Steel braces will be attached BETWEEN sections on step treads. 2T insatermustspeciysize) T 2 T 2] (installer must
End flanges on adjoining step risers will create a pocket to insert M T | g @ speciy size) @ ) |
the steel brace. | 7 3 || e | |
2) Steel braces NSS304 & NSS305 bolted together will create the | _9|% | qg Q:Q |
standard NSS147 prace for full end step units. o | | L1 ®g 1 HEOYETH © |
3) Installer must specify the measurement of the sundeck area to | | _‘I‘ 4 | a0 | | |
ensure proper liner fit. - 1
4) This Modular Step Unit can be made with 6" Radius Corners by : : _f | LI ® 11 _| ! LI ® 10 ! © |
installing the optional 6"R foam corner insert (GLAUC4442NT). o3 vy 5y
One required per feature that must be cut to size. ALWAYS L : | .l L L ® qlu T} I L L ® ﬁlu L I g(? I |
SPECIFY CORNERS WHEN ORDERING THE POOL AND |_| IJ
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY P o,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial

POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO

RESIDENTIAL INGROUND SWIMMING

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

112

POOLS




48VS1290

Count | PART# DESCRIPTION LETTER
12 | NSS136 48" Step Riser (A)
2 |Nss10748 48" Stair Brace Wall Insert (H)
4 NSS308 36" Sundeck / Stair Brace Extension (T)
2 [NSS30448 2 Piece Straight Stair Brace - Top Step (@)
2 |NSS30548| 2 Piece Straight Stair Brace - Bottom Step @ I ™A e i |
PART NSS30848 (T) is only used when a sundeck is being created |_| I
Included Stair Hardware | 7 _9|§
1 149271 3/8" x 18" Rebar - Bundle of 20 4
50 149664 3/8" Washer Head Hex Nut | | _|3
50 149670 3/8" x 1 1/4" Washer Head Hex Bolt || _9|‘_‘ 46"
40 42999 1 5/8" Clip Screw | o
1 TEK75 Tek Screws - Pack of 75 | | _|
6 NSS1112 Large Nexus Brace Clip 9%--
9 NSS8BR 8 Bead Receiver | | l

NOTE: This Modular Step Unit com
with Bead Receiver (NSS8BR) to

accomodate sundecks up to 8' in width.

12' x 90° Nexus Full End Stair

48" Walls - 48VS1290

optional) (optional)
BEAD RECEIVER
(installer to attach to E i )
existing pool walls)

N fraatorsstacht | e recees /|
existing pool w; 12" existing pool walls)
L 1™y g L1® il L1 ® ] |
| | 20 @ | |

RECEIVER 12"
||||®||| L1 ® 1l HEONIE | |
I -' - | - 1
BEAD
| RECEIVER l 12" l |
HEONE L1 ® 0 EON
| BEAD | |
| RECEIVER | 12” |
LI®1 11 1 10®ih 1 1 1®y
|_ 48" 1 48" 1 48" J

es

(optional)

12' x 90° Nexus Full End Stair w/ Variable Sundeck
S1290

(optional)

j _____ j ______ ]
BEAD PECE\\/ER-/
FOR VINYL WORKS USE - PLEASE PROVIDE SUNDECK | | ™" @ % @ @ S5
ABVS1290 - . SIZE FOR LINER PRODUCTION | | =5 |
) VARIABLE ) ) | é VARIABLE é |
1) Steel braces will be attached BETWEEN sections on step treads. e (st st specty size ) T N et P
End flanges on adjoining step risers will create a pocket to insert M ED | (oo o @ ’ @ (st o |
the steel brace. | _9|§ |
2) Steel braces NSS304 & NSS305 bolted together will create the || _i‘ | %) %) |
standard NSS147 brace for full end step units. I A N EON EONEIN I EON |
3) Installer must specify the measurement of the sundeck area to — | i l i l 1
ensure proper liner fit. || o L1® 1 11 L1® 11 LI®1 11 |
4) This Modular Step Unit can be made with 6" Radius Corners by | iy | ezl | L | |
installing the optional 6"R foam corner insert (GLAUC4442NT). L] i Il 1 1 ® 1 L1 1 ® L1 1 ® 1 11 |
One required per feature that must be cut to size. ALWAYS Lt ! ! J
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.
NOTES FOR INSTALLER: ALWAYS SPECIFY P 0O ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO

RESIDENTIAL INGROUND SWIMMING

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR

113

POOLS




48VS1490

14' x 90° Nexus Full End Stair

Count | PART# DESCRIPTION LETTER 48" Wal IS - 48VS 1490
16 | NSS100 42" Step Riser (B)
3 |NSS10748 48" Stair Brace Wall Insert (H) (optional) (optional) (optional)
6 | NSS308 36" Sundeck / Stair Brace Extension (@) (i} (aler o atach o (i)
3 INSS30448 2 Piece Straight Stair Brace - Top Step @ _____ - e :L _____
3 |NSS30548| 2 Piece Straight Stair Brace - Bottom Step @ 12— iz — H\B -
PART NSS30848 (T) is only used when a sundeck is being created M I | el 6:/\/) 6:/\/) 6:/\/) Gt el
Included Stair Hardware | _g*g | . L . L] L@ | i L
1 149271 3/8" x 18" Rebar - Bundle of 20 || _i‘ | L1® ] 1 | 1 ® 1 11 @ ® IRETWERI @ ® 1 1 1 i
70 149664 3/8" Washer Head Hex Nut | | 9%-- b I | RECEW | 1
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt — | L® 1 1 1 L1® 1 11 I L® 1 1 1 L1® 1 1 1
40 42999 1 5/8" Clip Screw | | _9*% | ! ! !
- TERTS Tek Serows - Pack of 79 | | g L®11 1 11 ®1ah 11 ®1 11 1 1@
6 NSS1112 Large Nexus Brace Clip [ | 2 ) 2 ) o ) o
10 NSS8BR 8' Bead Receiver |
L

NOTE: This Modular Step Unit comes
with Bead Receiver (NSS8BR) to

accomodate sundecks up to 8' in width.

C—-———

FOR VINYL WORKS USE -
48VS1490 - "

«—

14' x 90° Nexus Full End Stair w/ Variable Sundeck
48" Walls - 48VS1490
PLEASE PROVIDE SUNDECK @ — _1,‘_ @ — @ — __;
SIZE FOR LINER PRODUCTION L®1 1 HONE ®1 T

VARIABLE

1) Steel braces will be attached BETWEEN sections on step treads.

End flanges on adjoining step risers will create a pocket to insert
the steel brace.

Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.

Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

2)
3)

4)

.

-

|—12" (Installer must specify snze) 12" 12”_|

Lt

M

®
D

IN\-cero recener
o )

existing pool wialls)

L®1 11 1 ® 1

VARIABLE éb

(Installer must
specify size)

RECE\ ER é

(eoreceen e

ing ol wal)

1®1 11 1161

12

||O||D

1
1 ® 11
po

| L® |
!|®|‘

zzzzzzzz

I
]
||
]

LI1® 11

|
-

|
!|®| L1 1
| po ,
L

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

114




48VS1690

16' x 90° Nexus Full End Stair

Count | PART# DESCRIPTION LETTER
e o 48" Walls - 48VvS1690
3 |Nss10748 48" Stair Brace Wall Insert (H)
6 |NSS30848 36" Sundeck / Stair Brace Extension (T) ) ) )
i " " (optional) (optional) (optional)
3 INSS30448 2 Piece Straight Stair Brace - Top Step (@) e
3 [NSS30548 2 Piece Straight Stair Brace - Bottom Step (D)
. . . 12" 12" 12" 12" - - _—_——_—————— —_— T T/ T
PART NSS30848 (T) is only used when a sundeck is being created l_l'_ I L H\ .
- N (installer to attach to MBSLEE‘;D REC“E‘V:”
Included Stair Hardware _7' || e @ 12" @ @ Coaing o wa |
n 20571 38" 18" Rebar - Bundle o720 | ’T 2l L 1 ® 1 | L1 ® 1] L1 ® ) | L1 ®1 1] |
70 149664 3/8" Washer Head Hex Nut || - @ 12 @
70 149670 3/8" x 1 1/4" Washer Head Hex Bolt N _9|%4 | |l OF N EONEIE EONEE L1 ®) 1 | |
40 42999 1 5/8" Clip Screw ! l e l l
1 TEKT5 Tok Screws - Pack of 75 || ki : L1®1 1 L1I® 1] L1®] 11 L1®1 11 :
6 NSS1112 Large Nexus Brace Clip | ] o3 | 12 | RecENER |
11 NSS8BR 8 Bead Receiver | Ll ®ra g i ®ih 1 a®i1 11 1®ia

NOTE: This Modular Step Unit comes

with Bead Receiver (NSS8BR) to

accomodate sundecks up to 8' in width.

FOR VINYL WORKS USE -

" ‘_ PLEASE PROVIDE SUNDECK
48VS1690 - _— -> SIZE FOR LINER PRODUCTION
1) Steel braces will be attached BETWEEN sections on step treads. l—“—l—(VARIApBLwE)_I—“—I—“—l

End flanges on adjoining step risers will create a pocket to insert M

the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the

standard NSS147 brace for full end step units.

ensure proper liner fit.

3) Installer must specify the measurement of the sundeck area to |
I

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS

SPECIFY CORNERS WHEN ORDERING THE POOL AND
LINER.

(optional)

16' x 90° Nexus Full End Stair w/ Variable Sundeck
48" Walls - 48VS1690

(optional) (optional)
E R

B T
L1®y 1 L1® |

é VARIABLE
(Installer must
q_> specify size)

i recenen -l i
9

L1® 1 11

Li1®1 1 L1®10

L1® 11 Q?II@III <>:(>||®||_'|

||®||J| L1I® 1 11

zzzzzzzz

||®|“|| ||®|”||

[
|
|
|
|
|
|
|
| LI1® 1 L1®a0

- - _ _1

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS
WHEN ORDERING THE
POOL AND LINER.

Polymer

48" WALLS POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &

ISPSC 2024 STANDARDS FOR 1 1 5
RESIDENTIAL INGROUND SWIMMING

POOLS




48VS1890

18' x 90° Nexus Full End Stair -

Count | PART# DESCRIPTION LETTER
4 NSS136 48" Step Riser (A) 11
16| NSS100 42" Step Riser (8) 48 Wa”S - 48VS 1890
4 |NSS10749 48" Stair Brace Wall Insert H) optona optons optona optona
8 NSS308 36" Sundeck / Stair Brace Extension (T) sep0RECENER
4 |NSS30448 2 Piece Straight Stair Brace - Top Step W) eisting pool wals) L jjb jjb j
4 |NSS30548 2 Piece Straight Stair Brace - Bottom Step x) I B B i — — — - 7
PART NSS30848 (T) is only used wh deck s bei ted | [ T TTNREEE s i sesp v et |
y tised When a sundech Is being creare - N EEEON 1 ® 11 | L ®1 11 RONNMN RONNN |
Included Stair Hardware | | o @ s 1 q@ A @ @
1 149271 3/8" x 18" Rebar - Bundle of 20 - | | _9I§ ) | 1 1 @ 1 1 | 1 ® 1 1 | | ® 1 11 | ® 1 1 1 | ® 1 1 1 |
90 149664 3/8" Washer Head Hex Nut --- | | _‘I‘ ¢ | l seand l b l l |
90 149670 3/8" x 1 1/4" Washer Head Hex Bolt - o3 | L1 1 ® 1 1 1 ® 1 1 1 1 ® 1 1l 1 ® 1 11 1 ® 1 11 | |
40 42999 1 5/8" Clip Screw | | o ! | el | 1 | | )
TEK75 Tek Screws - Pack of 75 | | ¥l L @i e 1 i®ah 11 ®i 1 1 1®11 |
NSS1112 Large Nexus Brace Clip -- |_ 48" L 42" L 42" L 42" L 42" J
12 NSS8BR 8' Bead Receiver -

NOTE: This Modular Step Unit comes
with Bead Receiver (NSS8BR) to
accomodate sundecks up to 8' in width.

18' x 90°

(optional)
©ptional e ro pecener
(installer t0 attach to

existing pool wialls)

(optional) (optional)

Nexus Full End Stair w/ Variable Sundeck
48" Walls - 48vS1890

(optional)

FOR VINYL WORKS USE -
48VS1890 - !

1) Steel braces will be attached BETWEEN sections on step treads.
End flanges on adjoining step risers will create a pocket to insert

the steel brace.

2) Steel braces NSS304 & NSS305 bolted together will create the
standard NSS147 brace for full end step units.
3) Installer must specify the measurement of the sundeck area to

ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).
One required per feature that must be cut to size. ALWAYS
SPECIFY CORNERS WHEN ORDERING THE POOL AND

LINER.

————— - - - -

I [N\ BEAD RECEIVER @:\I) @:V) @ @sgwnzcavzn Y I

|||®||| L® 1 11 L® 1 10 1®1 11 L® 1 11 |

| VARIABLE |
SEAD RECENVER (Installer must

| NG (et st o q_) @ specity size) q_) q_) eeavrecever A |

L ®1 4 L® 111 L® 111 L® L1 L® 111 |

P

| RecEivER Ay |
LI®1 11 1®1 11 1®1 10 1®1 11 1®1 11

| ol |

L:II@III 1®1 11 1®1 11 1®1 11 |®||||IJ

1 ” - - ", ", ]

VARIABLE

I S

n

PLEASE PROVIDE SUNDECK

-

|
SIZE FOR LINER PRODUCTION : :

|

Ll

NOTES FOR INSTALLER:
PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

ALWAYS SPECIFY
6" OR 90° CORNERS

WHEN ORDERING THE

POOL AND LINER.

Polymer

48" WALLS POOL SYSTEM

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

THIS STAIR / SUNDECK CONFORMS TO




48VS2090

20' x 90° Nexus Full End Stair w/ Variable Sundeck -

Count | PART# DESCRIPTION LETTER
20 | NSS136 48" Step Riser (A) n
4 NSsS10748 48" Stair Brace Wall Insert H) 48 Wal IS - 48V82090
8 NSS308 36" Sundeck / Stair Brace Extension (T)
4 INSS30448 2 Piece Straight Stair Brace - Top Step (@) (optional) (optional) (opona)  aeaorscenen (optional)
4 INSS30548 2 Piece Straight Stair Brace - Bottom Step (D) b isting poo walk)
- —— G i B - - - - -
PART NSS30848 (T) is only used when a sundeck is being created M -
- _7| nealer i ttach 0 exsting poolvals) @ @ o @ @ (nstaer o atach o exetng pool )
Included Stair Hardware | 3| | el ® 1 LI®1 11 LI® 1 LI® 1 LI®y 1 |
1 149271 3/8" x 18" Rebar - Bundle of 20 - — ! )
" | | 3, | l BEAD RECEIVER. 12" BEAD RECEIVER. l |
90 149664 3/8" Washer Head Hex Nut o ay 1B 1] ORI [ EORRTI L 1® ] ] 1B 1]
90 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 2] provp— L3 prvym—— | |
40 42999 15/8" Clip Screw I 4 ||||®||| L1I® 1 1 L1® 411 LI®1 1 RO [ |
1
1 TEK75 Tek Screws - Pack of 75 - 9?-- ! senp recenverd 12” seao receiverd
5 NSS1112 Large Nexus Brace Clip — u | | L 1B 1| L 1B 1| L 1® 11| L 1B 1| L 1B 1| l |
13 NSS8BR 8" Bead Receiver L U

20' x 90° Nexus Full End Stair w/ Variable Sundeck -

NOTE: This Modular Step Unit comes 48" Walls - 48VS2090
with Bead Receiver (NSS8BR) to o~ o

accomodate sundecks up to 8' in width.

(optional) - geap recever (optional)
(installer o attact

hto
ool walls)

[RCeer0 Recenen T SEAD RECENER 7]
EONEE EONEE EONETI ORI LI®]

é[‘) é[‘) VARIABLE é[‘) BEAD RECEIVER é[‘)

FOR VINYL WORKS USE

-0~

(Installer must .
specify size) <D <D nstater o atach o sy post ity |

- 48VS2090 - "
L1I® 11 L1I® 11 L1I® i1 L1I® 11 LI® 11
1) Steel braces will be attached BETWEEN sections on step treads. LX [EyTy——
End flanges on adjoining step risers will create a pocket to insert 1 ®1 1 L1®) 11 L1® ) :I 1 L1® ] Ll L1®1 10
the steel brace. i 6EAD RECENER
2) Steel braces NSS304 & NSS305 bolted together will create the L 1B L 1B 11 L1 ® 11 L1® 11 L1 @B 11

| N BERD RECEIVER
| (nstaler o attach o exising oo walls)

e I

standard NSS147 brace for full end step units.

3) Installer must specify the measurement of the sundeck area to
ensure proper liner fit.

4) This Modular Step Unit can be made with 6" Radius Corners by
installing the optional 6"R foam corner insert (GLAUC4442NT).

. VARIABLE . .
N S N B |

3

_Lgpw_l_u_l

PLEASE PROVIDE SUNDECK

|
One required per feature that must be cut to size. ALWAYS SIZE FOR LINER PRODUCTION | _9‘%4
SPECIFY CORNERS WHEN ORDERING THE POOL AND | S
LINER. | 1
L i
NOTES FOR INSTALLER: ALWAYS SPECIFY P Olym er

PERIMETER PANELS WILL 6" OR 90° CORNERS

WHEN ORDERING THE

48" WALLS POOL SYSTEM

Imperial

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 1 1 7
RESIDENTIAL INGROUND SWIMMING
POOLS

POOLS

POOL AND LINER.




48VB24FE-12B

12' x 24" - 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER
2 NSS22748 42" Bench Brace Wall Insert @
3 NSS30048 48" Sundeck / Bench Riser @ 48VB 24 F E - 1 2 B
2 NSS30648 24" Sundeck / Bench Brace ®
Included Stair Hardware - ;
. - (optional) BEAD RECEIVER — (optional)
1 149271 3/8" x 18" Rebar - Bundle of 20 (installer to attach to
30 149664 3/8" Washer Head Hex Nut existing pool walls)
30 149670 3/8" x 1 1/4" Washer Head HexBolt |  --- | o
24 42999 15/8" Clip Screw T 1
1 TEK75 Tek Screws - Pack of 75
4 NSS1112 Large Nexus Brace Clip | | ) | |
2 NSS8BR 8' Bead Receiver | | 24 | |
N O) I T I O ) N I © 114!
| I 48" L 48" L 48" I |
| | 24— | |
|| ] ||
L] || ol L]
N a
I
I 46"
| |
|| 3] |of 263
_ 282 26y
|| 47
(optional)  BEAD RECEIVER (optional)
(installer to attach to
existing pool walls)il
S I ﬁj ————— ﬁj T
Ve I I AN
/ AN
// R24 2 R24 \\
O L1 11 O 1111 © 1]y
Ml 48" L 48" L 48" 1
| | | |
L L
NOTES FOR INSTALLER: ALWAYS SPECIFY Po ,ym er

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

Imperial
POOLS

6", 90° OR 2'R CORNERS
WHEN ORDERING THE

POOL AND LINER.

POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

118




48VB24FE-14B

14' x 24" - 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER 48VBZ4F E 14B
3 NSS22748 42" Bench Brace Wall Insert @ =
3 NSS30648 24" Sundeck / Bench Brace @ (optional) (optional) (optional)
4 NSS30048 48" Sundeck / Bench Riser @ (inBstEa?Er?oE;gt\:/hEtE
1 NSS30248 24" Sundeck / Bench Riser @ existing pool walls)
Included Stair Hardware | | ]

1 149271 3/8" x 18" Rebar - Bundle of 20 I I

30 149664 3/8" Washer Head Hex Nut

30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 2 | |

24 42999 1 5/8" Clip Screw | |

1 TEKTS Tek Screws - Pack of 75 T (5 J Y () S (O J I Y () |

4 NSS1112 Large Nexus Brace Clip 48" | 48 + 48 + 24"

2 NSS8BR 8' Bead Receiver | | 24" | |
| | ! ! | |
| | ﬂ | |
L 19l" L

|| 4
||
| F——T7—23
|| /2 46
|| 3
|| 283" |°| 263"
|| .
| o
LI
(optional) (optional)  BEAD RECEIVER (optional)
(installer to attach to
existing pool walls)
_____________ -
~
I
24” @
L ®© 11111 ®©
48 ! 48
NOTES FOR INSTALLER: ALWAYS SPECIFY

PERIMETER PANELS WILL
REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

6", 90° OR 2'R CORNERS

WHEN ORDERING THE POOL SYSTEM

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR 1 1 9
RESIDENTIAL INGROUND SWIMMING
POOLS

POOLS

POOL AND LINER.




48VB24FE-16B

16' x 24" -

6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER -
3 NSS22748 42" Bench Brace Wall Insert @ 48V B 24 F E 1 6 B
4 NSS30048 48" Sundeck / Bench Riser @ (optional) (optional) BEAD RECEIVER (optional)
3 NSS30648 24" Sundeck / Bench Brace [O) j ij (installer to attach lo:I j
existing pool walls)
Included Stair Hardware I = = B 1]
1 149271 3/8" x 18" Rebar - Bundle of 20 i I I I T
30 149664 3/8" Washer Head Hex Nut | | | |
30 149670 3/8" x 1 1/4" Washer Head Hex Bolt | | 24" | |
24 42999 15/8" Clip Screw | |
1 TEK75 Tek Screws - Pack of 75 [ | ® NN ® RN ® RN ® | 1
4 NSS1112 Large Nexus Brace Clip | 48" ! 48" \ 48" 1 48" |
2 NSS8BR 8' Bead Receiver | | | |
| | 24" | |
| | M | |
LJ || L LJ
| | 192
||
L I b——7—g -
| ] /Z 46
| | \
| | 283"| [©] 263
|| y
|| o
Ll
(optional) (optional) BEAD RECEIVER (optional)
j j (installer to attach to —L j
existing pool walls)
S i ks <o — — T~
@ 24" @ @
N N () T T T T T O B I I O I I
. 48 ! 48" ) 48" 1
| |
| |
||
L
-
NOTES FOR INSTALLER: awavsseecry | POlymer
PERIMETER PANELS WILL | I I p e r I a_ 6", 90° OR 2'R CORNERS B OOL SYSTEM
REQUIRE DRILLING HOLES WHEN ORDERING THE

TO ATTACH STEP RISERS

POOLS

POOL AND LINER.

THIS STAIR / SUNDECK CONFORMS TO
CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

120




] " n (o] ]
48VB24FE-18B 18' x 24" - 6", 90°, or 2'R - Nexus Full End Bench
Count PART# DESCRIPTION LETTER 48VBZ4 F E_ 18 B
4 NSS22748 42" Bench Brace Wall Insert @
4 NSS30048 48" Sundeck / Bench Riser [®) BEAD RECEIVER (optional) (optional) (optional)  BEAD RECEIVER — (Optional)
1 NSS30248 24" Sundeck / Bench Riser @ (ins!al!er to attach to (insFaI!er to attach to
2 NSS30648 24" Sundeck / Bench Brace @ existing pool walls) existing pool walls)
P
Included Stair Hardware ! ! ! !
1 149271 3/8" x 18" Rebar - Bundle of 20 | | ) | |
40 149664 3/8" Washer Head Hex Nut | | 24 | |
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt
ey 42669 15/5" Ciip Serow L1 © 11111 © 1] O 1111l © 111 @
1 TEK75 Tek Screws - Pack of 75 | | 48" : 48" : 48" : 48 : 24" | |
4 NSS1112 Large Nexus Brace Clip | | | |
3 NSS8BR 8' Bead Receiver B S t— B
U | | 1 U
197"
| | 4
I A
| 46
||
| | 34| |0 263
1
| | .
||
(optional) (optional) BEAD RECEIVER (optional) (optional)
‘3 (installer to attach to l j
existing pool walls)
o1 v Y 1T v - T~
/ [ [ [ [ N
/ \
/ R24 24" R24 \
[ \
N N (5 N N T T J T T N T () T I Y A O I ™ |
I 48" L 48" L 48" L 48" L 24" I
|| ||
|| ||
NOTES FOR INSTALLER:

PERIMETER PANELS WILL

I m pe ri al ALWAYS SPECIFY Po,ymer

6", 90° OR 2'R CORNERS POOL SYSTEM

REQUIRE DRILLING HOLES
TO ATTACH STEP RISERS

ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

WHEN ORDERING THE THIS STAIR / SUNDECK CONFORMS TO
P O O L S POOL AND LINER_ CURRENT APSP/ANSI/ICC-5 2011 & 1 2 1




48VB24FE-20B

20'x 24" - 6", 90°, or 2'R - Nexus Full End Bench

Count PART# DESCRIPTION LETTER 48V B 24 F E 2 O B
4 NSS22748 42" Bench Brace Wall Insert @ -
5 NSS30048 48" Sundeck / Bench Riser @
4 NSS30648 24" Sundeck / Bench Brace ® BEAD RECEIVER (optional) (optional) (optional) (optional)  BEAD RECEIVER —
(installer to attach to (installer to attach to
existing pool walls) existing pool walls)
Included Stair Hardware - 1T __ v Ty T T T
1 149271 3/8" x 18" Rebar - Bundle of 20 | | | |
40 149664 3/8" Washer Head Hex Nut | | | |
40 149670 3/8" x 1 1/4" Washer Head Hex Bolt | 2 |
24 42999 15/8" Clip Screw
1 TEKTS Tok Screws - Pack of 75 S (N (Y (S (S (I [y
2 NSS1112 Large Nexus Brace Clip N 48 48 48 48 48 N
3 NSS8BR 8' Bead Receiver | | | |
L e L
[
| | 1.
| | 19‘—1
[
| | 46
|| 2 lo| 263
|1 P e
| | .
L
(optional)  BEAD RECEIVER (optional) (optional)  BEAD RECEIVER — (optional)
(insFaI!er to attach to —| (insl_al!er to attach to
existing pool walls) existing pool walls)
o — ———— —— 1 —I >
/ N\
a l @ @ @ =\
“||®|||||®|||||®|||| ®|||||®||H
| 48" L 48" L 48" 48" L 48" ]
| | | |
| | | |
L L
-
NOTES FOR INSTALLER: ALWAYS SPECIFY P o,ym er
PERIMETER PANELS WILL | I I p e r I a_ 6", 90° OR 2'R CORNERS POOL SYSTEM
REQU'RE DRlLLING HOI—ES WHEN ORDERING THE THIS STAIR / SUNDECK CONFORMS TO

TO ATTACH STEP RISERS

POOLS

POOL AND LINER.

CURRENT APSP/ANSI/ICC-5 2011 &
ISPSC 2024 STANDARDS FOR
RESIDENTIAL INGROUND SWIMMING
POOLS

122




42" STRA

GHT STAI

R ASSEMB

(Multiple Inserts may be )
required depending on the
length of the step form)

A

Stair Brace
Panel Insert \\
L W
~ ;
I
N

|Slai
Panel Insert,

f\\
NN
N
N
A )

Place Stair Brace Panel Insert in the wall panel seam where
the stair will be centered (FIG. 2). The Insert must be
secured in place using the Panel Brace and Peg & Wedge

(" Nexus Stair
System Form
Segction

Stair Brace

2

System Form
Section Y

N\ )

Stair Brace

Bolt the Bottom, Center and Top, Step Form
Sections to the Stair Brace (FIG. 3). The brace
should be sandwiched between the two form pieces.

e/stem and nuts and bolts before the bond beam is poured.

_J \Unitially hand tighten all bolts.

Depending on the length of the step, bolt any
additional Braces and Form Sections to the step
assembly (FIG. 4).

J\L J

( A

Stair Brace

( )

5) Push the step assembly into place and
loosely bolt the Stair Brace to the Stair Brace
Panel Insert and level the form assembly.

The top edge of the bottom step form should
be 12 3/8" up from the bottom edge of the
pool wall panel (10 3/8" riser with a 2" finished
pool bottom)

6) Mark the location of all bolt holes (FIG 6) for
the left & right ends of the Form Sections on
the face of the pool walls. (Verify the hole
locations with the provided measurements.)

7) Unbolt the Center Stair Brace from the Stair
Brace Panel Insert, and pull the step
assembly away from the wall.

8) Drill all the bolt holes using a 1/2" drill bit.

9) Push the step assembly back into place and

W secure the Stair Brace to the Stair Brace
Once assembled, tighten all bolts making sure the Panel Insert.
top edge of the forms are even across the full length 10) Bolt the ends of the Form Sections securely to
of each tread (FIG 5), and the face if the riser is the pool wall.
\flush with the Stair Brace. _J \_ Y,
( 5
14 Mark bolt holes for Form
2 Sections (Right side shown.
] Repeat for left side of step) /%
o - AN
L 7. - \\
23; J—
27%” 8 155 // |
f— 1 |
W 515" !
7. 3.
40" 35§ | ! 333 |'| Z J\
. s
l

1.
515

LY & INSTALLATION

ASSEMBLY

l— INSTALLATION ]

s

7 ¢

(Wood or Metal reinforcement at top
edge of riser (remove once
concrete has set)

Blocking Angle at the end of
ach riser is bent to fit (remove
once concrete has set)

(Wall Clips will be

required on steps with

2' radius corners)

<

>

<

Backfill should not be
above the first cross
section support on
the step form

Backfill should remain at
least 5 1/2" below the top

Vs

>

edge of the step form )
= = d Recei h
= — [ Bead Receiver
=
=
T—/
Hh
Q 48
Tek screw
1l
Step K
Support | Form 3
70 Brace Bead
Receiver <
= =
//, =
= =
f
s
||
I
. o'
Q RilA
] "
1l
m Nire Tread * 4|
Reinforcement
J




42"

( Y4 )
Right Stair
Brace
Right Side Stair Leftt Side
Form Section Left Stair o Form
Brace
l Section
~
~
Center Form
ﬂ Sections
J v
Bolt the Right Side Bottom, Center and Top, Step Form Bolt the Left Side Bottom, Center and Top, Step Form
Sections to the Right Stair Brace and Center Form Sections and the Left Stair Brace to the step assembly
Sections (FIG. 2). The brace should be sandwiched (FIG. 3). The brace should be sandwiched between
\between the two form pieces. Initially hand tighten all bolts. / \_the two form pieces. Initially hand tighten all bolts. _J

Stair Braces on the face of the pool walls.
8) Pull the step assembly away from the wall.
9) Dirill all the bolt holes using a 1/2" drill bit.
10) Push the step assembly back into place and secure the
\_ bolt the Stair Braces securely to the pool wall.

2%“ Finished Bottom

s \( s
2' Radius Inside Corner
Stair
— =
Wall
Clip
&— i Clip
Wy w
Once assembled, tighten all bolts making sure the top Screw a Wall Clip to the Left & Right Extensions (FIG
edge of the forms are even across the full length of 5) along the upper horizontal rib (6" below the top
each tread (FIG 4), and the face if the riser is flush edge of the form). The vertical face of the clip should .
\_Wwith the Stair Brace. _J \ e flush with the mitered end of the Form Extension. )J 90 Degree Corner Stair
( _ == ﬂF\
—
Mark bolt holes for Stair o F - ﬂf \\
Braces. (Right side shown. *** 90 Degree Corner Stair is
Repeat for left side of step) — shown. The process 1S
—_—|— unchanged for the 2' Radius
\\ ' inside Corner Stair =+ L
\ Io )
115"
\ 1 1 i
¢ N .,
378 13§ | 1
.
N
1.
133 | W
e — 4]
N
a1
6) Push the step assembly into place and level the form
assembly. The treads should be at the depths shown °
(measured down from the top of the wall panel).
7) Mark the location of all bolt holes (FIG 6) for the left & right

ASSEMBLY

l— INSTALLATION ]

CORNER STAIR ASSEMBLY & INSTALLATION

4 )
f Wood or Metal reinforcement at top
edge of riser (remove once
concrete has set)
(wall Clips)
Blocking Angle at the end of
7 each riser is bent to fit (remove
once concrete has set) )
<
<
rS(ep Form
Section
MAX.
Backfill should not be
above the first cross
Isection support on the Clean Backfill or
step form Stone
Backfill should remain at 6" Step Footer
least 5 1/2" below the top
9 edge of the step form
<
( Bead Receiver )
<
<
Wire Tread
1 1 Reinforcement
J




42" RADIUS STAIR ASSEMBLY & INSTALLATI

See Radius Step Liner
Dimensions & Component
Number page for correct
placement of the parts used
during form assembly

6

Tighten all bolts beginning at the Center Brace and working
outward. The face of the form should be flush with the edge
of the brace.

Push the step assembly into place and loosely bolt the Center
Stair Brace to the Stair Brace Panel Insert and level the form
assembly. The top edge of the bottom step form should be 12
3/8" up from the bottom edge of the pool wall panel (10 3/8"
riser with a 2" finished pool bottom)

Mark the location of all bolt holes (FIG 7) for the Left & Right
Stair Brace on the face of the pool walls.

Unbolt the Center Stair Brace from the Stair Brace Panel
Insert, and pull the step assembly away from the wall.

10) Drill all the bolt holes using a 1/2" drill bit.

11) Push the step assembly back into place and secure the
Center Stair Brace to the Stair Brace Panel Insert.

Bolt the Left & Right Stair Brace securely to the pool wall and
screw the Wall Clips to the pool wall.

k=)

)

&

©

12,

( “\(~ Nexus Stair A
System Form
Section Radius Stair
Stair Brace Center Brace
Stair Brace
Panel Insert ’
géé
Nexus Stair
System
1 2 Form
Y, Section 4
Place Stair Brace Panel Insert in the wall panel seam where Bolt the Bottom, Center and Top, Step Form Sections
the stair will be centered (FIG. 2). The Insert must be to the Radius Stair Center Brace (FIG. 3). The brace
secured in place using the Panel Brace and Peg & Wedge should be sandwiched between the two form pieces.
\system and nuts and bolts before the bond beam is poured. J\ Initially hand tighten all bolts. Y,
4 \/ Radius Stair \/ N\
Right Side Right Brace Wall
Form RadlL_ls Radius Stair Wwall B al
Extensions Stair Right \\  CenterBrace Cli i
— e Brace E Wall \'
Radius ~ J Radius o
——e \ Stair Center t Stair Left Cé \
Brace
Brace '
Wall
Form _ For Form _ Form N cli
< ~ 3 ~ {\ { p
wall NGO
~Left ~ {\ E ~Lef ~N i Clip <\ d
o o %) (NSS111) Wall
8 ~N 8 ~N Clip
® Left Side
*~—
3 4 Extzunrs:lns 5 Wall
W, W, Clip Yy
Bolt the Bottom, Center and Top, Right Side Form Bolt the Bottom, Center and Top, Left Side Form Screw a Wall Clip to the Left & Right Extensions (FIG 6)
Extensions and the Right Stair Brace to the step assembly Extensions and the Left Stair Brace to the step assembly along the upper horizontal rib (6" below the top edge of
(FIG. 4). The brace should be attached to the left side of the (FIG. 5). The brace should be attached to the left side of the form). The vertical face of the clip should be flush
\ _step form flange. Initially hand tighten all bolts. _J \_the step form flange. Initially hand tighten all bolts. _J \_with the mitered end of the Form Extension. Yy,
'd N\

Mark bolt hole for Stair Brace
(Right side shown. Repeat
| for left side of step)

ASSEMBLY

— INSTALLATION ]

s

>

Backfill should
not be above the
first cross section

support on the

step form

Backfill should remail
least 5 1/2" below the top

6" Step Footer
edge of the step form P

Clean Backfill or
Stone

~
N Z
(~ Wood or Metal reinforcement at top edge )
of riser (remove once concrete has set)
Blocking Angle at the end of
8 each riser is bent to fit (remove

once concrete has set) )

( )
<

<

(10

<

<

<

( N
Receiver

Y J




42" CUDDDLE COVE ASSEMBLY & INSTALLATION

s aYe A e A
~=
$ \\ Nexus Cove
| System Form
Section Radius Cove
| Cove Brac \ Center Brace I
Panel Insert
BN <
Nexus Cove |
| Cove Brace R System Form
Panel Insert \\ Y Section, |
L Lo | \ .
~ H |l| | <
. <\
vl s
Ny E |
1 g 2 |
J J
Place Cove Brace Panel Insert in the wall panel seam where Bolt the Cove Form Sections to the Radius Cove Center
the cove will be centered (FIG. 2). The Insert must be Brace (FIG. 3). The brace should be sandwiched between |
secured in place using the Panel Brace and Peg & Wedge the two form pieces. Initially hand tighten all bolts.
\system and nuts and bolts before the bond beam is poured,J \_ _J |
( \( \( A | Blocking Angle at the end
Right Side Radius of each riser is bent to fit
Form Cove Right (remove once concrete
Extensions Radius Brace ) | has set) )
Cove Right Radius Cove e <\
Brace |
Radius Cove
Center Brace Radius |
Cove Left
Form___Form Form Brace |
~Left ~Left | r
ol o Left Side
s 2 Form | 6" Concrete Step Footer
8 3 Extensions Z
v v w 1 | —
Bolt the Right Side Form Extensions and the Right Cove Bolt the Left Side Form Extensions and the Left Cove Brace Screw a Wall Clip to the Left & Right Extensions (FIG 6) l—
Brace to the assembly (FIG. 4). The brace should be to the assembly (FIG. 4). The brace should be attached to along the upper horizontal rib (6" below the top edge of the m
attached to the left side of the step form flange. Initially the left side of the step form flange. Initially hand tighten all form). The vertical face of the clip should be flush with the | < 9
\_hand tighten all bolts. )\ _bolts. _J \_mitered end of the Form Extension. ) E | | N <
( ) I I I
_I F — Clean Backfill or
U) | < Stone
l: — MAX. |
—— | Z L
—_ | Backiill should not be
- - Cove Form  above the first cross section
-~ | Section support on the step form
~
| | ~ O Backfill should remain at b
| O least 5 1/2" below the top
4
. . 1 edge of the step form
See Radius Cove Liner | Mag< bolt hole for\ﬁ ~N | N N <
Dimensions & Component i hovc_edBrar::e N N
Number page for correct | (Right sf' elsﬁov_\;n. | AN AN |
placement of the parts used Repeatf or left side
during form assembly of step) |
L 6 \ | | m Reinforcement
6) Tighten all bolts beginning at the Center Brace and working ) 4
outward. The face of the form should be flush with the edge | ( )
of the brace. — '-:F — * Bead Receiver
7) Push the cove assembly into place and loosely bolt the | r
Center Cove Brace to the Cove Brace Panel Insert and level
the form assembly. The top edge of the cove form should be |
20" down from the top edge of the pool wall panel.
8) Mark the location of all bolt holes (FIG 7) for the Left & Right |
Cove Brace on the face of the pool walls.
9) Unbolt the Center Cove Brace from the Cove Brace Panel
Insert, and pull the step assembly away from the wall. |
10) Drill all the bolt holes using a 1/2" dril bit. Tek screw—|
11) Push the cove assembly back into place and secure the I Wwall
Center Cove Brace to the Cove Brace Panel Insert. Support Panel
12) Bolt the Left & Right Cove Brace securely to the pool wall and Brace | Bead
L screw the Wall Clips to the pool wall. A ) L 12 Receiver
J




Installation Instructions for Nexus Open Top 42"
Straight Stairs, Radius Stairs, Corner Stairs and Cuddle Coves

Installation Instructions
After completing Assembly Instructions and Stair/Cuddle Cove Form is secured to the pool wall, check
and make sure that everything is Square and Level. Make any necessary adjustments.

1. Secure assembly in place with rebar supplied using rebar holes that are located on the
bottom riser form sections and also each stair Brace. (FIG. 6 or 7)

2. **Additional reinforcement is recommended on the face of the Riser with metal bar or lumber
(Materials not supplied.). Add blocking angle to reinforce the Riser-Wall connection (FIG. 7 or 8).
Installation of Wall Clips may be required on steps with cut corners.

3. Pour 2500 P.S.1. concrete footer around all stair braces, minimum 6" deep. Also at this time
pour footer around perimeter of pool per manufacturers instructions. (FIG. 8 or 9) Let concrete set
before starting step #4, 12 to 24 hours is recommended depending on temperature and humidity.

4. Backfill with stone or clean non expansive earth (never clay), free of roots and debris.
Backfilling should be thoroughly compacted in layers. Level of backfill should allow for the pouring
of a minimum 5 1/2" thick concrete tread. Use first cross section support on form as your guide.
(FIG. 9 or 10)

5. Set the aluminum Bead Receiver in the notch on the Support Braces and attach it to the step
riser using the supplied Tek screws.
(FIG. 10 or 11). The Bead Receiver comes in 8' sections and can be cut to size or joined with
additional pieces depending on the length needed. The top edge of the Bead Receiver will be at the
finished height of the tread and will provide an edge to screed the concrete. Cover the bead channel
with duct tape or insert liner lock (not supplied) to prevent concrete from getting into the bead
channel while trowelling.

(OPTIONAL) 6. Place Galvanized Wire Tread Reinforcement sections, or rebar, into grooves that
are preset on each brace. (FIG. 11 or 12) Wire tie together if needed.

7. Start by pouring bottom tread first and working your way up to the top tread. Float concrete
on each tread to get proper elevation. After concrete starts to setup, trowel concrete to get the
smooth finish needed on all treads.

When ordering concrete request a (Stiff) True Slump mix that is not
watered down.

* After concrete cures, time varies depending on temperature and humidity,
optional pool wall foam can be applied to steps/benchproviding a cushion and
smooth finish for the liner.

* Follow liner manufacturer's instructions for liner installation.

** Different methods such as pouring completely in concrete and any
precautions used for installation of this product are the responsibility of
the contractor who is not an agent of the manufacturer of the component
parts. Installation is to be done in accordance with all state and local
building codes as well as ANSI/APSP/ICC suggested standards.

Pour treads with 4000lb concrete mix for best finish.

Estimated concrete needed

90 Degree Corner Stair -- 1.40 yds
2' Radius Corner Stair -- 1.25 yds

Straight Stairs RADIUS STAIR
6' Stair-1.80 yds 14' Stair - 4.20 yds 6'R X 12'W Stair-1.10 yds 10'R X 16'W Stair-1.50 yds
8' Stair-2.40 yds 16' Stair - 4.80 yds 7'R X 13'W Stair-1.20 yds 4'8"R Stair for 16' Roman End - 1.10 yds
10" Stair-3.00 yds 18" Stair - 5.40 yds 8'R X 14'W Stair-1.30 yds 5'3 1/4"R Stair for 18' Roman End - 1.15 yds
12" Stair-3.60 yds 20" Stair - 6.00 yds 9'R X 15'W Stair-1.40 yds 6'R Stair for 20' Roman End - 1.25 yds
CUDDLE COVE
6' Radius Cove - .30 yds 9' Radius Cove - .45 yds
CORNER STAIR 7' Radius Cove - .35 yds 10' Radius Cove - .55 yds

8' Radius Cove - .40 yds A 5




SIDE BY SIDE BRACING

SIDE BY SIDE -
STAIR/ SUNDECK
BRACE ASSEMBLY
GUIDELINES

Use this row of holes when
using brace NSS304

— Bolt holes for 8' (total) step & sundeck
Bolt holes for 7' (total) step & sundeck

Bolt holes for 6' (total) step & sundeck

__ Use this row of holes when_
using brace NSS147

~d

.'B' o o o o

) n e

[]

72" Total Length
L. L.
142 I J72

bolted
connection

\\ I_ Bolt holes for 6' (total) step & sundeck
Bolt holes for 7' (total) step & sundeck

96" Total Length

84" Total Length
”, 1. 1. 1.
L %2 L147 [ &

bolted bolted
| connection connection

4 olte bolted ‘ 4 bolted 4
NSS147 connection NSS150 NSS147 connection NSS150 NSS147 connection NSS150
Brace Brace Brace Brace Brace Brace

72" Total

Length 84" Total Length

}
NSS304
Brace

olte
connection

bolted
connection

}
NSS150
Brace

}
NSS304
Brace

NSS150
Brace

A6




FULL END STAIR W/ VARIABLE SUNDECK STAIR BRACING

3'7" SUNDECK

N$5308

7 o o a7 a7 7 a7 a7 277 77

51" SUNDECK

7 o o a7 a7 7 a7 a7 277 77

6'7" SUNDECK

4'1" SUNDECK

57" SUNDECK

g
.|E O B vss30s
T

=i

0,

%

E ..
Ao

7'1" SUNDECK

9

96"
71"

55304 T
'| . O gss3os
o oo

@

4'7" SUNDECK

6'1" SUNDECK

6-1"

86"
'IE . O Bjvsszos
H.oo

NS55304- 2 Piece Stair Brace - Top Step
NS55305- 2 Piece Stair Brace - Bottom Step
NS55308- 36" Sundeck / Stair Brace Extension

A7




Liner Installation
Procedures

Vinyl Covered Stairs with
Liner Bead on Treads

(Will only work if Bead Receiver has been
installed with the stair treads during
assembly)

e Liner should only be installed when temperatures are 60°
F or above.

Make sure the pool structure and stairs are CLEAN and
free of any sharp materials that could puncture the liner.
Position the liner squarely in the pool. (Follow
installation guidelines in the owner's manual for details)
If you are entering the pool when positioning the liner,
NEVER wear work boots or any other footwear while on
the liner. This type of damage is NOT covered under
the limited warranty.

Upon reaching the shallow end with the liner, start at
the bottom step and work your way up. Position the
liner squarely in the stair and insert the liner bead into
the bead receiver that is installed on each stair tread.

Start at the bottom step
and insert liner bead into
the bead receiver ‘

-

Important Note: If it becomes necessary to
remove the liner bead from the bead receiver so the
liner can be reset, follow these guidelines to
prevent damaging the liner.

PUSH THE LINER MATERIAL FORWARD on the tread using a Vinyl Works Liner Stair
Bead Assistance Tool (Item - VWSBAT1 for Straight Stairs and VWSBAT2 for Radius
Stairs). This will relieve the tension on the liner bead allowing the liner material to pull
STRAIGHT UP and OUT from the bead receiver. NEVER try to just pull the liner bead from
the bead receiver without relieving the tension first. Over pulling could damage the liner.
(See guidelines on the drawing below.)

Stair
Riser

Liner
Bead
(must be

straight up to
be removed)

VWSBAT1 VWSBAT2
\_ (straight tool)  (radius tool) )

*Installation Note*
Bea_ld Tread The Bead Assistance
Receiver Tool can also be used
to help insert liner stair
tread bead into the
bead receiver.

If Bead Removal Assistance Tool is not available, you can use your hands to
push the liner material forward to relieve the tension. NEVER use tools that
could damage the liner, such as screwdrivers, scrapers or putty knives. (See

drawing for details.) s -
tair : -
Liner
Riser _ -
- ‘
~
- - -~
(1) Push liner forward to relieve ) _ e ‘

the tension on the liner bead

2 Pull bead straight up and out .
of the bead receiver track Liner
Bead
(must be
straight up to
These same installation be removed)
procedure should be Bead
used on vinyl covered Receiver
Benches, Cuddle Coves
and Sundecks.

(Continue liner installation as detailed in Owner's
Manual, Section V)

A8




Imperlal

~_ POOLSNc:

REDEFINING ONE SOURCE

33 Wade Road | Latham, NY 12110 25045PF  2/25




	1-20__2025 Matrix Stair Specbook
	21-60__2025 Matrix Stair Specbook
	61-90__2025 Matrix Stair Specbook
	91-122__2025 Matrix Stair Specbook
	A1-A9 - 2025 Matrix Stair Specbook



